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ouaUUGLE ByuuNEsueN

124,639,373.4

123,770,151.1

17,805,394.1

wyn pynLd’

1100

1. UPULP Y SNHPRGN  (nnn 1110 + wninn
1120 + winn 1130 +ann 1140+ wnn 1150 ),

wyn pynLy’

7100

38,898,843.6

38,898,843.6

wyn pynLd’

1110

1.1 Qnypwjhb hwpybp whwpd gniphg (wnnnp 1111
+ wnn 1112+wnnn1113),
wyn pynLy’

7131

13,449,309.6

13,449,309.6

wyn pynLd’

1111

Qnipwhwny hwdwbpbtnh Juwpswywb tnwpwéplbnnid
gunbynn 26GpLnh L 2hbnipyntbbGph hwdwnp

462,798.7

462,798.7

1112

<£nnh hwpy hwdw)opbbph yuwnpswywl tnwpwéplbpnid
g bynn hnnh hwdwn

116,932.8

116,932.8

1113

Lwiwjbph pjnieb dninnpwagnynn wbawnd gniyph hwny

12,869,578.1

12,869,578.1

1120

1.2 Qnpwhl hwnytp wyy gniyphg

7136

13,295,706.4

13,295,706.4

wyn pynLd’

1121

Qnjpwhwny thnfuwnpwdiheongltph hwdwn

13,295,706.4

13,295,706.4

1130

1.3 SGnwywb wninippbp (nnn 11301 + winn 11302 +
winn 11303 + winn 11304 + wninn 11305 + wnn 11306
+ wnn 11307 + winn 11308 + winn 11309 + winn
11310 + winn 11311+wnn 11312+ winn 11313 + winn
11314+wnn 11315+ winn 11316 + winn 11317+ winn
11318 + wann 11319), wyn pYnid”

7145

11,569,619.0

11,569,619.0

wyn pynLd’

11301

Lwdiwylph ywpswywb tnwpwdépned Gnp 2tGpknh,
2hGnipntbbEph L ng hhdGwywh phGnepnibGbeph
2hGwpwpnijw (nnBnwnndiw) pnuynyntpwl hwdwnp

7,953,879.3

7,953,879.3

11302

Lwiwjiph Juwnswlwb tnwpwépntd gnynigntl nLbgnn
26GpEPh L 2hGnepyntGbbph YEpwlwrenigdwl, nidbnwgiwd,
ybpwywbgbiwl, wpnhwywlwgiwb L pwpElwpgiwl
wfuwinwbpbbn Ywwnwptint pnuynynipjwl hwdwnp

54,424.0

54,424.0

11303

Lwiwyiph Juwnswywb tnwpwépntd 260pLnh, 2hGnipintbbbph
L pwnuwpwhbwlwb wy opyinbbph pwlndwl
pnyinynLpjwb hwiwnp

16,850.0

16,850.0

11304

Lwdwylph ywps. tnwnwdépntd, uwhiwOwdabpd pwpdptrl.
hwdwyGp-h Jwps. tnwpwdépnty, pwgwr. thowtw. L
hwOpwwtw. Gowlwy. wywnndnph). Swbwwwnh-h
ynntbqpnid, fuwbnip-ntd L Ypwwy-Bpnid hennty Juebihph,
ubnujwé powywb Ywd henney. Gwyp . qwg-h Jwawrph
pnLny. hwdwn

202,100.0

202,100.0
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11305

Lwiwylph ywpswywb tnwpwdépntyd, uwhdwOwdbpd b
pwndntrOwiht hwdiwytpbbnph Juwnswywb tnwpwépnid
gqunOynn dwlpwdéwfu wrbwnph Yenbpned Yud
wywnnibpbhwabph nbubhywywb uwywuwnyiwo L
Gnpnqiwl Swrwinipjwl opjtYwnbEpnLl tnkuGhywywh
henntybEph Jw&wreph pnypunynegjub hwdwn

48,469.1

48,469.1

11306

LwiwjOph Junswywb wnwnpwépntd pwlywndtp
uGwnwn(tphg wwwnpwuwnywd hpph' npnwiyh Jupnid
Jwlpwéwiu wep nt Jwiwrp hpwlwlwgbbint pnyjnyntpjwl
hwdwp

48,250.0

48,250.0

11307

Lwdiwylph ywpswywb tnwpwdépned ngbihg L wiynhnpwyht
fudhgpltiph b (Ywd) sfuwfununh wpunwnpwiph Juswreph
pnyinynLpjwb hwiwnp

585,450.0

585,450.0

11308

Ppwywpwlwywb wodwdg L whhwwn d6rGwnywuntbntnhl
hwdwjbph upswywb tnwpwdépnid «Urbuinnh b
SwrwjntpntbbEph dwuhO» <wjwuwnwbh <wbpwwbunnejwb
opblpny uwhdwlywd pwgopjw wrlunnip Yugdwytnpwtint
pnyinynLpjwb hwiwnp

154,550.0

154,550.0

11309

Lwdiwylph Jwpswlwb tnwpwdépntd webunph, hwlpwihb
ubOnh, qqwndwbph, whniiny fuwntph L yhgwywiuwnbph
Ywqguiwybpwdwb opjtYuinbEpha, fuwnwunbbphl L
pwnUhptEphl (uwntGwObBphb) dwdp 24.00-hg hbunn
wfuwwnbint pnijjnyntpjwl hwdwnp

165,341.6

165,341.6

11310

Lwdiwylph ywpswywb tnwpwdépntd hwdwbpwhl
YwanOGEpht hwiwwwunwufuwb hwbpwihG uGGnh
Juquwybpwiwb b hpwglwb pnyjundntjwb hwdwn

233,760.0

233,760.0

11312

UJwagqwlnt uwhdw(y. Ywpght nu wywydwb-ha hwd.
hwdwyGph Juwns. nwpwépnid wpwnwpht gngwgn
wnbnwnnbint pnyny. hwdwp, pwgwre. dhowtwn. nu
hwOpwwtw. Gowlwy. wywnninph). wlwwwnh-h ounnwndwb
26npwinEpnLd L wwunw. gnunh-nud inbnwin. gndwign-ph
pnuyind-ph (pwgwre. Gplwb pwnwph)

1,752,800.0

1,752,800.0

11313

Lwjwunwbh <wipwwbwnnipjwlb Junswunwnwdpwihb
uhwynnbtph funphpnwh2tnpp (qhGwbwb, waywined L
w)L ), npwtiu ontbpny gnwbgywé wuwnwbpwiha Gowa,
wwnwbpbbph wpunwnpnipjwl, wpfuwwnwbplEph
Juunwndwb, SwewjnipntGbbph dwwnnigdwl
gnnpéplpwgltnnLd ogunwgnnpétint pnyyjuiny. hwdwp

15,000.0

15,000.0

11314

Lwiwylph Jwpswlwb tnwpwdpntd duwpnuiwnwn nwpunt
(pwgwrenipjwdp Gppninwiht twpuhOtph
dhynpnwywnnpniulbiph) dwrewntpintt hpwywbwglbint
pnyinynLpjwb hwiwnp

50.0

50.0

11315

Lwiwylph ywpswywb tnwpwdépntd pwnwpwghwyw
hngthwlgquunh (hpwdtunh) Shuwywwnwnnipjwl
Swrwjntpntb06ph hpwywbwgliwl L (Ywd) dwunnigdwh
pnyinynLpjwb hwiwnp

33,000.0

33,000.0

11318

Lwiwjiph tnwpwépntl uwhdwbwhwyiwl Gopwyw
Swrwjntpjwb opjyuinh gnpénLbbnpjwl pnyywnyYnLpjwl hwiwnp

3,000.0

3,000.0

11319

Uj; winbnwywlb innippbp

302,695.0

302,695.0

1140

1.4 {wiwjbph pnigt J&wpynn whwnwywb nncppbn
(winn 1141 + winn 1142), wyn pynLd®

7146

584,208.6

584,208.6

wyn pynLd’

$nlnwyhb pjniob
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1141

Pwnuwpwghwywb Yugntpjwb wywnbn gnwdgtint, npwbg
Gwuhb pwnwpwghltnphG Ynyawyh Jyuwywywoatn,
pwnwpwghwlwl Yugnipjwl wywnbpnid juwnwnywsé
gnpweniibbnnLd thnthnfunieyntGbtn, (pugnibtn, nunnnudben
Jwunwntint L yepwywbghiwb uwwygntpjwdp
JYywywywaabn vnwint hwdwn

100,000.0

100,000.0

1142

Ununwpuwpwywb gnwubyuybtph Ynndhg Gnuinwpwywl
SwrwjnLpntb06p Ywwnwntint, Gnuinwpwywb Yuwpgny
Juytipwgdws thwuwnwenptph Unybophbwytn nwnt,
O24wé dwndhGObph Yynndhg gnpédwppltnh Gwfuwgstn L
nhintdbbp uqgdbnt, thwuwnwpene. ywwdko. hwabint b
nnpwighg pwnywdép. tnwint hwdwnp

484,208.6

484,208.6

1200

2. MUSsSNuUyUL NruUusLNNPLLEN

(winn 1210 + winn 1220 + wnn 1230 + wninn 1240 +
winn 1250 + wnn 1260), wjn
pynLl’

7300

15,825,186.7

14,970,964.4

854,222.3

wyn pynd’

1240

2.4 Yuwhwunw| wpunwphl ywunnGwywb
npwiw0nphObp® unwgywé dhowqgquyihl
Juqiwybpwnipyniblkphg

7322

454,222.3

454,222.3

wyn pynLd’

1241

Lwdwylph pneob dntuinpwagnpynn winunwpht wwnnbwywo
nnpwdw0nphbbp” uinwgywdé showqquihl
JuaquwybpwnipyntGbtphg Yuwwhwnwi dwiuubph
$hlwluwynpiwb Guwwnwyny

454,222.3

454,222.3

1250

2.5 LGpwghy GGpphG wwunnGwywh
npwiwy0nphObp’ unwgywd Jurwywndw wy
Jwywpnwybtphg (wninn 1251 + winn 1252 + wninn
1255 + wnn 1256) ,

nphg’

7331

14,970,964.4

14,970,964.4

wyn pynLd’

1251

MGunwlw pintethg $hbwbuwywl hwiwhwnpebgiwb
ulygpnibpny tnnpwdwnnynn nnunwghwlbp

8,436,821.9

8,436,821.9

1252

MGnwywb pnobihg tnpwdwnpynn wyp nnuinwghwObn (knnn
1253 + winn 1254)  wyn pynLd’

5,700,000.0

5,700,000.0

wyn pynLd’

1254

W) nnuinwghwbn

5,700,000.0

5,700,000.0

1255

MGnwywb pntothg tnnpwdwnpynn Gwywwnwyuwh
hwunyuwgniibtin (untpytbghwtn)

834,142.5

834,142.5

1260

2.6 Ywwhwwy GEpphb ywwnGwyw
npwiwy0nphObp’ unwgywd Jurwywndw wy
Jwywpnwybtphg (wnn 1261 + ninn 1262),
wyn pynLy’

7332

400,000.0

400,000.0

wyn pynLd’

1261

MGnwywo pniobihg Ywwhuinwi swiuubph $howbuwynndwb
Owwunwywiht hwwnywgniibbn (unipytlghwtn)

400,000.0

400,000.0

1300

3. U3L byuuntsuer (wnn
1310 + wnn 1320 + nnn, 1330 + innn 1340 + winn
1350 + wnn 1360 + wnnn 1370 + winnn 1380 + winn
1390), wyn

pynLl’

7400

69,915,343.1

69,900,343.1

16,951,171.8

wyn pynLd’
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1320

3.2 Gwhwpwdhalbn, wyjn.
pynLl’

7412

135,405.9

135,405.9

wyn pynLd’

1321

Pwdtbwnhpwywh pbytpnLentbbEpnLd hwdwGph
Jwulbwygntpjwb nhiwg hwdwjGph pintob Yuwnwpynn
JwuhwOnuibbp (whwpwdhblbn)

135,405.9

135,405.9

1330

3.3 Gnyph qunédwywinipjniihg Gjwdninbbp (wnnn
1331 + wnn 1332 + wnn 1333 + wnn 1334), wjn

pynLl’

7415

2,192,433.1

2,192,433.1

wyn pynLd’

1331

Lwiwbph ubthwywbnipntt hwdwnynn hnnbph
JwpdwyAwnlbp

1,732,571.1

1,732,571.1

1333

<wiwyOph Junswywb wnwnpwépntd gunbynn weunnegjwb b
hwdwjbph ubthwywbntpjwlp ywwnywbnn hnnwdwubph
Yuwrenigwwwwniwd hpwyniGph nhiwg qubéynn
JwpdwyAwnlbp

137,662.0

137,662.0

1334

W gnyph upéwlwintpintbhg dniinpkp

322,200.0

322,200.0

1340

3.4 Lwiwjbph pnebh GYwaninGbp wwpwbpotph
Gwwnwywpwpniihg L SwewnipjntGabph
dwuwnigniihg (wnnn 1341 + wnnn 1342+ winn 1343),

wyn pyYnLy’

7421

47,299,851.6

47,299,851.6

wyn pynLd’

1342

MGuinntpjwb Ynndhg innbnwywb hoplwywrwywndwb
Jwpuhb06nph0 ywwnyhpwydwé |hwgnpneentbbtph
hpwywbwgiwb swiuutph $howbuwynpiwl hwdwnp
wtwnwywb pnipbihg uinwgynn shonglbp

47,299,851.6

47,299,851.6

1350

3.5 dwpswywl quGdniitbp (nninn 1351 + winn
1352+uwnn 1353),

wyn pynLy’

7422

18,790,182.5

18,790,182.5

wyn pynLd’

1351

Stnwywb y&wnokn
(wnnn13501+unn13502+wnnn 13503+wnn 13504+unn 13505+
, wyn pynud’

18,190,182.5

18,190,182.5

wyn pynLd’

13502

Awpwunwn. Owiuwgs. hwunwenp-ny Gwfu.” 2hGwn. pnyjjund.
wwhw9., pninp 2h0wpwp. wfuwnwbp-0 hpwywh. hbuinn
260p-h L 2hGnLp-tiph (wn pUnLd” npwg Jtnpwywe-p,
Ytpwlywbgl-p, nidtin-p, wpnhwy-p, panpuwt-6 ni pwnptywng-
p) wrenig. wjwnunp wyjwpu. wywnny thwunwgp.
dlwytpw. hwdwn

95,000.0

95,000.0

13503

Swnunuwnpwwbunwhbwpwpwywb Gwfuwgdwihb
thwuwnwpenpbnny twuwwnbuwd wuwnwbpltnl
wywnubnig htuinn whwgnpédwh pnyyunyntpjwb
ALlwybpwiwl hwdwnp

50,000.0

50,000.0

13504

Lwiwjbph nbophbntpjwb L ogunwgnndiwb tnwy gunGynn,
hnntpp hwunywgltnt, hbwn 4epgbtint L yupédwywinipjwb
wnpwiwnpbint nGwpbpnid wihpwdbwun thwuwnwpenptnh
(bhwpbph) Gwuwwwunpwundwb hwdwn

13,650.0

13,650.0

13505

<wdwybph Ynnahg Ywgdwybpwdnn dngnypibinh L
w&nLpnbbph dwubwygnipjwb hwdwn

700.0

700.0

$nlnwyhb pjniob
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13507

Lwiwjbph Ynnihg wnpwhwlnipjwb y&wn yswnnnbtnh
hwdwn wnpwhwbntpjwh wpfuwunwbptbnp Yuwgqliwybnwbint
hwdwp

4,189,339.6

4,189,339.6

13508

Lwdwyltph ynnihg hpwywpwlwywl wodwig Yuwd wihwwn
abrOwnpyuwwnbntphl 2hOwnpwpwyw L funanp Ggpwswithh
wnpeh hwywpdwb L thnfuwnpdw, hGswtu Gwb
wnpwhwbntpjwb y&wn yswnnnbtnpht 2hbwpwpwywl b
funynp Gapwswihh wnpeh hGpGnipntyt hwywpdwb L
thnfuwnpiwb pnypunynepjwb hwdwn

1,000.0

1,000.0

13513

Lwiw)bpwihb Gopwywntpywl dwaywwwnuinbgh
SwrwjnLpjntbhg ogunynnbtph hwdwnp

50,000.0

50,000.0

13514

LwiwOpwihb Bopwywjnipwl wnunwnwnngwywo
nwuwmhwpwyntpjwl hwunwwnnipntbGeph (Gpwdunwywa,
OYwpswyw L wpgbuwnh nunpngbtp L wy ()
SwrwjnLpntbbEphg ogunynnbtph hwdwnp

622,558.0

622,558.0

13516

Lwiw)bpwihb uGthwywbnipyntt hwinhuwgnn wwwnintpjwb b
dwynyph wbwnd hnipwndwbbsph W hwdw)Gpwhl
Gopwywjnipjwb pwlqwnwbatnh dniinph hwdwn

45,500.0

45,500.0

13517

Lwiwybp. ubth. hwbn-nn pnhwGnip ogunwignné. thnnng-ntd L
hpwwwnwy-ntd (pwg. pwywht twpwép-h, nwuntdl., Yne.,
dwyntp. L wrnng. hwuwnww-tph, wiwn. Yurwywpiwb b
wnbn. hopbwywr. dwndh-h Jwps. 260p-h hwpwyhg
wnwnwép-h) wywnup. dhongl wywnnyuwjwbwwn. Yuywbkint
hwdwp

1,360,000.0

1,360,000.0

13518

{wiwbph wpfuhyhg thwunwpenpbnh wwwnskaatn
npwdwnpbnt hwdwn

1,779.7

1,779.7

13519

<wiwyOplb uwwuwnynn whwubwpenydh dwrwjnipnLtbUEnh
nhdwg

1,000.0

1,000.0

13520

Uj; winbnwywb y&wnokn

11,759,655.2

11,759,655.2

1352

Lwdiwylph ywpswywb tnwpwdépntd hpbwywd Ywenigwé
26GpEPh, 2hGnLpynLbGEph ophbwlwlwgdwb hwdwn y&wnbkn

600,000.0

600,000.0

1360

3.6 Unitwnptip nniydtinhg, wnniquplbphg
1361 + wnn 1362) wyn pynLd’

(wnn

7431

582,900.0

582,900.0

wyn pynLd’

1361

Ywnswywl hpwywfuwiuunnidbtph hwdwp inbnuywb
hOplwywrwywndwb dwpihabtph Ynnihg
wwwnwufuwbwwnynipjwb dhongbtnh Yhpwreniihg
GUwdntuinObn

569,900.0

569,900.0

1362

Untuinptbp hwdwybph pneobih GYuindwdp unwbdwsd
wwjdwbwagnwiht wwpunwynnpnipjntbbbph sywunwndwb
nhdwg qubdadynn wnniydbphg

13,000.0

13,000.0

1370

3.7 LOpwghy ns wwwuinbwywb npwdw20nphGbp
(winn 1371 + wnn 1372), wjn
pynLl’

7441

4,550.0

4,550.0

wyn pynLd’

1372

bhqg. wiéd. L yuqgdwybpw. Gyhpwpetn. hwiwGphl, yepohGhu
Gopwyw pintoinuihG hhib. wbonphGdwbb wagwé gniyph
(hhub.dhong Ywd ng Ojnie. wywinhy shwnhu.) hpwgniihg L
npwiwywb shonglbphg pOp. dwiuutph $hGwbu. hwdwn
hwdwyGph pjnteb utnwg. dniinpbin’ tpwdwnp. GGpphl wnp.

4,550.0

4,550.0




= - wyn pynd’
- -g = LOnwako
Glwa b [1]s3
'g Yuudinuuntuwltsng Ei = Lot Jwpswywl pnet | $nlnuyhl pyniot
@ T
1 2 3 4 5 6

1390 |3.9 Uy GYwdnLinbtn (wninn 1391 + winn 7451 910,020.0 895,020.0 16,951,171.8
1392 + wnn 1393), wyn pynLd’
wyn pynLd’

1391 | <wdwjbph gniphl wwwndwrwé Yowultph 15,000.0 - 15,000.0
thnfuhwunnigniihg dntuinpbp

1392 | Ywpnswywl pyniotih wwhniuwnwhb $nlnhg $nlnuwhb pniek - - 16,936,171.8
Ywuwnwnynn hwunlwgniibtphg dninpbn

1393 |OptOpny L hpwywywb wy wynbpny uwhdwbaywé® 895,020.0 895,020.0 -

hwdwjbph pjntoth dntinpwgniwl Gopwyw wy GYwaninbbn
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GNEYULN 2024 BYULUULP A3NFRGH JUNMUUUL B4 SNLAUSHL UUUGNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuUL AUUUY“UNQUUL

(hwquwp npwailtipny)

S| a wyn pynd’
%Z % = Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiwb Qlnwokap
@ = CEL E cﬂ_ pwdhGOtnh, fudptinh L nwutinh woqwonidbpp Junswywb pniet | $nlnwiha pintek
1 2 3|4 5 6 7 8
ouLAUUGLLE SUlueP 124,917,826.1 123,770,151.1 18,083,846.8
2100 | 01|00 puaLuLNE, ALUNE3BH LULNMU3PL 12,013,721.3 11,202,544.1 811,177.2
ounusnt@3nruutnr

wyn pynLd’

2110 | 01 | 1 | O |Op&lunhp L gnpdwnhp JwpohGabp, whwnwlwi 11,131,490.8 10,974,261.1 157,229.7
Yupwywpnid, phlwbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111 | 01 | 1 | 1 |OpbOunhp L gnpdwnhp dwpdhaGbn, wewnwywo 11,117,490.8 10,960,261.1 157,229.7
Ywrwduwnnid

2113 | 01 | 1 | 3 |Upwnwphl hwpwpetpnieyntGbtn 14,000.0 14,000.0 -

2130 | 01 | 3 | O |Lanhwlnip plGniyph SwerwynipintGlGGn 33,983.0 33,983.0 -
nphg’

2131 | 01 | 3 | 1 |Uz2fuwwnwywqih /yunpbph/ génd pGnhwlnip pnyeh 33,983.0 33,983.0 -
SwrwjnLpnLbbEn

2150 | 01 | 5 | O |Lanhwlnip plGniyph hwipuyhl dwewynipintGGEpH 663,947.5 10,000.0 653,947.5
qény hbwnwgnunwwa L Gufuwqgduyhl
wpfuwnwliplbn
nphg’

2151 | 01 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnipjntbbEph gény 663,947.5 10,000.0 653,947.5
hGwnwgnunwywl L Gwuwgswih0 wpluwwnwOplbn

2160 | 01 | 6 | O |Lanhwlnip plGnyph hwlpuyghl Sweuynipint GGG 184,300.0 184,300.0 -
(wyy nwubpht swyunluitnn)
nphg’

2161 | 01 | 6 | 1 |CGnhwGnip pOnyph hwOpwihb dwrwjnipnLGOGN (wy) 184,300.0 184,300.0 -
nuwubphb swywunywbnn)

22000200 mucsSaULNHE3NEL 70,610.0 30,310.0 40,300.0
wyn pynLd’

2220 | 02 | 2 | O |RPwnuwpuwghwluwl wwywnwwbnipintG 50,400.0 10,100.0 40,300.0
nphg’

2221 | 02 | 2 | 1 |Pwnwpwghwywl wwunwwbnigntl 50,400.0 10,100.0 40,300.0

2250 | 02 | 5 | O |Nuwpwwuwlbnipnt G (wyy nuubphl swwuwnlwGnn) 20,210.0 20,210.0 -

nphg’




wyn pynd’

? - % -%" g Pntobuinuwhb dwiuutph gnpéwrwywl nwuwywngiwb 0Nk
@ = CEL E = pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswyw pniet | $nlnwiha pintek
1 2 3|4 5 6 7 8

2251 | 02 | 5 | 1 |Mwaunwwntpntb (wy nwubphl sywwnywbnn) 20,210.0 20,210.0 -

2400 |04 |0 | O SuStGuUuyuuL <UruesMrnt@3NtLLEN 30,480,352.2 23,629,204.8 6,851,147.4
wyn pynd’

2410 | 04 | 1 | O |LaGnhwlnip pGnyph wnGnbuwlwl, werbunpughl b 30,000.0 30,000.0 -
wpfuwnwlph gény hwpwpbpnipiniGGen
nphg’

2411 | 04 | 1 | 1 |CGnhwOntp pGnyph nGunbuwywb L weluinpwihG 30,000.0 30,000.0 -
hwpwptpnienLGbbn

2420 | 04 | 2 | O |QYnuquuwnbwnbunipnt G, whunweuyhl 64,400.0 - 64,400.0
wnbwnbGunipinil, dyGnpunipynia L npunpnnipintG
nphg’

2424 | 04 | 2 | 4 |NpengnLy 64,400.0 - 64,400.0

2430 | 04 | 3 | O |Ywnrbihp L taGpgbnplyw 1,773,110.3 75,332.4 1,697,777.9
nphg’

2435 | 04 | 3 | 5 |bGYinpwtabpghw 1,773,110.3 75,332.4 1,697,777.9

2450 | 04 | 5 | 0 | Spwluwnpuwn 33,241,032.3 21,633,056.2 11,607,976.1
nphg’

2451 | 04 | 5 | 1 |BwlwwwphwhO npwbuwnpun 22,682,131.4 12,133,335.3 10,548,796.1

2455 | 04 | 5| 5 [lunnnywywwnuwihb L wy; tnpwbuwnpun 10,558,900.9 9,499,720.9 1,059,180.0

2470 | 04 | 7 | O | Uy phwquywrllp 246,500.0 103,500.0 143,000.0
nphg’

2473 | 04 | 7 | 3 |2pnuwppontpintl 246,500.0 103,500.0 143,000.0

2490 | 04 | 9 | 0 | SGwnbuwwl hwpwpbpnipim0G6n (wy nwubpha (4,874,690.4) 1,787,316.2 (6,662,006.6)
swunnljwilinig)
nphg’

2491 | 04 | 9 | 1 |SGnBuwywh hwpwpnnignLGGep (wy) nwubphG (4,874,690.4) 1,787,316.2 (6,662,006.6)
swwinywlnn)

2500 |05 |0 |0 GCrRUyYU Uhaudusrh aucsaULNHB3NFL 10,928,762.8 9,070,717 1 1,858,045.7
wyn pynLd’

2510 | 05 | 1 | O |Unpwhwlnid 5,351,019.9 5,305,044.9 45,975.0
nphg’

2511 | 05 | 1| 1 |Unpwhw0nLd 5,351,019.9 5,305,044.9 45,975.0

2520 | 05 | 2 | 0 | Yanuwgnpbph hGrwgnid 1,823,070.7 11,000.0 1,812,070.7
nphg’

2521 | 05 | 2 | 1 |Ubnuwenbph hbrwgnid 1,823,070.7 11,000.0 1,812,070.7

2530 | 05 | 3 | 0 |Cpowlw Bhowduyph wnunnundwl nbd wwypwn 52,983.0 52,983.0 -

nphg’




wyn pynd’

= - % -%L = Pntobuinuwhb dwiuutph gnpéwrwywl nwuwywngiwb 0Nk
@ = CEL E cﬂ_ pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswyw pniet | $nlnwiha pintek
1 2 3|4 5 6 7 8

2531 | 05 | 3 | 1 |Onh wnuinnniwl nGS wwypwnp 52,983.0 52,983.0 -

2560 | 05 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 3,701,689.2 3,701,689.2 -
nwubphl swuwnluwbnn)
nphg’

2561 | 05 | 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy| nwubph 3,701,689.2 3,701,689.2 -
swwuinywlnn)

2600 | 06 |0 | O pLUYUNrULUSHU Chuururnk@3nku 64 8,845,644.0 3,756,245.8 5,089,398.2

ynunkFLUul SunusntE3NtuLEN

wjn pyntd’

2610 | 06 | 1 | 0 |PGwlwpwluyhl ;hGwpwpnipini 942,665.8 442,665.8 500,000.0
nphg’

2611 | 06 | 1 | 1 |ROwywpwOwihb 2hGwpwpneentb 942,665.8 442,665.8 500,000.0

2640 | 06 | 4 | O |@nnngltph (ntuwydnpnd 2,136,695.1 2,124,383.1 12,312.0
nphg’

2641 | 06 | 4 | 1 |®nnngltph (nLuwynpnid 2,136,695.1 2,124,383.1 12,312.0

2650 | 06 | 5 | 0 |PUwlwpwluyhl hGwpwpnipywl b YndniGuy 20,000.0 - 20,000.0
SwreuyntpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nphg’

2651 | 06 | 5 | 1 |ROwywnwlwihb 2hbwpwpnipjwb L Yyndntbuyg 20,000.0 - 20,000.0
SwrwjnLpjntbbEph gény hbunnwgnunwywb L Gwjuwgswihb
wfuwunwbpltn

2660 | 06 | 6 | 0 |PUwlwpwluyhl hGwpwpnipywl b YndniGuy 5,746,283.1 1,189,196.9 4,557,086.2
SweuynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661 | 06 | 6 | 1 |ROwywnwlbwihb 2hbwpwpnipywb L Yndntbuwyg 5,746,283.1 1,189,196.9 4,557,086.2
SwrwjnipntbO6n (wy| nwubphl sywwnywbnn)

2700 | 07 |0 | O unnnumusnk@E3ntu 343,688.0 99,340.0 244,348.0
wyn pynLd’

2710 | 07 | 1 | 0 | Adoywwl wypwlpabn, uwppbp L 204,180.0 - 204,180.0
vwppwynpnidabn
nphg’

2711 | 07 | 1 | 1 |YGnwgnpéwywl wwpwbplbn 204,180.0 - 204,180.0

2760 | 07 | 6 | O |Urnnowwwhnipynib (wy nwubphl swuwnlwlnn) 139,508.0 99,340.0 40,168.0
nphg’

2761 | 07 | 6 | 1 |Upnnowwwhwywb hwpwyhg SwrewjnipntGbtn L spwagnkp 139,508.0 99,340.0 40,168.0

2800 | 08 0|0 <Uuahus, utuuntsm@ 64 urnu 9,269,390.8 7,667,565.8 1,601,825.0
wyn pynLd’

2810 | 08 | 1 | 0 |<wlquwnh L uwynpwnh SwerwynipinGGGn 3,895,520.2 2,633,695.2 1,261,825.0

nphg’




wyn pynd’

? - % -%" g Pntobuinuwhb dwiuutph gnpéwrwywl nwuwywngiwb 0Nk
@ = CEL E = pwdhblbnh, fudptph L nwutiph waywbnabbpp Jwnswlwl pynigt | $nlnwyhl pynigk
1 213|4 5 6 7 8
2811 | 08 | 1 | 1 |[<wlOquunh L uynpunh SwrwjntpnLbGep 3,895,520.2 2,633,695.2 1,261,825.0
2820 | 08 | 2 | O |Vpwynipuyhl dwrwynipiniGaGEn 5,353,281.6 5,013,281.6 340,000.0
nphg’
2821 | 08 | 2 | 1 |Qpwnwnwadtn 706,063.3 666,063.3 40,000.0
2822 | 08 | 2 | 2 |Bwlhgqwpw(Gbn L gniguwupwhObn 360,301.0 360,301.0 -
2823 | 08 | 2 | 3 |Uwyniph inbkn, wynidpbtn, YebwnpnbGenp 535,801.6 535,801.6 -
2824 | 08 | 2 | 4 |Uy vwynipwihb YuqiwybpwnipyniGbtn 2,816,620.1 2,816,620.1 -
2825 | 08 | 2 | 5 |Updbuwn 914,495.6 614,495.6 300,000.0
2827 | 08 | 2 | 7 |<nipwpdwbGEnh L dwynipwihb wndtplbph 20,000.0 20,000.0 -
ybpwlwbglnid L wwhwwnid
2840 | 08 | 4 | 0 |Ypnbwlwl L hwuwpwluwlwl wy 20,589.0 20,589.0 -
SwewyntpynLGGEN
nphg’
2841 | 08 | 4 | 1 |Ephnwuwnnwywl 6pwankn 3,000.0 3,000.0 -
2843 | 08 | 4 | 3 |UpnGwywl L hwuwnpwywywb wy Swewnipyntbabn 17,589.0 17,589.0 -
2900 |09 |0 |0 ureNHE3NtL 42,205,960.5 41,812,105.2 393,855.3
wyn pynLd’
2910 | 09 | 1 | O | bwfuwnwpnguwlwl L tnwppwlwa pGnhwGnip 26,064,395.3 25,914,395.3 160,000.0
Uppnipyntl
nphg’
2911 | 09 | 1 | 1 |Lwuwnwpngwywl Ynppneentd 18,301,923.3 18,151,923.3 150,000.0
2912 | 09 | 1| 2 |Swppwywb pGnhwbnip Yppnipntl 7,762,472.0 7,762,472.0 -
2920 | 09 | 2 | O |Uhglwlwng pGnhwlnp Yppnipina 10,226,675.2 10,226,675.2 -
nphg’
2921 | 09 | 2 | 1 |<hdGwywl phnhwbnip Ypeneejnt 9,927,183.0 9,927,183.0 -
2922 | 09 | 2 | 2 |UhoGwywng (iphd) pOGnhwGnip Yppnipintl 299,492.2 299,492.2 -
2950 | 09 | 5 | 0 |Luwn dwlwpnuwlGGph snwuwlwpgynn Yppnipint 5,054,272.6 4,956,403.6 97,869.0
nphg’
2951 | 09 | 5 | 1 |Upunnwnwpngwywl nwuunhwpwyntpntl 5,054,272.6 4,956,403.6 97,869.0
2960 | 09 | 6 | O |Uppnipwlp wpwdwnpynn odwlnwy 860,617.4 714,631.1 145,986.3
SweuynLpynLGGEN
nphg’
2961 | 09 | 6 | 1 |YUppnipjwlp npwiwnnynn odwlnwy SwrwjnipntbGbbn 860,617.4 714,631.1 145,986.3
3000|1000 unshuLuuwuuv MucsaULNta@3NtL 2,211,240.6 2,117,490.6 93,750.0
wyn pynLd’
3030 | 10 | 3 | 0 |<wpwquwnhl Ynpgpwc whéhlp 156,769.0 15,769.0 -

nphg’
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wyn pynd’

= - % -%L = Pntobuinuwhb dwiuutph gnpéwrwywl nwuwywngiwb 0Nk

=

@ = CEL E cﬂ_ pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswyw pniet | $nlnwiha pintek

1 2 3|4 5 6 7 8

3031 | 10 | 3 | 1 |[<wpwqwuhb Ynpgnwéd wbdhbp 15,769.0 15,769.0 -

3040 | 10 | 4 | 0 | LOwnwGhph wanwdilbn L quywlylbn 50,209.6 45,899.6 4,310.0
nphg’

3041 | 10 | 4 | 1 |COwnwOhph winwabtbn L quywylbn 50,209.6 45,899.6 4,310.0

3070 | 10 | 7 | O |Unghwjwlwl huwannty wpuinnbGnipiniGGE (wyy 382,750.0 293,310.0 89,440.0
nwubphl swuwnluwbnn)
nphg’

3071 | 10 | 7 | 1 |Unghwiwywl hwuwnnty wpunnGnigyntbGep (wy) nwubphG 382,750.0 293,310.0 89,440.0
swwuinywlnn)

3090 | 10 | 9 | O |Unghwjwluwl wuwpwnwwGnipimb (wy nwubnhla 1,762,512.0 1,762,512.0 -
swunnljwilinig)
nphg’

3092 | 10 | 9 | 2 |Unghwjwywl wwpwnwwbntpjwlp tnpwdwnnynn odwlnwy 1,762,512.0 1,762,512.0 -
SwrwjnLpntb06n (wj nwubphb swwunlwlnn)

3100 |11 /0|0 <hULuUuuuL pPUahLLENPL 297UUUYNN 8,548,455.9 24,384,627.7 1,100,000.0

nu<nkUsSU3hL dnuacrP

wyn pynLd’

3110 | 11 | 1 | 0 | << qurewdwpmpywl b hwduyGplbph 8,548,455.9 24,384,627.7 1,100,000.0
wwhniuwnuyhl pnhn
nphg’

3112 | 11 | 1| 2 |{< hwidwyOptbph wwhniuwnwhG $nln 8,548,455.9 24,384,627.7 1,100,000.0
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{wyblyws 3

Gnlwl pwnwph wywquOnt

2023 pywlywbh neYwntiptnh 26 -h

N 48 -U npndwl

GNEYULN 2024 BYULUULP A3NFRGH JUMUUUL B4 SNLAUSHL UUUGENhS LUSuusntuLENe US A3NFRESUSNL DuluutMrh
sustuuahsuyUuL tuvUL“UNauUuL

(hwquwn npwdltipny)

= = Pntobuinuwhb dwiuutph wnbunbuwghunwywb NN DOnwakap wyry pyntd
LFJ = nwuwywnpgiwb hnnwébbnh wadwbnidbbnp Jupswyw pniet | pnnugh pniok
1 2 3 4 5 6

4000 |0OULAUUGLL DUlUGP 124,917,826.1 123,770,151.1 18,083,846.8
wyn pynd’

4050 |U. oLBUSHY TUlUUGH X 107,933,979.3 123,770,151.1 1,100,000.0
wyn pynLd’

4100 |1.1 UCluUSULLh YUr2uUsSQrNk@3NkL X 11,769,672.1 11,769,672.1 -
wyn pynLd’

4110 | 2°UUNY daurdni uchvusudurer 64 X 11,769,672.1 11,769,672.1 -
udeLudauruver
nnphg’

4111 | - UluwunnnGbph wfuwwnwywpdbn L hwybwyswplbn 4111 11,214,154.8 11,214,154.8 -

4112 | - Mwpglwwnpnidbbn, npwiwywb fjupwfuniuntdGbp bW hwunney 4112 555,517.3 555,517.3 -
J&wnbbp

4200 |1.2TUNU3NHE3NFLLGNh G4 UMPULRLENh X 12,630,278.7 12,630,278.7 -
QBNLAGMPNIU
wyn pynLd’

4210 | curnruuwuuwuv oulvuer X 2,419,502.0 2,419,502.0 -
nnphg’

4212 |- tUbpgbwinhy SwewjnientGObn 4212 409,774 .1 409,774 .1 -

4213 |- Unintbw| SwrwjnipntbGbp 4213 440,484.3 440,484.3 -

4214 |- Ywwh SwrwjnipntGObn 4214 368,169.6 368,169.6 -

4215 |- UywhnJwgpwlwb dwfuubn 4215 1,125,734.0 1,125,734.0 -

4216 |- Qnuyph L uwppwynpniibbph Jupdwywynipntb 4216 75,340.0 75,340.0 -

4220 | QNNPONFINFULEN P B4 ¢rRUQU3NHI3NFLLENP X 60,100.0 60,100.0 -
ouruenN
nnphg’

4221 |- Ubknphl gnpéninnidbtn 4221 1,100.0 1,100.0 -

4222 | - UpinnwuwhdwOjwb gnpdninnuilbph gény dwituubn 4222 59,000.0 59,000.0 -

4230 | qMU3UULUGNU3LU U3L OUNU3NHB3NFLULENh 26N X 2,945,248.3 2,945,248.3 -
LGPV
nphg’
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wyn pynd’

= Pntobinuhb dwiuutph wnbunbuwghunwywb
o= NN LOnwako
LFJ = nwuwywnpgiwb hnnywébbnh wadwbnidbbpp D Jupswyw pniet | pnlnughl pniok
1 2 3 4 5 6
4231 |- dwpswywl swrwjnipjntbbtn 4231 14,020.0 14,020.0
4232 |- <wiwywpgswihb swrwynipjntbbbn 4232 82,634.0 82,634.0
4233 | - Uzjuwunwywqih dwubwghinwywl qungugdiwb 4233 31,000.0 31,000.0
SwrwjnLpnLbbEn
4234 | - Skntywwnywywb swrwnipntbabn 4234 51,230.0 51,230.0
4235 |- Ywrwywpswywb swrwjnipjntbbbn 4235 70,000.0 70,000.0
4237 |- Ubpywywgnigswywl dwiuutkin 4237 62,413.5 62,413.5
4238 |- LOnhwGnip panuyph wy SwewntpntGGen 4239 2,633,950.8 2,633,950.8
4240 | U3l vuuuuahsuauv ounu3snte3ntuuerh 26NL X 123,705.1 123,705.1
RGPV
nphg’
4241 | - Uwulbwghunwywl Swrwjnipntbbtn 4241 123,705.1 123,705.1
4250 | LULBUSHY LNNrNANtU GU MULSTUUNIY (GwruwynipintGGbn X 4,821,480.4 4,821,480.4
L Gynupln)
nphg’
4251 |- CkOpbph L Ywrnyglbbph pbpwghy Gnpngnid L wywhwwbned 4251 4,312,551.3 4,312,551.3
4252 |- UbptOwObnh L uwppwynpniilGbph pbpwghy Gnpngnid L 4252 508,929.1 508,929.1
wwhwwntd
4260 | L3NHBEN X 2,260,242.9 2,260,242.9
nphg’
4261 |- Qpuubluyuwihb Oneetn L hwgniuwn 4261 89,421.5 89,421.5
4264 | - Spwluwnpuwh Gynipbp 4264 1,431,349.9 1,431,349.9
4267 |- UtOgwnwhG L hwbpwihG uGGnh Gniebp 4267 156,289.6 156,289.6
4268 |- <wunnty Gwywwnwywhl wy Ginuebn 4269 583,181.9 583,181.9
4300 |1.3 sSnynuudaurvenN X 75,332.4 75,332.4
wyn pynLd’
4320 | UNPSUrPU Snunuudauruver X 75,3324 75,3324
nphg’
4322 |- Upunwpht Jwpytph gény innnynuwydswnbtp 4422 75,332.4 75,332.4
4400 |1.4 UNtRUhNNHULGN X 48,735,580.9 48,735,580.9
wyn pynLd’
4410 | UNFRUPIPULEN NESULUL (KUUUSURUSHU) X 48,619,070.9 48,619,070.9
wuauuueNrINHB3NFLLENrPL
nphg’
4411 | - UntpuhnhwObp ng Showluwywt wbunwywb (hwdwypwih) 4511 48,619,070.9 48,619,070.9
Juaquwybpwnipyntbtphl
4420 | UNFRULIPULEN N2 ME6SULUL (N2 <UUU3LRUSHL) X 116,510.0 116,510.0
wuauuuerINtHE3NFLLENrPL
nphg’
4421 |- UntpuhnhwObp ng wGwwywb (ng hwdwyGpwyhb) ng 4521 116,510.0 116,510.0

$hlwbuwywb Yugtwytnpwnipntbbbph
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wyn pynd’

= Pntobinuhb dwiuutph wnbunbuwghunwywb
o= NN LOnwako
LFJ = nwuwywnpgiwb hnnywébbnh wadwbnidbbpp D Jupswyw pniet | pnlnughl pniok
1 2 3 4 5 6
4500 |1.5 npuUucunPrL{Len X 769,151.4 769,151.4 -
wyn pynLd’
4530 | LURUSHY NINPUUUCLNNLLEN NESULUL <USYUDH U3L X 229,151.4 229,151.4 -
vuwuriuuuverhru
nphg’
4531 |- LOpwghy npwiwpbnphObp wEwnwywb L hwdwjbpbeph ns 4637 15,459.2 15,459.2 -
wrbwnpwiht YugiwybnwnipntGGepha
4532 |- LOpwghy npwiwp0nphGEp wEunwlwl b hwdw)Gpwihl 4638 58,050.2 58,050.2 -
wrbwnpwiht YugiwybnwnipntGbGepha
4533 |- U) pbpwghy npwdwbnphbtbn 4639 155,642.0 155,642.0 -
4540 | UTPSUL IPUUUCLNNLLEN NESULUL <USYUDh U3L X 540,000.0 540,000.0 -
vuwuriuyuverhru
nphg’
4543 |- U); ywwhwnw npwdw0nphbbn 4657 540,000.0 540,000.0 -
4600 |1.6 UNShULU4UUL ULAUUSULEN G4 X 2,876,261.2 2,876,261.2 -
ysuuuNTUYLLGN
wyn pynLd’
4630 | UNsShULULUL OQUNHZ3UU 1ruuuawuy X 2,876,261.2 2,876,261.2 -
ursu<ussnHa3uUr L MUUSLEN L3NFREPS)
nphg’
4632 |- Uppwywl, vwynipwihb L uwnpuwiht Gwwuwnbbn pnLethg 4727 40,000.0 40,000.0 -
4634 | - Uj Guwuwnlbin pjnobihg 4729 2,836,261.2 2,836,261.2 -
4700 |1.7 U3L SunUGP X 31,077,702.6 46,913,874.4 1,100,000.0
wyn pynLd’
4710 | LYPNPUSYNHB3NFLULEN N2 LUNUYUNPULUL X 554,569.0 554,569.0 -
uuuruwuywuu) wuruuysrMINHB3INFLLENHL
nphg’
4712 |- LyhpwunynipntGbbn wy) whnyp shGunwwbnnn, 4819 554,569.0 554,569.0 -
Juaquwybpwnipyntbtphl
4720 | <UryEr, MUNSUNhN dauNuer 64 SNk3d6r, NrNuLe X 199,484.5 199,484.5 -
LunuduNuuu surrer vuwurtuyuerph uNaurs
uhPunNdnru 6L ULU3ULS LUUSUUUR
nphg’
4723 |- Mwpunwnhnp y&wnatnp 4823 199,484.5 199,484.5 -
4760 | U3L oULUGEP X 21,775,193.2 21,775,193.2 -
nphg’
4761 |- Wy Swtuubp 4861 21,775,193.2 21,775,193.2 -
4770 | MULKNFUSUSHU UPRNSLEN X 8,548,455.9 24,384,627.7 1,100,000.0
nphg’
4771 |- Mwhniuinwihb dhonglbn 4891 8,548,455.9 7,448,455.9 1,100,000.0
4772 | wyn pyntd” hwiwjbph pintobh Jupswywb dwuh wwhniuwnwihb X - 16,936,171.8 -
$nlnhg $nlnwiht dwu Yuwunwpynn hwwnywgnidbbpp
5000 |R. N2 dhuULUUYUL UUShYLENPh QDNY X 23,645,853.4 - 23,645,853.4

ouluer

wyn pynLd’
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wyn pynd’

-
E = npthuLt%mﬂ]i?u%%hr::ﬁmhnbun?%gquhﬁjdu&ul;r[:n NN Blnudtt Juinswlw( pnegt | pnlnwyhb pinuot
1 2 3 4 5 6

5100 |1.1 <pULUYUL Uh2N8ULGN X 23,645,853.4 - 23,645,853.4
wyn pynLd’

5110 | CEULRLN &4 ChUNH33NFLLEN X 12,536,586.2 - 12,536,586.2
nnphg’

5111 |- GtGpbph L 2hGnipntbbEph dGrppbpnLd 5111 500,000.0 - 500,000.0

5112 |- GklOpLph L 2hGnepyntbGbEph urenigned 5112 2,876,440.4 - 2,876,440.4

5113 |- CklOpbph L 2hGnepintGbEph Yuwwhuwnwy yepwbnpngnid 5113 9,160,145.8 - 9,160,145.8

5120 |UGRGLULEN 64 uureudnrntuver X 10,349,319.7 - 10,349,319.7
nnphg’

5121 |- Spwluwnpunwihb uwppwynpniilbp 5121 7,647,120.0 - 7,647,120.0

5122 |- dwpswlwl uwppwynpnidGbp 5122 144,885.7 - 144,885.7

5123 |- W ubpbGwObp L uwppwynpniibbp 5129 2,557,314.0 - 2,557,314.0

5130 | U3l <hULULUL UPRNSLEN X 759,947.5 - 759,947.5
nnphg’

5132 |- Ny Gynipwywb hhiGwywb dhongltin 5132 86,000.0 - 86,000.0

5134 | - LwjuwgéwhbGwnwgnunwywl dwiuutin 5134 673,947.5 - 673,947.5

6000 | Q. N2 dhuULUUYUL UYShYLENh hPUSNIUNS X (6,662,006.6) - (6,662,006.6)
unkseer
wyn pynLd’

6100 |<pULUYUUL Uh2N8ULGLGNrh hPUSNtUhS UNtSetN X (1,462,000.0) - (1,462,000.0)
wyn pynLd’

6110 | ULcUrd Qnt3rh hrusnNtUh8 UNkSLREN 8111 (1,460,000.0) - (1,460,000.0)

6120 | cUNPaULUU QNk3Lh PPUSNFUPS UNFSREN 8121 (2,000.0) - (2,000.0)

6400 |2UPSUNNPYUD UUShYLENrh hPUSNIUNS X (5,200,006.6) - (5,200,006.6)
unkseer
wyn pynLd’

6410 | <N1h PPUSNIUPS UNFSREN 8411 (5,200,006.6) - (5,200,006.6)
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{wybywos 4

Gplwb pwnwph wywgquwbnt

2023 pYwlwih ntywnbdptnh 26 -h

N 48 -U npndwl

GNGYULh 2024 4UWULP A3NFREBN NEDN8HSL (MULUUUNENOL)

(hwqwn
npwabtnny)
Snnp wyn pyYnLy®
NN COnwathp quipswlwb pnigt | $nnuwihb pniok
1 2 3 4 5
8000 |cLNUUGLBULL <UYGLNENPNL YUU NEdHNh8hSO (278,452.7) - (278,452.7)
(MUYUUNENND)
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Gplwl punwph wywgubnt

{wybyws 5

2023 pwywh neywnkiptph 26 -h

N 48 -U npnadwl

GNEYULN 2024 @YULUULP P3NFRGH <U4ELNFMIh 0QSUQGNMTUUL NFNNEHB3NFLLENE LWUU N5Dh8hsSh (MUYUUNENIN)
druuLUUYNNUUL UNR3NENLEND

(hwqup npwadbtpny)

Snnh Pntobuinuwhb dwiuutph wnbunbuwghunwywb NN DOnwkap wyry pUnLd®
NN nwuwlwngiwh hnnwéttnph woywoniitpp Junswywb pniet | $nlnwiha pintek
1 2 3 4 5 6

8010 puauuGLe” 278,452.7 - 278,452.7
wyn pynLd’

8100 u. uGrehL UNR3NFNPLEN (370,436.2) - (370,436.2)
wyn pynLd’

8160 |2 ShLULUULUL UYShYLEN (370,436.2) - (370,436.2)
wyn pynLd’

8161 |2.1. Pwdltwnndubn L Yuwwhuwintd wy| dwubwygnipntl (1,511,800.0) - (1,511,800.0)
wyn pynLd’

8163 |- hpwy. whd. yuinbwnp. yuwpwwnd whun. dwubwlg, wewn. vbgwy. | 9213 500,000.0 - 500,000.0
hwlnhuwgnn wiywnd gnyph (pwgwe. hnnbnph), wn pynid” wiwdwpnun
2hGwnuwp. opllyuintlinh dwubwynpbgnidhg wrwowg. dhong-hg hwdwylph
pinipt dwuhwlnidhg dniinpbn

8164 | Pwdltiinndubiph b Yuwhwnwynid wyy dwubwlgnipuwl dep pEpmid 6213 (2,011,800.0) - (2,011,800.0)

8190 |2.3. wdwylhph pjnigkih dhonglbph wnpbuyqgph 1,141,363.8 - 1,141,363.8
wqwuw dbwgnpnp’
wyn pynLd’

8191 |2.3.1. <wdwjbph pyntobh Jupswywb dwuh dhongltinh 9320 541,363.8 541,363.8 -
wnuwnbuygph wqwuwn dGwgnpn
nphg’

8192 | - Glpwlw t mnndwl hwdwylph prmigbh unswlwl dwuhg Guifunpn - - -
wnwpnid phbwbuwynpdwl Glpwlw, uwluyl shhlwbuwynpywo wrlw
wwpuwynpnipintGGEph uunwnpdwln

8193 |- Glpwlw F ninndwl hwdwylph piniobh dnlnuyhl dwu 541,363.8 541,363.8 -

8194 | 2.3.2. <wiwjlph pyntobh $nlnuyhb dwuh dhonglbph 9330 1,141,363.8 - 1,141,363.8
wnwptiuygph dbwgnpn
nphg’

8195 |- wrwlg Juipswlwl dwup dhonglbph twpbuljqph wquin dbwgnpnhg 600,000.0 - 600,000.0
Pnlnuyhl dwu dniinpuwgndwl Gapwlw gnidwnph

8196 |- Yunswhwl dwup dhonglbph tnwpbulyqph wquin dGuwgnpnhg pnlnuyhl 541,363.8 - 541,363.8

Jwu dnuinpwgndwl Glpwlw gnidwnp
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S'f\]fil\lh Aniotinwhl dwiuubph tnbnbuwghnwywl NN OGnwGkG wyry pUnLd®
nwuwywnpgiwb hnnywébbnh wadwbnidbbpp Jupswyw pniet | pnlnughl pniok
1 2 3 4 5 6

8200 |R.UMSULNL UNR3NENLEN 648,888.9 - 648,888.9
wyn pynLd’

8210 |1. ®NuUNNFUh2N8LEN 648,888.9 - 648,888.9
wyn pynLd’

8220 |1.2. dwnybp L thnfuwwndnipyntbbtin (unwgntd L dwpned) 648,888.9 - 648,888.9
wyn pynLd’

8221 |1.2.1. dwpykn 648,888.9 - 648,888.9
wyn pynLd’

8222 |- quwnlybpph uurnwgnid 9122 648,888.9 - 648,888.9
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Lwyblyws 6
Gnlwl pwnwph wywquOnt
2023 pywlywbh neYwntiptnh 26 -h

N 48 -U npndwl

GNEYULN 2024 BYULUULP A3NFRGH JUMUUUL B4 SNLAUSHL UUUGENhS LUSuusntuLENe US A3NFRESUSNL DuluutMrh
anMPouNuuuUL b4 suLstUUahsu4uL CTUUUYUNrQUUUL

(hwquwn npwdltipny)

= |al 4 AnLgbnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwikap

.;:-:;, 2 3| E cﬂ_ pintobinwhl swiuutinh inbwnbuwghnwywh ==z Jwpswyw pniet | $nlnwihb pniot

el =2 nwuwywpgiwb hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
LLNUUGBLL SUUBN 124,917,826.1 123,770,151.1 18,083,846.8
2100{01|/0 | O oun<ULNEN ALNE3RBH LULNU3LL 12,013,721.3 11,202,544.1 811,177.2
ounusnt@3NFLLEN

wyn pynLd’

2110|101 | 1 | 0 |OpbGunpp L gnpdwnhp dwpdhGabp, 11,131,490.8 10,974,261.1 157,229.7
wbwnwhwlt Yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipiniGG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111(01| 1 | 1 |OptOunhp L gnpéwnhn dwpdhOGtp, wsnwywl 11,117,490.8 10,960,261.1 157,229.7
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl dupdlih wwhwwbnid 11,079,394.0 10,922,164.3 157,229.7
- U2uwwinnnGbnh w2fuwwnwywndbp L 4111 8,100,096.5 8,100,096.5 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 457,881.0 457,881.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 275,367.3 275,367.3 -
- UndntGwy SwrwynipintbbEn 4213 22,338.3 22,338.3 -
- Ywuwh SwrwjnipnLtGbn 4214 365,711.6 365,711.6 -
- Uywhnjwgnwywb dwfuubin 4215 15,008.0 15,008.0 -
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 60,720.0 60,720.0 -
- Lbpphb gnpéninnLdGbp 4221 1,100.0 1,100.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwjuutin 4222 59,000.0 59,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 14,020.0 14,020.0 -
- {wiwywngswihb dwrewjnipynLblbn 4232 82,376.0 82,376.0 -
- Uluwwnwywqih dwubwghunwywb qupgugiwl 4233 26,000.0 26,000.0 -
SwrwjnLpnLbbEn
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- SbnGYwuinywywh swrewjnipyntGbbn 4234 25,630.0 25,630.0 -
- Ywrwywnswywb swewjnipntbbbn 4235 60,000.0 60,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 62,413.5 62,413.5 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 59,413.8 59,413.8 -
- Uwulwghunwywb swrwjnipjntbbbn 4241 15,045.1 15,045.1 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 279,579.0 279,579.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 69,071.6 69,071.6 -
- Spwluwnpuwihb Gnipkn 4264 243,544.0 243,544.0 -
- Ushgwnuwihb L hwbpwhG ubbnh OjneeEn 4267 33,281.6 33,281.6 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 15,979.7 15,979.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 297,043.8 297,043.8 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4638 42,600.0 42,600.0 -
hwiwjopwht wrluinpwiht YuwqdwytpwneentGbsph
- W Gwwunbbp pinuobihg 4729 58,500.0 58,500.0 -
- Mwpunwnhp y&wnobn 4823 20,209.5 20,209.5 -
- Uj) Swiuubn 4861 160,234.0 160,234.0 -
- Jwpswywb uwppwynpniibbn 5122 133,289.7 - 133,289.7
- Wy dbpbawobn L uwppwynpniibtbp 5129 940.0 - 940.0
- Ng Gynipwywl hhoOGwywb shonglbp 5132 23,000.0 - 23,000.0
2. Ywpswluwl opylyuinGlph uenignid L 38,096.8 38,096.8 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 38,096.8 38,096.8 -
wwhwwntd

2113|01| 1 | 3 |Upuwphl hwpwpGnpnigntbGep 14,000.0 14,000.0 -
wyn pynLd’
1. GpLwl punuwphl dhowqquihl Juwplwih, 14,000.0 14,000.0 -
20Gnphbynt dwepuynipintGGGph nhdwg yYswnpdwl
dwifuubin
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 14,000.0 14,000.0 -

2130|101 | 3 | 0 |Lanhwhnip pGnyph SwrwynipiniGGEn 33,983.0 33,983.0 -
nphg’

213101 3 | 1 |Ufuwunwlwqdh /Yunnpbph/ gény pnhwbnip pGnyeh 33,983.0 33,983.0 -

SwrwjnLpnLbbEn

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

1. Pwnwpwghwlwl Yugnipjwl wlwnbph 33,983.0 33,983.0 -
qpuilguwl 6wpuyni pjwl gnpdnt Ghniprul
Yuwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 29,238.3 29,238.3 -
hwyblwygwnlbp
- EGGpgbuinhy swrwynipnLbGbp 4212 3,205.3 3,205.3 -
- UndntGwy SwrwynipntbbBn 4213 100.0 100.0 -
- Ywuwh SwrwjnipnLtGbn 4214 500.0 500.0 -
- Qpwubtwyuwhb Gniebp LW hwgniuwn 4261 650.0 650.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 150.0 150.0 -
- Mwpunwnhp y&wnobn 4823 25.0 25.0 -
- Uj) dwfuutn 4861 114.4 114.4 -

2150|101 | 5 | O |LanhwlGnip pGnuyph hwapuyhl 663,947.5 10,000.0 653,947.5
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwGplbn
nphg’

215101 | 5 | 1 |COnhwbntp panyph hwapwihb Swewinipintbbtnh 663,947.5 10,000.0 653,947.5
qony hGuinwgnuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 413,947.5 10,000.0 403,947.5
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 10,000.0 10,000.0 -
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 403,947.5 - 403,947.5
2. Gpluil punuiph qifuwynp hunwluwqdh 250,000.0 - 250,000.0
hnwlwlwgdwl Yapniénipinil
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 250,000.0 - 250,000.0

2160|01| 6 | O | LanhwhGnip pGniyph hwapuwyhl 184,300.0 184,300.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|01| 6 | 1 |COnhwbntp paniyph hwbpwiht SwrwnipintbOGn (w) 184,300.0 184,300.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnidGbp, hwyigunhdnidlbp, nunwpwiGh 158,200.0 158,200.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhiwiywdo YAwpnidabp
- Mwpunwnhp y&wnobn 4823 158,200.0 158,200.0 -
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2. Qnuyph GLundwdp hpwyniGplEph 26,100.0 26,100.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Uwubwghunwywb swrwjnipjntbbbn 4241 8,000.0 8,000.0 -
- Mwpunwnhp y&wnobn 4823 18,100.0 18,100.0 -

22001020 | 0 nuUCSMULNHB3NFL 70,610.0 30,310.0 40,300.0
wyn pynLd’

2220|022 | 2 | 0 | Pwnuwpwghwwl wwywnwwlnipintl 50,400.0 10,100.0 40,300.0
nphg’

222102 | 2 | 1 |Pwnwpwghwywb wwunwwbntentb 50,400.0 10,100.0 40,300.0
wyn pynLd’
1. Punwpwghwlwl wuwpwnwwanpjwala 50,400.0 10,100.0 40,300.0
wouwlgnipint G
- SbnGYwuinywywh SwewjnipyntGbbn 4234 2,600.0 2,600.0 -
- UbpGOwObph L uwppwynpnidbbph pbpwghy 4252 6,000.0 6,000.0 -
Gnpngntd b wwhwwOnid
- <wwnnty Gwwuinwywihb wyp pneptn 4269 1,500.0 1,500.0 -
- Jwpswywb uwppwynpniibbn 5122 7,096.0 - 7,096.0
- Wy dbpbawobn L uwppwynpniibtbp 5129 33,204.0 - 33,204.0

225002 | 5 | O | NMwpwnwuwbnipyni b (wy nuubphl swwainlwbnn) 20,210.0 20,210.0 -
nphg’

2251102 | 5 | 1 |Mwunwwbnipintb (w)p nwubphb swwwnywhnn) 20,210.0 20,210.0 -
wyn pynLd’
1. 2hGwwwmunGbiph hwyJwedwl, gnpuwlynsh, 12,350.0 12,350.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
Yuquwlbpuwdw6a wowlgnipim
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,500.0 1,500.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 10,850.0 10,850.0 -
2. Uypawnpwlpuyhl wipfuwinwlpuyhl 7,860.0 7,860.0 -
Swipuyni gyl hppwiluiGuigni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 7,860.0 7,860.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2400|040 | O SLSGEUULUL <UrurtMPN@3NFLLEN 30,480,352.2 23,629,204.8 6,851,147.4
wyn pynLd’

2410|104 | 1 | O |LanhwlGnip pGnuyph wnlunbuwlwa, 30,000.0 30,000.0 -

wrbinpuyhl b wpfuwinwGph gény
hwpwptpnipinGGGn

nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

241104 | 1 | 1 |COnhwOntp pbnyph tnbwnbuwywb L welinpwih 30,000.0 30,000.0 -
hwpwptpnenLGbbn
wyn pynLd’
1. hpwdwfuwfun ppphly webnph Yawnp Yud 15,000.0 15,000.0 -
wpwluwnpunuyhl dhongn hunnily tnwpwédp
wnbnuithnfudwl b wwhwwidwl dwewnipinti
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 15,000.0 15,000.0 -
2. hlplwluwd wnbnwnpywd welunph, 15,000.0 15,000.0 -
SwpuynipyntG0Gph dunnigdwl opiyunlGbnh
wwywdnbwnwddwl, wnbnwhnfudwl b
wwhuwwGiwl dwrwynipintGaGbn
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 15,000.0 15,000.0 -

2420|04 | 2 | 0 | YnmupwnGunbunipyni b, whnweuyhla 64,400.0 - 64,400.0
wnbwnbunipinil, d4Gnpunipinl L
npunpnnLpinLG
nphg’

2424|104 | 2 | 4 |NengnLd 64,400.0 - 64,400.0
wyn pynLd’
1. Nenquwl gulgh Yuenignid L 64,400.0 - 64,400.0
YGpwlnpngniJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 64,400.0 - 64,400.0

2430|104 | 3 | 0 | Ywnrbihp L Fabpgtunplyw 1,773,110.3 75,332.4 1,697,777.9
nphg’

2435|04 | 3 | 5 |EGYunpwtGbpghw 1,773,110.3 75,332.4 1,697,777.9
wyn pynLd’
1. Gdpnwwluwb Gepnpntdughl pwlGlyh 838,724.3 75,3324 763,391.9
wowlygni pjuid) wlwGwgagynn «Gplwl,
taGpquiwipnm Gwybwnnpyuwly Spwghp
- Upuinwphb ywnybph gény itnnynuwdwnbbn 4422 75,3324 75,3324 -
- GLlpbnh L 2hOneyntG0Bnph Yuwwhunwy yepwbnpngnid 5113 763,391.9 - 763,391.9
2. Uplbywlb GYpnwuyh tabpquifuGuynnnipjwl 534,386.0 - 534,386.0
L plwwwhwwlGwlwl gnpéplybpnippulb
bnlnh wowlgnipywdp hpwlywlwgynn
«GpLwih FaGpquwpnynt Gwybunnpiuwly
ppwdwGnphuyhl spwghp
- GLlpbph L 2hOneyntGbBnph Yuwwhuwy yepwbnpngnid 5113 534,386.0 - 534,386.0
3. «GpLwih tabpquiwpnni Guwybunnipuwly 400,000.0 - 400,000.0
dnwaqph hwdwppbwbuwynpmd
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 400,000.0 - 400,000.0

2450|104 | 5 | 0 | Spwhuwnpwn 33,241,032.3 21,633,056.2 11,607,976.1
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2451 | 04 1 | Awlwwwnhwih0 tnpwbuwnnpun 22,682,131.4 12,133,335.3 10,548,796.1
wyn pynLd’
1. Uupuwyun-pbunnlyw swdlyh Ybpwlnpngnid L 3,652,464.5 2,632,464.5 1,020,000.0
wwhwwbnig
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,632,464.5 2,632,464.5 -
wwhwwntd
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 1,020,000.0 - 1,020,000.0
2. Uuhwlwlb qupquigdwl pwlyh 3,091,415.1 3,091,415.1 -
wowlgni prudp hpwiluiGuigynn pwinwpuyhli
qunquigdwl Gepnpnidughl
Spwghp(wunndhpwldwé hwgnpnipini GG6n)
- W Swfuubin 4861 3,091,415.1 3,091,415.1 -
3. Gqnwpwnbinh YGpwanpngnid 176,500.0 176,500.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 176,500.0 176,500.0 -
wwhwwntd
4. <Ghwwunbph JGpwGnpngnid 188,839.3 68,439.3 120,400.0
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 68,439.3 68,439.3 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 17,000.0 - 17,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 103,400.0 - 103,400.0
5. <Gwnhnuwnlb wlgnidGlph Yuwemgnid L 79,000.0 - 79,000.0
YGnwlnpngniJ
- GLlpbnh L 2hOneyntGObnph Yuwwhunwy yepwbnpngnid 5113 79,000.0 - 79,000.0
6. Ywidnouyhl Yuwrn gwéplbph 390,000.0 90,000.0 300,000.0
YGpwlhwigand b wwhwwlmd
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 300,000.0 - 300,000.0
7. <pwqnuwb Ypnah L Gplwljwt (Ah 2,100.0 2,100.0 -
pwnbywpqnid
- UndntGwy SwrwynLpntbbEn 4213 2,100.0 2,100.0 -
8. Uuwypninplbiph L thnnnglbph 947,319.1 193,034.0 754,285.1
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 193,034.0 193,034.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 392,113.3 - 392,113.3
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 362,171.8 - 362,171.8
9. ®nnngltiph wwhwwinid by ;whwgnpénid 1,218.3 1,218.3 -
- EGGpgbuinhy swrwynipnLGGep 4212 868.3 868.3 -
- Ywuwh SwrwjnipnLtGbn 4214 350.0 350.0 -
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10. UdwinnbyuywGunnbtnh Yuquiwlbnwdwl 428,034.0 428,034.0 -
Swpuyntpnt o
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 68,034.0 68,034.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
- Uj) Swiuubn 4861 360,000.0 360,000.0 -
11. BapwhwppwlGbph Yuenignid 121,000.0 1,000.0 120,000.0
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 1,000.0 1,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 120,000.0 - 120,000.0
12. Uuhwlwl qupquigdwl pwllyh 1,171,420.4 1,171,420.4 -
wowljgni prudp hpwilquiGuigynn puinuwpuyhl
quinquigdwl Gepnpnduyhb épwgph
hwdwywpqm d L juewywpnid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Wy 6wluutn 4861 1,171,420.4 1,171,420.4 -
13. @nnnglbiph, hpwwwpwlbbph L uyghblph 593,291.0 85,300.0 507,991.0
Yuhwynpnig
- EGGpgbuinhy swrwynipnLGGen 4212 22,300.0 22,300.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 63,000.0 63,000.0 -
wwhwwntd
- Wy dbpbawobn L uwppwynpniibtbp 5129 507,991.0 - 507,991.0
14. Awlwuwwphuyhl Gpplbyn pjwl 765,928.6 765,928.6 -
widwnwbqnipiuwl wwywhnynid b
dwlwwywphuwanpwluwnpuughl
wuwwnwhwplbph yuwlfuwnpgbnid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- EGGpgbuinhy swrwynipnLGGep 4212 48,000.0 48,000.0 -
- Wy 6wluutn 4861 717,928.6 717,928.6 -
15. Nawnwywl Grwlwlynipjwl 2,667,382.0 2,667,382.0 -
wywnnSwlwwwphGbph
hhoGwlnpngn d(wwwndhpwlyduwd
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 2,667,382.0 2,667,382.0 -
16. Spwluwnpunuyhl oplyunGlph 769,099.1 769,099.1 -
hhoGwinpngn U (wuind hpuilyduwié
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 759,099.1 759,099.1 -
17. Spwluwnpuuwghl hwdwlwpgh 7,647,120.0 - 7,647,120.0
wpnhwluwlwgntJ
- Spwluwnpuwihb uwppwynnpniibbn 5121 7,647,120.0 - 7,647,120.0

245504 | 5 | 5 |[lunnnwywpwpwih0 b wy; bpwbuwnpun 10,558,900.9 9,499,720.9 1,059,180.0
wyn pynLd’
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1. dbpGjwlyGbph hhdGwlnpngnid 1,059,500.0 320.0 1,059,180.0
- Uwubwghunwywb swrwjnipjntbbtn 4241 320.0 320.0 -
- Wy dbpbawobp L uwppwynpniibtbp 5129 1,059,180.0 - 1,059,180.0
2. GpLlwlGh dawnpnwnihunbiGh wpfuunnwlplbnh 2,641,750.0 2,641,750.0 -
Juwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 2,641,750.0 2,641,750.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. dGpgbunlyw FGhunpwwnpwluwnpuiny 628,000.0 628,000.0 -
nupbnpunhnfuwnpdwl 6wewinipint
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 628,000.0 628,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. 6ypnuwwluwib dhnipjwl hwplbwbGnipjuwl 331,5618.9 331,5618.9 -
GGpnpnduyhl pwlyh wowlygn pjwdp
hnwlwiwgynn Eplwih dawnpnwnihunbih
Ybnwlwenigdwl Gpypnpn npwdwGnphughl
Spnwghp /wunnyd ppwilydwé (hugnpnipini G6GEp/
- Uj) Swiuubn 4861 331,518.9 331,518.9 -
5. GYypnwwiuil Gapnpniduyhl pwlyh 1,018,752.0 1,018,752.0 -
wowlygni pjuid) wlwGwagynn Gpluwl,
dawnpnwn punblh JEpwlwemgdwa Enypnpn
Snwghp /wunnyd ppwilyywé (hugnpnipini G6GEp/
- W Swfuubin 4861 1,018,752.0 1,018,752.0 -
6. Gplwh dGwnpnwnihunbGh 4,000,000.0 4,000,000.0 -
Glopwlwenigdwdpllinh Ywemgnid
- Uj) Swiuubn 4861 4,000,000.0 4,000,000.0 -
7. GpliwGh dGwnpnuwnipuinbiGh 879,380.0 879,380.0 -
Glopwlwenigdwdplliph Gnpngnid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Uj) Swiuubn 4861 879,380.0 879,380.0 -

2470|104 | 7 | 0 | Uy phwquywrltn 246,500.0 103,500.0 143,000.0
nphg’

2473|104 | 7 | 3 |2pnuwynentpntl 246,500.0 103,500.0 143,000.0
wyn pynLd’
1. 2pnuuippgnipjul quipquigntd 246,500.0 103,500.0 143,000.0
- SEnGYwuinywywh swewjnipyntGbbn 4234 17,000.0 17,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 63,000.0 63,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 13,500.0 13,500.0 -
Juaquwybpwnipyntbtphl
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 120,000.0 - 120,000.0
- Ng Gynipwywl hhoOGwywb shonglbp 5132 23,000.0 - 23,000.0
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2490|104 | 9 | 0 | SGwnbuwlwh hwpwpbpnipinGGan (wy (4,874,690.4) 1,787,316.2 (6,662,006.6)
nwubphl swuwnluwbnn)
nphg’

249104 | 9 | 1 |SGnbGuwywb hwpwptpnintGbtn (wy nwubph (4,874,690.4) 1,787,316.2 (6,662,006.6)
swwuinywlnn)
wyn pynLd’
1. 2pnpG6ph wbnwnpnid 32,000.0 32,000.0 -
- CanhwGntp pGnyph wyp SwrwjnLpnLtbbEn 4239 32,000.0 32,000.0 -
2. Upwilygnipini O hwdwylipuyhla 223,332.8 223,332.8 -
Ywqdwlbpuwnipin GGERHG
hninwnpyuwynpnipini GGGpH hGwn uwws
wiyswp dweuwyntpintGGbph dwwnnigdwl b
qtipbquwliwwnbbph wwhwwlidwa hwdwn
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 207,873.6 207,873.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4637 15,459.2 15,459.2 -
hwdwyGpltbph ng wrbnpwihG
Juaquwybpwnipyntbtphl
3. Ywrpwdwpdwl L wnGnEyuwnywlwla 387,953.4 387,953.4 -
wbfulnnghwlbph qupquignid
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 387,953.4 387,953.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. Upwygnipini b hwduwylpuyhl L ng 240,000.0 240,000.0 -
hwiwyGpuyhl uquwlbpwnipim Gabph
opwanbnph
- Uy pbpwghy npwiw0Gnphbtn 4639 100,000.0 100,000.0 -
- W Ywwhunwi npwdwbnphltn 4657 40,000.0 40,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 100,000.0 100,000.0 -
Juaquwybpwnipyntbtnhl
5. N5 phbwluwluwl whyunhdlbph onnwpnidhg (6,662,006.6) - (6,662,006.6)
dnuunpbin
uucunNd ant3eh hPUsNtUhS UNtSLEN 8111 (1,460,000.0) - (1,460,000.0)
cunrgcuuuu ank3eh hPusNHUNS UNESLEN 8121 (2,000.0) - (2,000.0)
<N1h hPUSNHUNS UNESLEN 8411 (5,200,006.6) - (5,200,006.6)
6. SnGwlwl dhwynpmd 123,920.0 123,920.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 123,920.0 123,920.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
7. <wunwluwqdh wfuwwuwnpwundwl b 34,510.0 34,510.0 -
Yuwquddwl upfuwnuwlpllin
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 34,510.0 34,510.0 -

$hlwluwywb Yugtwytnpwnipntbbbph
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8. Ubpnpniduyhl épwagpliph hppwlwlwgnid 224,600.0 224,600.0 -
- SbnGYwuinywywh swewjniyntGbbn 4234 6,000.0 6,000.0 -
- Ywrwywnswywb swewjnipntbGbbn 4235 8,000.0 8,000.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 5,000.0 5,000.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 205,600.0 205,600.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
9. <punwwy (nidnid wwhwlgnn pGpwghly 521,000.0 521,000.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 521,000.0 521,000.0 -

25001050 | 0 cNRUYU Uhudu3Nh mucsmuuNnt@3Ntu 10,928,762.8 9,070,717 1 1,858,045.7
wyn pynLd’

251005 | 1 | O |UnpwhwlGmd 5,351,019.9 5,305,044.9 45,975.0
nphg’

2511/05| 1 | 1 |UnpwhwnLd 5,351,019.9 5,305,044.9 45,975.0
wyn pynLd’
1. Unpwhwlnipntb b uwGhunwpwlywl 104,645.6 64,645.6 40,000.0
duwpnnid
- UndntGwy SwrwynLpntbbEn 4213 7,000.0 7,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 50,000.0 50,000.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp neptn 4269 7,000.0 7,000.0 -
- W Gwwuinbbp pinuotihg 4729 645.6 645.6 -
- Wy dbpbawobp L uwppwynpniibbp 5129 40,000.0 - 40,000.0
2. Unpwininbiph uywuwnpldwl b 231,511.0 231,511.0 -
2hbwpwpuwlywl wnph wnbnuhnfudwl
Swpuyntpnt GGG
- UndntGwy SwrwynipntblEn 4213 231,511.0 231,511.0 -
3. «Gpliwlh wnpwhwbnipinib b 5,000,763.3 4,994,788.3 5,975.0
uwlhnwpwlulb dwppnidy hwdwyGpuyhl
hhdGwnplyp wwhwwGdwl swiuubin
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 3,084,820.0 3,084,820.0 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 97,636.3 97,636.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGep 4212 13,104.0 13,104.0 -
- UndntGwy SwrwynipntbbBn 4213 5,000.0 5,000.0 -
- Ywuwh SwrwjnipnLtGbn 4214 1,608.0 1,608.0 -
- Uywhnjwgnwywb dwfuubin 4215 15,006.0 15,006.0 -
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,000.0 1,000.0 -
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- {wiwywngswihb dwrewjnipynLalbn 4232 258.0 258.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 7,000.0 7,000.0 -
- UbpbOwObph L uwppwydnpnidbbph pbpwghy 4252 223,350.1 223,350.1 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 4,750.0 4,750.0 -
- Spwluwnpuwihb Gnipkn 4264 1,187,805.9 1,187,805.9 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 500.0 500.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 350,000.0 350,000.0 -
- Mwpunwnhp y&wnobn 4823 2,950.0 2,950.0 -
- Jwpswywb uwppwynpniibbn 5122 500.0 - 500.0
- Wy dbpbawobp L uwppwynpniibbp 5129 5,475.0 - 5,475.0
4. «Gplwlh Ynown punhnllGbnh Ywrwywndwl 14,100.0 14,100.0 -
dnwaqghn» dpwgph powlwlyllpnd
UwuhwlnidGbph qény dwpnidlGeph
wnpwdwnnpnid
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 14,100.0 14,100.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2520|105 | 2 | 0 | Yanuwgntph hGrwgnid 1,823,070.7 11,000.0 1,812,070.7
nphg’

2521(05| 2 | 1 |Ubnuwenptiph htrwgntd 1,823,070.7 11,000.0 1,812,070.7
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnl guiligbph 1,823,070.7 11,000.0 1,812,070.7
Yupnignid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 11,000.0 11,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 1,812,070.7 - 1,812,070.7

2530|105 | 3 | 0 | Cpowlw showduyph wnunnundwl nbd wwypwn 52,983.0 52,983.0 -
nphg’

2531(05| 3 | 1 |Onh wnunundw nbd wwjpwn 52,983.0 52,983.0 -
wyn pynLd’
1. QGwnbiph hniGGph dwppmd 38,683.0 38,683.0 -
- UndntGwy SwrwynLpntbbEn 4213 38,683.0 38,683.0 -
2. Cpopwlw dhowduyph b1 onh wnuninundwl 14,300.0 14,300.0 -
nbd dhongwenidGbph hpwlwlwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 14,300.0 14,300.0 -

2560|105 | 6 | 0 |Cpowlw vhowduwyph wwpwnwwGnipintl (wyy 3,701,689.2 3,701,689.2 -
nwubphl swuwnluwbnn)
nphg’

29




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2561 | 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 3,701,689.2 3,701,689.2 -
swwinywlnn)
wyn pynLd’
1. Ywlws wnwpwdplbph hhoGnid L 3,300,000.0 3,300,000.0 -
wwhwwbnig
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 3,300,000.0 3,300,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Ufunnwhwldw L dhpwwnwqbpddwl 26,932.0 26,932.0 -
Swipuynipyni G6p /nbrunnhquighw
- UndntGwy SwrwynipntbbBn 4213 26,932.0 26,932.0 -
3. <wuwnwuwlwl gniquipwbGbph 16,820.0 16,820.0 -
wwhwwinid L JGpwbnpngnid
- UndntGwy SwrwynipntblGn 4213 16,820.0 16,820.0 -
4. Bunhwenn Y&aGnwahGbph Jowuwqbndnd 275,937.2 275,937.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 275,937.2 275,937.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
5. Gplwlyw 1Ah Gi <pwgnwlb gbinnh 82,000.0 82,000.0 -
plwwywhwwliwlwl wwpwnwwbntd &1 duwppnitd
- UndntGwy SwrwynLpntbbEn 4213 82,000.0 82,000.0 -

2600106 0 | O pLULUNULUSHL ChuururnHe3NFL G4 8,845,644.0 3,756,245.8 5,089,398.2

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | PGwlwpwluyhl ;pGwpwpnipinia 942,665.8 442,665.8 500,000.0
nphg’

261106 | 1 | 1 |ROwywpwlwihb 2hGwpwnnipntl 942,665.8 442,665.8 500,000.0
wyn pynLd’
1. hapGwlwd urnyglabph pwannid 65,000.0 65,000.0 -
- Uj) Swiuubn 4861 65,000.0 65,000.0 -
2. 2nppnpn wuwnhAwlh Jpwpuihb 26Gpbph 7,920.0 7,920.0 -
pwlindwl hGwnbwlpny
plhwlwnwipnwiénipim GGGphg gplduws
plwlhsGbph Ynnihg Jupdwluwyws
plwlwnwlGEph thnfuhwwnnigni d
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 7,920.0 7,920.0 -
3. 2nppnpn wuwnhAwlh Jpwpuyhl 26Gpbph 500,000.0 - 500,000.0
pwlindwl hGwnbwlpny
plhwlwnwipnwiénipim GGGphg gplduws
plwlhsa6ph thnfuhwwnnigdwl hwowpn
plwlupwlGbnph dGrppbpnid
- Gtlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
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4. Ypwpuyhl 6Gpbph Jpwplwlybgdwl
dpwanh hpwgdwl dhongueni vGEn

369,745.8

369,745.8

- W Gwwuinbbp pinuotihg

4729

369,745.8

369,745.8

2640

06

®nnnglbtph (ntuwynpnid

2,136,695.1

2,124,383.1

12,312.0

nphg’

2641

06

®nnnglbph |ntuwynnpnid

2,136,695.1

2,124,383.1

12,312.0

wyn pynLd’

1. CGhaptiph qinwpdGuunwlwl jmuwynpnid

15,712.0

3,400.0

12,312.0

- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b
wwhwwntd

4251

3,400.0

3,400.0

- GLlpbnh L 2hOneyntGbEnph Yurenigned

5112

12,312.0

12,312.0

2. Upwnwphl ntuwdnpnipiwl gulgh
2whwaqnpodwl L wwhwwGdwl

wpfuunnuwliplbin

2,080,804.8

2,080,804.8

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

2,080,804.8

2,080,804.8

3. Ybpwlwenigdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nruwynpnipjuly npwdwGnphuyhl Spwghn
(wuinyhpwydwd jhwgnpnipinGG6n)

1,018.7

1,018.7

- W Swfuubin

4861

1,018.7

1,018.7

4. dGpwlwenigdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjuly dpwghp (wuwwndhpwlydws

[hwqnpnipni GGER)

28,972.1

28,972.1

- W Swfuubin

4861

28,9721

28,9721

5. UnbLGywl G4nnwuyh Labpquifubuynnni pjuil
L plwwwhwwlGwlwl gnpéplybpnippulb
bnlnh wowlygni pyudp hpwlwawgynn
«&Gplwlh punwpuyhl (niuwynpnipiuily
gpwdwGnphuyhl spwghp (wwandhpwlydwés
[hwqnpnipni GGER)

10,187.5

10,187.5

- W Swfuubin

4861

10,187.5

10,187.5

2650

06

Phwhwnwluyhl ;hbwpwpnipjwa b YndniGuy
SwreuynLpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwwnwlplbn

20,000.0

20,000.0

nphg’

2651

06

POwywpwlwihb 2hGwpwnnipjwb L YyndntGuwy
SwrwjnLpntbbEph gény hunwgnunwyw L
Owfuwgbwihb wpfuwunwbpltbn

20,000.0

20,000.0

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. CGhaptiph L 2hGnipintGGaph hbunnwgnundwl 20,000.0 - 20,000.0
wpfuunnuwliplbin
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 20,000.0 - 20,000.0

2660|06 | 6 | 0 | PGwlhwnwluyhl ;hGwpwpnipjwl L YndniGuy 5,746,283.1 1,189,196.9 4,557,086.2
SweuynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

266106 | 6 | 1 |ROwywpwlwih( 2hGwpwnnipjwb L YyndntGuwy 5,746,283.1 1,189,196.9 4,557,086.2
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 290,600.0 290,600.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 275,600.0 275,600.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp ineptn 4269 15,000.0 15,000.0 -
2. Pwquiuwpbwluwpwl 26Gpbph pbp 533,557.9 126,500.0 407,057.9
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 126,500.0 126,500.0 -
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 407,057.9 - 407,057.9
3. Pwluyhl tnwipwdpllinh b 4,279,248.5 219,746.7 4,059,501.8
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 184,746.7 184,746.7 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 35,000.0 35,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 250,634.8 - 250,634.8
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 3,570,242.0 - 3,570,242.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 238,625.0 - 238,625.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 536,900.0 536,900.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 489,900.0 489,900.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 47,000.0 47,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
5. dpwpuyhl wuwnquidplbph Gnpngnid 90,526.5 - 90,526.5
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 90,526.5 - 90,526.5
6. Ywpuuyunnlbbph L qgnipk, whwwantd 15,450.2 15,450.2 -
- LOpwghy npwdwbnphbbp wewnwywb L 4638 15,450.2 15,450.2 -
hwiwjopwht wrluinpwiht YuwqdwytpwneentGbsph

270010710 | O unnaaunu<nt@3Ntu 343,688.0 99,340.0 244,348.0

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2710|107 | 1 | 0 | AHrqwlwl wuypwlplbn, uwppbn L 204,180.0 - 204,180.0
vwppwynpnidabp
nphg’

271107 | 1 | 1 |Ynwgnpéwywl wwnwbplbn 204,180.0 - 204,180.0
wyn pynLd’
1. Urnnowwwhwlwl JuquwlybpwnipiniGGbph 204,180.0 - 204,180.0
hwdwn pdr)yuwlul uwppwynpmdbbph b
gniph dGpppbpnid
- Wy dbpbawobp L uwppwynpniibbp 5129 204,180.0 - 204,180.0

2760|107 | 6 | 0 | UrnnowwwhnipintG (wy nuubphl 139,508.0 99,340.0 40,168.0
swunljwilinig)
nphg’

276107 | 6 | 1 |Urnnowwwhwywl hwpwyhg dwrwnipntbbbp L 139,508.0 99,340.0 40,168.0
Spwgntip
wyn pynLd’
1. Upnnowwwhwlwl oplblunGlph 40,168.0 - 40,168.0
hhdGwGnpnqnid
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 40,168.0 - 40,168.0
2. MdYwnwidunsbrh hburnwgnunnipiniGG6ph 99,340.0 99,340.0 -
hpwlwlbwgnid
- Uwulwghunwywb swrwjnipjntbbbn 4241 99,340.0 99,340.0 -

2800080 | 0 <Uuahus, ucuuntse b4 urnu 9,269,390.8 7,667,565.8 1,601,825.0
wyn pynLd’

2810|108 | 1 | 0 |<wlquwnh L uwynpunp GwrwynipintGGEN 3,895,520.2 2,633,695.2 1,261,825.0
nphg’

281108 | 1 | 1 |<wlOguwnh L uwynpunh SwrwjntnLbGEn 3,895,520.2 2,633,695.2 1,261,825.0
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 326,803.2 326,803.2 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 255,303.2 255,303.2 -
- Uy pbpwghy npwiw0Gnphbtn 4639 15,500.0 15,500.0 -
- Unppwlw(, dowyntpwihb L uynpunwihb GwywuwnGbp 4727 40,000.0 40,000.0 -
pintetihg
- LuhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 16,000.0 16,000.0 -
Juaquwybpwnipyntbtphl
2. L<wliquinh gnunnhlGbph L gpnuuyghlGbph 1,368,717.0 106,892.0 1,261,825.0
Ywenignid n wwhwwlnid
- EGGpgbuinhy swrwynipnLGGep 4212 39,000.0 39,000.0 -
- UndntGwy SwrwynipntbbBn 4213 8,000.0 8,000.0 -
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 34,050.0 34,050.0 -
wwhwwntd
- Uy pbpwghy npwiw0Gnphbtn 4639 25,842.0 25,842.0 -
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 207,909.6 - 207,909.6
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 1,043,815.4 - 1,043,815.4
- Wy dbpbawobp L uwppwynpniibbp 5129 10,100.0 - 10,100.0
3. Gpluwlh priuvwpwlwluwl uygnt 2,200,000.0 2,200,000.0 -
wnwpwdpn d whwnwewwni pwlh
Ywpn guwuwiindwl wpfuwinwaplbn
- Uj) Swiuubn 4861 2,200,000.0 2,200,000.0 -

2820|108 | 2 | 0 |Upwlynipuyhl SwrewynipiniGGEn 5,353,281.6 5,013,281.6 340,000.0
nphg’

2821/08| 2 | 1 |Qpwnwnwlbn 706,063.3 666,063.3 40,000.0
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGaEn 666,063.3 666,063.3 -
- UntpupnhwGtp ng $howbuwyub weEwnwywh 4511 666,063.3 666,063.3 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. QnuinwpwlGbph hwdwp wohpwdbun 40,000.0 - 40,000.0
qniph dGep papnid
- Ng Gynipwywl hhoOGwywb shonglbp 5132 40,000.0 - 40,000.0

282208 | 2 | 2 |Bwlqwnwlbbp L gnigwunwhGbp 360,301.0 360,301.0 -
wyn pynLd’
1. Pwlqupwluyhl Swewyntpim GGEn L 360,301.0 360,301.0 -
gnigwhwinbulbp
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 360,301.0 360,301.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|08 | 2 | 3 |Uwynyph wnlbp, wyniipbtp, Ysaunpnbbsn 535,801.6 535,801.6 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquiun dwdwlgh 535,801.6 535,801.6 -
Yuqdwlbpwnid
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 535,801.6 535,801.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

282408 | 2 | 4 |Ujy Gywynipwihlt ywgqiwybnwnipntbGbp 2,816,620.1 2,816,620.1 -
wyn pynLd’
1. Vpwlynipuyhl dhongwenidabph 2,386,715.3 2,386,715.3 -
hpwlwlbwgnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 3,000.0 3,000.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,962,245.8 1,962,245.8 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 55,469.5 55,469.5 -
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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1 1213 |4 5 6 7 8 9

- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 365,000.0 365,000.0 -
Juaquwybpwnipyntbtphl
2. YGhnwlwpwlwlwl wigm 429,904.8 429,904.8 -
gnigwnpnipnLGGGn
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 429,904.8 429,904.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2825/08 | 2 | 5 |Upybuwn 914,495.6 614,495.6 300,000.0
wyn pynLd’
1. Gpuwdrwnwnybuwnp L wwpwpdbuwnh 153,234.6 153,234.6 -
hwdbnpqlbp
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 153,234.6 153,234.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Bunbpwlwl Gapyuywgnidabn 461,261.0 461,261.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 461,261.0 461,261.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. BwnpnlGlGph hhdGwGnpngnid 300,000.0 - 300,000.0
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 300,000.0 - 300,000.0

282708 | 2 | 7 |<niwndwlbbnh L Gowynipwiht wpdbpbbph 20,000.0 20,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Japwlnpngnid L 20,000.0 20,000.0 -
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwlntd

2840|08 | 4 | 0 | Ypnbwlwl L hwuwpwlwlwl wy 20,589.0 20,589.0 -
SwewyntpynLGGEN
nphg’

2841|08 | 4 | 1 |Gphunwuwnnwlwb Spwanptp 3,000.0 3,000.0 -
wyn pynLd’
1. Eppurnwuwnnulwl shonguwenidGbnh 3,000.0 3,000.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwulwghunwywb swrwjnipjntbbbn 4241 1,000.0 1,000.0 -

284308 | 4 | 3 |UpnGwywl L hwuwpwywywb wy SwrwjnipntbbGn 17,589.0 17,589.0 -
wyn pynLd’
1. UGnwdwlygntpjul yAwnpbbn 17,689.0 17,689.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 17,589.0 17,589.0 -
Juaquwybpwnipyntbtnhl
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Thuu

Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

9

2900

09

o

urENH33NEL

42,205,960.5

41,812,105.2

393,855.3

wyn pynLd’

2910

09

ULwfuwnuypngwlw L cnwppwlwl pGnhwlnin
Uppnipyntl

26,064,395.3

25,914,395.3

150,000.0

nphg’

2911

09

Lwfuwnwnngwywb Yppnipntl

18,301,923.3

18,151,923.3

150,000.0

wyn pynLd’

1. Vwfuw ngwlwl niunignid

13,224,418.7

13,224,418.7

- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn

4239

2,200.0

2,200.0

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

13,222,218.7

13,222,218.7

2. Lwfuw ngwlwl ntuntgdwl
Lwquiwlbnwiwl hwdwn wGhpwdbw gniph

dbrp pbpnid

680,000.0

530,000.0

150,000.0

- <wwnnty Gwwuinwywihb wyp neptn

4269

30,000.0

30,000.0

- W Ywwhuwnwi npwdwbnphltn

4657

500,000.0

500,000.0

- Wy dbpbawobp L uwppwynpniibbp

5129

150,000.0

150,000.0

3. Lwfuwi ngwlwl nLpjwl
hwuwGb pmpjwa b npwyh wwwhnydnid
(wuinyhpwydwé jhwgnpnipini GG6n)

22,719.2

22,719.2

- Untpuhnhwlbp ng $hOwbuwywl wtnwywl
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

22,719.2

22,719.2

4. Unghuwywyw@ npn) fjudpbph 1.5-5
wnwnblwl Gpbluwlbph Gwuwnuwpngulwl
Yppnipiwl wwwhnynid /yuwwndhpwlyuws
[hwqnpnipini GGGp/

668,844.2

668,844.2

- W Gwwuinbbp pinuotihg

4729

668,844.2

668,844.2

5. Newnwluwl wowlgnipjuwdp hpwlwlwgynn
Guwfuw ngwlywl nunt0Guiuwla
hwuwnuinnipint GaGph Yuenignid i

hhdGwGnpnqnid

3,691,770.4

3,691,770.4

- W Swfuubin

4861

3,691,770.4

3,691,770.4

6. Vwulwahunwlwl qupquigiwl b
Ywnduwinpni pjuil thnfujuwuwwlygywd
hwdwlwpgh GEpnpnd Gwiuwnupnguluwl
hwuwnuwiinnipynt GGGph dwlyuwduwnpdGbphl
wnwnwlwnpgh 2Gnphdwl gnpdplpuwgh
Uhgngny/wuinyppwlyywd jhwgnpnipini GaGn/

8,280.0

8,280.0

- W Gwwuwnbbp pinuobihg

4729

8,280.0

8,280.0

7. bwfuwnuwnpnguwlwl dpwapbn

hpnwlwGwglnn niun dGwluwl
hwuwnuinnigint GaGph dwbluwywndabnh
YEpwwuwwnpwuwnnd (wuwandppwlyduwéd

[hwqnpnipni GGER)

5,890.8

5,890.8

- W Gwwuinbbp pinuotihg

4729

5,890.8

5,890.8
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291209 | 1 | 2 |Swppwywb plnhwnip Ynpnepinta 7,762,472.0 7,762,472.0 -
wyn pynLd’
1. <wlpwyppwlywl niunigntd 7,762,472.0 7,762,472.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 7,762,472.0 7,762,472.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2920|109 | 2 | 0 |UhoGwlwng panhwGnip Yppnipina 10,226,675.2 10,226,675.2 -
nphg’

292109 | 2 | 1 |<pibwywhb pGnhwbnip Ypenipntd 9,927,183.0 9,927,183.0 -
wyn pynLd’
1. <wlpwyppwlywl niunignid 9,5627,499.4 9,527,499.4 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 9,527,499.4 9,527,499.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Phwqghunwlwl ninpunh wewpluwlbn 399,683.6 399,683.6 -
nuuwywbnnn niuntghsGpha hwybwyswnph
wpwdwnan 0 (wuwwndppwldwo
[hwqnpnipni GGER)
- W Gwwunbbp pinuobihg 4729 399,683.6 399,683.6 -

292209 | 2 | 2 |\UhoGwlywng (1nhd) pGnhwbnip Ypenipntd 299,492.2 299,492.2 -
wyn pynLd’
1. <wlpwyppwlywl niunignid 299,492.2 299,492.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 299,492.2 299,492.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnwlGbph snwuwluwpgdnn 5,054,272.6 4,956,403.6 97,869.0
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnuwnngwlwl nwuwmhwpwyntpjntb 5,054,272.6 4,956,403.6 97,869.0
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipini 4,880,008.6 4,880,008.6 -
- EGGpgbuinhy swrwynipnLGGen 4212 7,929.2 7,929.2 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 4,872,079.4 4,872,079.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Unwnuw nqwiywl Juqdwlbpwnipini GGG, 97,869.0 - 97,869.0
hwdwn wahpwdbiyu gniph dbep pbpnid
- Wy dbpbawobn L uwppwynpniibtbp 5129 97,869.0 - 97,869.0
3. «<wiynp Ynomywily Yppwhwdughn MNUY- 6,793.0 6,793.0 -
nLd wpunuw nquluwl nuwuwnhwpwlyni pjuwl
Juwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 6,793.0 6,793.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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Pwdh

Snnh
hunip

Thuu

Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

4. Gpwdrwnwywl L wpdbuwnh nupnglbbpnid
wqquyhl jwpuyhl L thnnuyhl Gdwquinwbbabnh
qény ntunignid

60,353.9

60,353.9

- Untpuhnhwltp ng $hOwbuwywl wtnwyw
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

60,353.9

60,353.9

5. Ywdwynp wnbuwnwynpdwl Gnp
hwdwlwpgh Gepnpntd” ninnywé
wnunwnupnguwywl niun dowluwl
hwuwnuinnipynt GGGph dwlyuwdwpdwlwl
wpfuwinnnlbiph npwlyh pwpdpwgdwln
(wuinyhpwdwd jhwgnpnipini GG6n)

9,248.1

9,248.1

- W Gwwuinbbp pinuobihg

4729

9,248.1

9,248.1

2960

09

Unppnipywlp wnpwdwnpynn odwlnwly
SwewyntpynLGGEN

860,617.4

714,631.1

145,986.3

nphg’

2961

09

Unpntpjwlp unnpwdwnnynn odwlnwy dwrwnipntblbn

860,617.4

714,631.1

145,986.3

wyn pynLd’

1. Vwfuw ngwlwl hwuwnwwnnipnt GGk,

Yupnignid L JGpuwlnpngnid

11,986.3

11,986.3

- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned

5113

11,986.3

11,986.3

2. ypnguywlGbph ojhdwhwnwbbph b wy
Uhongwpem dG&ph uquiwlbpwni g

74,000.0

74,000.0

- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn

4239

74,000.0

74,000.0

3. Uwnbuwnwynpdwl dhongny npwlwynpnid
uthwgwé niunighsabphl hwybwyswnpbbph
wpwdwnpmd (wndhpuwldws

[hwqnpnipni GGER)

37,662.2

37,662.2

- W Gwwunbbp pinuobihg

4729

37,662.2

37,662.2

4. <wlpwlppwywl hhdowlwb spwgpbn
hpwlwbwglnn niuntdGwlwl
hwuwnuinnpint GaGph hbppwlwa
wwnbunwynpiwl GGpwlw ntunighsGph
YGpwwuwwnpwuwnnd (wuindhpwldwé

[hwqnpnipni GGER)

14,104.7

14,104.7

- W Gwwuinbbp pinuotihg

4729

14,104.7

14,104.7

5. Ywdwynp wnbuwnwynpdwl hwdwluwpgh
G6pnpnid” nennywid neunighsGph npwiyh

pwndnwagdwln

588,864.2

588,864.2

- W Gwwuwnbbp pinuobihg

4729

588,864.2

588,864.2

6. <wipwlyppwlwl hwuwnwwnnipintGGGph
hhdGwGnpngnid L JGpwGnpngnid

134,000.0

134,000.0

- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid

5113

134,000.0

134,000.0

3000

unshuLuvyuuL MuUcSMULNHBE3NFL

2,211,240.6

2,117,490.6

93,750.0

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

303010 0 | <wpwqunhl Ynpgnpwdé wGdhGp 156,769.0 15,769.0 -
nphg’

303110 | 3 | 1 |<wpwquwuwnhb Ynpgnwé wbdhlbp 15,769.0 15,769.0 -
wyn pynLd’
1. <wpwqun snLGGgnn wGdwag 156,769.0 15,769.0 -
hninwpyuwynpipywl yuqdwlybpunid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 15,769.0 15,769.0 -

304010 | 4 | 0 | Lauwbhph wonwdGbn L qudwlGbn 50,209.6 45,899.6 4,310.0
nphg’

304110 | 4 | 1 |COnwOhph wonwdbkn L quywyatp 50,209.6 45,899.6 4,310.0
wyn pynLd’
1. GptGfuuyh ppuwidniGpllinh L pwhbph 40,609.6 40,299.6 310.0
wupwnuwbnipint G
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,200.0 1,200.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 2,617.5 2,617.5 -
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 13,449.9 13,449.9 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,000.0 2,000.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 21,032.2 21,032.2 -
- Wy dbpbawobp L uwppwynpniibbp 5129 310.0 - 310.0
2. Vpwynipuyhl L Yppwlwl dhonguentdbabn 3,300.0 3,300.0 -
Yuwlph nddwphl hpwypswlynid huyunGyws
GpGfuwbtiph hwdwn
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,300.0 3,300.0 -
3. Gptifuwlbphl wowlygdwl Gwwwnwlyny 5,800.0 1,800.0 4,000.0
huwnnty ublywlGbph unbinémd Gplwl
pwnuwph Jupswluwl ppowlbbpnd
- Ywrwywnswlwb swewjnipntbbbn 4235 1,800.0 1,800.0 -
- Jwpswywb uwppwynpniibbn 5122 4,000.0 - 4,000.0
4. <wlpwyppuwlywl nupnglbnm J Gpbluwlbbph 500.0 500.0 -
hnwyniGpl&ph Ybapuwpbnyuy
hnwqblduwiéni pyul pupdpwgnd
- Ywrwwnswywb swewjnipntbbbn 4235 200.0 200.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 300.0 300.0 -

307010 | 7 | O | Unghwywluwl hwwnnty wpainlGnupint GGG (wyy 382,750.0 293,310.0 89,440.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwjwywb hwuwnnty wpunnOnipintGbbn (wy 382,750.0 293,310.0 89,440.0

nuwubphb swywunywbnn)

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. Gplwl pwnwpnd Gpbluwbbph L 5,000.0 5,000.0 -
unghuwywluwl wwwnwwlnipjwl npnpuintd
G6pnpywo Gnp hwdwlwpgh wpni Gwluwljwa
qupquignid " wpynt Guydbun yupwdwnpiwl
Owuwinwyny
- Uluwwnwywgih dwubwghunwywb qupgwgiwl 4233 5,000.0 5,000.0 -
SwrwjnLpnLbbGn
2. Gpluwl hwduylph pGwlhsGbph 126,624.5 126,624.5 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwljwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 38,164.5 38,164.5 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 56,320.0 56,320.0 -
wwhwwntd
- Qpwubtwyuwhb Gniebp LW hwgniuwn 4261 1,500.0 1,500.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 19,420.0 19,420.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 11,220.0 11,220.0 -
3. <wuwnpwluwlwl quqdwlybpuwnipini GGGphG 42,480.0 42,480.0 -
wouwlgnipint G
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 42,480.0 42,480.0 -
Juaquwybpwnipyntbtphl
4. Swppbp unghwywlw udpbph hwdwp 29,224.0 29,224.0 -
Gplwl hwduwylpntd npwlyw; unghwjwlwl
Swipuynipyni 6GGph Guquiwlbpund
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 20,224.0 20,224.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 9,000.0 9,000.0 -
wwhwwntd
5. Pwquwquyuwy, Gphunnwuwnn b wyy fjudpbphl 114,548.5 30,608.5 83,940.0
wuwinluwlnn plGunwGhplbphl wowlygnipint b
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 690.0 690.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 23,968.5 23,968.5 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,950.0 3,950.0 -
- Wy ubpbawobp L uwppwynpniibtbp 5129 83,940.0 - 83,940.0
6. Gpluwl pwnwpnd hwdwylGpuyhl 7,000.0 7,000.0 -
unghuywlwl dwpwynipini G0Gph GEpnGnid L
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 7,000.0 7,000.0 -
7. Upunwluwipg ppwyhawlGbpnd L 20,000.0 20,000.0 -
Ldwiwwnpy wy nGwpbpnid ywiph ndduwphla
hpwyhswylEpnid huyunGywd wadwlg b
plawnwlhphlbphG wowlgnipint G
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 20,000.0 20,000.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

8. Gpluwl punuph unghwywlwlb 19,000.0 13,500.0 5,500.0
wowlgnipywl Yapwpbnw; ywdwynp
fulinhplbpp (nié6dwll nunnywé
UhongwenidGbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwlntd
- Ushgwnuwihb L hwbpwihG ubbnh OjnueGn 4267 1,500.0 1,500.0 -
- W Gwwuinbbp pinuobihg 4729 8,000.0 8,000.0 -
- Wy dbpbawobp L uwppwynpniibtbp 5129 5,500.0 - 5,500.0
9. Unghwjwlwl wowlygnipjwl Yuphp 11,000.0 11,000.0 -
nLGbgnn plunwGhplbphl Yuynt b Ghwdniwn
wwwhnybynt Gwunwyny qpunywénipjwl
Snwgnpbipp yuqdwlybpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 11,000.0 11,000.0 -
10. Unghuwywilywl wowlygnipwl Yuphp 7,873.0 7.873.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwnpyuwynpm pjwl uqdwybnwnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 7,873.0 7,873.0 -

309010 | 9 | 0 | Unghuwywluwl wwpwnwuwlnipint G (wy 1,762,512.0 1,762,512.0 -
nwubphl swuwnluwbnn)
nphg’

309210 | 9 | 2 |Unghwjwywl wwpunwwbntpjubp tnpwdwnnynn 1,762,512.0 1,762,512.0 -
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwinywlnn)
wyn pynLd’
1. MGwnwlwl hhdGwpllph L 666,792.0 666,792.0 -
Ywquiwlbpuwnipini6G6pH wfuwnnnlbnh
unghwywywl thuwpbpny wwwhnynid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- W Gwwuinbbp pinuotihg 4729 666,792.0 666,792.0 -
2. Uennontpjwl wwwhndwapnipint 1,095,720.0 1,095,720.0 -
- Uywhnjwgnwywb dwfuubin 4215 1,095,720.0 1,095,720.0 -

310011110 | O <hULuUyUL PUGhLLENPL 2UUYNN 8,548,455.9 24,384,627.7 1,100,000.0

nuU{NFUSU3hL dNuIGN

wyn pynLd’

311011 | 1 | 0 | << ywrewywpnipjuwl L hwiwyGplbph 8,548,455.9 24,384,627.7 1,100,000.0
wwhniuwnuyhl pnhn
nphg’

311211 | 1 | 2 | << hwdwyGpbbph wwhniuwinwihb $nln 8,548,455.9 24,384,627.7 1,100,000.0
wyn pynLd’
- MwhntuwnwihG dhengGbn 4891 8,548,455.9 7,448,455.9 1,100,000.0
-{wunyuwgntd wwhrunwhb $nlnhg $nlnuwhb pjniok X - 16,936,171.8 -
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Lwybws 7
Gplwlh pwnwph wyjwagwdnt
2023 pqwywh neywnkiptph 26 -h
N 48 -U npnadwl

NMPNTUUL N 6 <U4EL4UDSNd <UUSUS4Ud <usuyusntuutNrh dsrouuntue cUS 6Rgyuuh duNruuUdL crauuusrh
Gd GNEYULh _RUNULUMGSUNULP (UNULS GNREYULh YUNUUUL CrRULLENN) <UUUQU3UL N 7 <UdtEL4usch

Uryntuwy 1

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULENL CUS RP3NFRGSU3NL
oulutNrh

GrG4yULh RUNULRUMEGSUNULP (UNUULS GNREYULN YUNM2UUUL cNRULLENP) UUuuNy

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneek

el =2 nwuwywpgiwb hnnwétbph  wojwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SuluUuGP 91,755,112.6 96,403,161.3 12,288,123.1
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 6,236,794.0 5,607,912.5 628,881.5
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 5,466,713.5 5,397,929.5 68,784.0
wbwnwlhwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpmgbuwnuyhl hwpwpbpnipiniGG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 5,452,713.5 5,383,929.5 68,784.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 5,452,713.56 5,383,929.5 68,784.0
- U2uwunnnGbph w2fuwwnwywndbp L 4111 3,450,654.3 3,450,654.3 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuntunidObn b 4112 306,761.6 306,761.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 70,658.3 70,658.3 -
- UndntGwy SwrwynipntbbBn 4213 7,567.0 7,567.0 -
- Ywuwh SwrwjnipnLtGbn 4214 257,819.0 257,819.0 -
- Uywhnjwgnwywb dwfuutin 4215 7,938.0 7,938.0 -
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 60,720.0 60,720.0 -
- Lkipphb gnpéninnLabbn 4221 1,000.0 1,000.0 -
- UpuinwuwhiwOwh gnpéninniibbph gény dwiuubin 4222 50,000.0 50,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 12,000.0 12,000.0 -
- {wiwywngswihb dwrewjnipynLblbn 4232 80,472.0 80,472.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

- Uuwwnwywgih dwubwghunwywb qupgugiwl 4233 26,000.0 26,000.0 -
SwrwjnLpnLbbGn
- SEnGYwuinywywh swewjnipyntGlbn 4234 21,225.0 21,225.0 -
- Ywrwwnswlwb swewjnipntbGbbn 4235 60,000.0 60,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 51,413.5 51,413.5 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 36,633.8 36,633.8 -
- Uwubwghunwywb swrwjnipntbbn 4241 2,000.0 2,000.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 217,680.0 217,680.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gniebp LW hwgniuwn 4261 30,153.0 30,153.0 -
- Spwluwnpuwihb Gnipkn 4264 77,563.2 77,563.2 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 6,486.0 6,486.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 9,760.0 9,760.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 297,043.8 297,043.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4638 42,600.0 42,600.0 -
hwiwjopwht wrbluinpwiht YuwqdwytpwneentGbsph
- W Gwwuinbbp pinuotihg 4729 58,500.0 58,500.0 -
- Mwpunwnhp y&wnobn 4823 11,047.0 11,047.0 -
- Uj) Swiuubn 4861 130,234.0 130,234.0 -
- Jwpswywb uwppwynpniibbn 5122 45,784.0 - 45,784.0
- Ng Gynipwlwl hhoOwywb shonglbp 5132 23,000.0 - 23,000.0

2113/ 01| 1 | 3 |Upwnwphlb hwpwpetpnientGbtn 14,000.0 14,000.0 -
wyn pynLd’
1. GpLwl punuwphl dhowqquihl Juwplwih, 14,000.0 14,000.0 -
20nph&nt 6wewynipiniGG6ph nhowg
YAwpdwl swfuubn
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 14,000.0 14,000.0 -

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 33,983.0 33,983.0 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 33,983.0 33,983.0 -
SwrwjnLpnLbbEn
wyn pynLd’
1. Pwnwpwghwlwl Yugnipjwl wlwnbph 33,983.0 33,983.0 -
qpuiGguwl 6wpuyni pjwl gnpdnt Ghniprul
Yuwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 29,238.3 29,238.3 -
hwyblwygwnlbp
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- EGGpgbuinhy swrwynipnLbGbp 4212 3,205.3 3,205.3 -
- UndntGwy SwrwynipntbbBn 4213 100.0 100.0 -
- Ywuwh SwrwjnipnLtGbn 4214 500.0 500.0 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 650.0 650.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjnueGn 4267 150.0 150.0 -
- Mwpunwnhp y&wnobn 4823 25.0 25.0 -
- Uj) dwfuutn 4861 114.4 114.4 -
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 570,097.5 10,000.0 560,097.5
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 570,097.5 10,000.0 560,097.5
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 320,097.5 10,000.0 310,097.5
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 10,000.0 10,000.0 -
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 310,097.5 - 310,097.5
2. Gpluil punuiph qifuwynp hunwluwqdh 250,000.0 - 250,000.0
hnwlwlwgdwl Yapniénipinil
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 250,000.0 - 250,000.0
216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 166,000.0 166,000.0 -
SwreuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CGnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 166,000.0 166,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnLdGbp, hwyigunhdnidlbp, nunwpwiGh 150,000.0 150,000.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhiwiywdo YAwpnidabp
- Mwpunwnhp y&wnobn 4823 150,000.0 150,000.0 -
2. Qnuyph GLundwdp hpwyniGplbph 16,000.0 16,000.0 -
qpuiligiwl, qhwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Uwubwghunwywb swrwjnipjntbbbn 4241 8,000.0 8,000.0 -
- Mwpunwnhp y&wnobn 4823 8,000.0 8,000.0 -
2200(02|0 | 0 nuUCSMULNHB3NFL 58,260.0 17,960.0 40,300.0

wyn pynLd’
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2220| 02 0 | Pwnwpuwghwluwl wwywnwwbnipinta 50,400.0 10,100.0 40,300.0
nphg’

2221|02| 2 | 1 |Pwnwpwghwywl wwunwwbnigntl 50,400.0 10,100.0 40,300.0
wyn pynLd’
1. Puwnwpwghwlwl wuwpwnwwanpjwala 50,400.0 10,100.0 40,300.0
wouwlgnipint G
- SEnGYwuinywywh swewjnipyntGlbn 4234 2,600.0 2,600.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 6,000.0 6,000.0 -
Gnpngntd b wwhwwOnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,500.0 1,500.0 -
- Jwpswywb uwppwynpniibbn 5122 7,096.0 - 7,096.0
- Wy ubpbOwobp L uwppwynpniibbp 5129 33,204.0 - 33,204.0

2250|102 | 5 | O | Nwpwwuwlbnipnt G (wyy nuwubphl swwuwnlwlnn) 7,860.0 7,860.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 7,860.0 7,860.0 -
wyn pynLd’
2. Uypaunpwlpuyhl wipfuwnwlpuyhl 7,860.0 7,860.0 -
Swipuyni gyl hppwiluiGuigni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 7,860.0 7,860.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2400(04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 27,775,822.6 21,576,347.0 6,199,475.6
wyn pynLd’

2410104 | 1 | O | LanhwGnip pGnyph nnGunbuwlwa, 30,000.0 30,000.0 -
wrbinpuyhl b wpfuwinwGph gény
hwpwptpnipnGGGn
nphg’

241104 | 1 | 1 |CGnhwOnip pGnyph nGunbuwywb L welinpwihG 30,000.0 30,000.0 -
hwpwptpnenLGbbn
wyn pynLd’
1. hpwdwfuwfun ppphly webnph Yawnp Yud 15,000.0 15,000.0 -
wpwluwnpunuyhl dhongn hunnily tnwpwédp
wnbnuithnfudwl b wwhwwidwl dwewnipintl
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 15,000.0 15,000.0 -
2. hlplwluwd wnbnwnpywd welunph, 15,000.0 15,000.0 -
SwepuynipyntG0Gph dunnigdwl opyiyunlGbnh
wwywdnbwnwddwl, wnbnwhnfudwl b
wwhuwwGdwl dwrwynipintGabn
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 15,000.0 15,000.0 -

2430104 | 3 | 0 | Ywrbhp L FaGpgEwnhyw 1,773,110.3 75,332.4 1,697,777.9
nphg’
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2435| 04 5 | biYunpwtGbpghw 1,773,110.3 75,332.4 1,697,777.9
wjn pyntd’
1. Gdpnwwluwb GEpnpniduyghl pwlGlyh 838,724.3 75,3324 763,391.9
wouwlygni pjuid) wlwGwgagynn «Gplwl,
taGpquiwipnm Gwybwnnpyuwly Spwghp
- UpuinwphO ywnytph gény itnnynuwdwnbbn 4422 75,3324 75,3324 -
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 763,391.9 - 763,391.9
2. Uplbywlb GYpnwuyh tabpquifuGuynnnipjwl 534,386.0 - 534,386.0
L plwwywhwwlGwlwl gnpéplybpni ppulb
bnlnh wowlgnipywdp hpwlywlwgynn
«GpLwih FaGpquwpnynt Gwybunnpiuwly
ppwdwGnphuyhl spwghp
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 534,386.0 - 534,386.0
3. «GpLwih tabGpquiwpnni Guwybunnipjuwly 400,000.0 - 400,000.0
dpwaqnh hwdwppbwbuwynpmd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 400,000.0 - 400,000.0

2450104 | 5 | 0 | Spwluwynpuwn 30,984,902.7 19,964,198.4 11,020,704.3
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwbuwnpun 20,485,501.8 10,464,797.5 10,020,704.3
wyn pynLd’
1. Uupuwyn-punnlyw swdlyh Ybpwlnpngnid 2,425,000.0 1,405,000.0 1,020,000.0
L wwhwwln g
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 1,405,000.0 1,405,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 1,020,000.0 - 1,020,000.0
2. Uuhwlwl qupquigdwl pwlyh 3,091,415.1 3,091,415.1 -
wowlgni pyudp hpwluiGuigynn pwinwpuyhl
qunquigdwl Gepnpnidughl
Spwaghp(wunndhpwldwé jhwgnpnipini GGEn)
- W 6wfuubin 4861 3,091,415.1 3,091,415.1 -
5. <Gwnhnuwnlb wlgnidGlph Yuwemgnid L 79,000.0 - 79,000.0
YGnwlnpngniJ
- GLlpbph L 2hOneyntG0bnph Yuwwhuwy yepwbnpngnid 5113 79,000.0 - 79,000.0
6. Ywinpouyhl Yurenigdwdéplbph 390,000.0 90,000.0 300,000.0
YGpwlhwigand b wwhwwlmd
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 300,000.0 - 300,000.0
8. Uuwypninplbiph L thnnnglbph 471,113.3 - 471,113.3
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 371,113.3 - 371,113.3
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- GLlpbnh L 2hOneyntGOEnph Yuwwhunwy yepwbnpngnid 5113 100,000.0 - 100,000.0
9. ®nnnglbiph wwhwwinid by ;whwgnpénid 1,218.3 1,218.3 -
- EGGpgbuinhy swrwynipnLbGbp 4212 868.3 868.3 -
- Ywuwh SwrwjnipnLtGbn 4214 350.0 350.0 -
10. UdwinnbyuywGunnbtnh Yuquiwlbnwdwl 428,034.0 428,034.0 -
Swpuyntpnt o
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 68,034.0 68,034.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- Uj) Swiuubn 4861 360,000.0 360,000.0 -
11. BapwhwppwlGbph Yuenignid 100,000.0 - 100,000.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 100,000.0 - 100,000.0
12. Uuhwlwl qupquigdwl pwllyh 1,171,420.4 1,171,420.4 -
wowljgni prudp hpwilquiGuigynn puinuwpuyhl
quinquigdwl Gpnpn duyhb épwgph
hwdwywpqmd L juewywpnid
(wuwwnyd hpuwiydwd (hugnpnipini GGGn)
- Wy 6wluutp 4861 1,171,420.4 1,171,420.4 -
13. ®nnnglbiph, hpwwwpwlbbph L uyghbbph 488,771.0 85,300.0 403,471.0
Yuhwynpnig
- EGGpgbuinhy swrwynipnLGGep 4212 22,300.0 22,300.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 63,000.0 63,000.0 -
wwhwwntd
- Wy dbpbawobp L uwppwynpniibbp 5129 403,471.0 - 403,471.0
14. Awlwuwwphuyhl Gpplbyni piwl 765,928.6 765,928.6 -
widwnwbqnipiuwl wwywhnynid b
dwlwwywpnhuwnpwluwnpuughl
wuwwnwhwplbph yuwlfuwpgbnd
(wuwwnyd hpuwiydwd (hugnpnipini GGGn)
- EGGpgbuinhy swrwynipnLGGep 4212 48,000.0 48,000.0 -
- Wy Swluutn 4861 717,928.6 717,928.6 -
15. Nawnwywl Grwlwlynipjwl 2,667,382.0 2,667,382.0 -
wywnnSwlwwwphGbph
hhoGwlnpngn d(wwwndhpwlyduwd
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 2,667,382.0 2,667,382.0 -
16. Spwluwnpunuyhl oplyunGlph 769,099.1 769,099.1 -
hhoGwinpngn U (wuiind hpuilyuwié
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 759,099.1 759,099.1 -
17. Spwluwnpuuwghl hwdwlwpgh 7,647,120.0 - 7,647,120.0
wpnhwluwlwgntJ
- Spwluwnpuwihb uwppwynnpniibbn 5121 7,647,120.0 - 7,647,120.0
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2455| 04 5 |flunnnyuwywwnuwihb L wy; tnpwbuwnpun 10,499,400.9 9,499,400.9 1,000,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 1,000,000.0 - 1,000,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 1,000,000.0 - 1,000,000.0
2. GpLlwlGh dawnpnwnhunbiGh wpfuunnwlplbnh 2,641,750.0 2,641,750.0 -
Juwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 2,641,750.0 2,641,750.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
3. dGpgbunlyw FGhunpwwnpwluwnpuinyg 628,000.0 628,000.0 -
nupbnpunhnfuwnpdwl éwewinipint
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 628,000.0 628,000.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
4. 6Yypnuwwluwib dhnipjuwl hwplbwbGni pjuwl 331,5618.9 331,5618.9 -
GGpnpntduyhl pwlyh wowlygnipiudp
hpwywbwgynn GplwGh dGwnpnuwnihunbGh
Ybnwlwenigdwl Gpypnpn npwdwGnphughl
Snwghp /wunnyd ppwilyywé (hugnpnipini 6GEp/
- Uj) Swiuubn 4861 331,518.9 331,518.9 -
5. GYypnwwiuil Gapnpniduyhl pwlyh 1,018,752.0 1,018,752.0 -
wowlygni pjuid) wlwGwagynn Gpluwl
dawnpnwn punblh JEpwlwemgdwa Enypnpn
Snwghp /wunnyd ppwilyywé (hugnpnipini G6GEp/
- W Swfuubin 4861 1,018,752.0 1,018,752.0 -
6. Gplwlbh dawnpnwnipunbiGh 4,000,000.0 4,000,000.0 -
Glopwlwenigdwdpllinh Ywemgnid
- Uj) Swiuubn 4861 4,000,000.0 4,000,000.0 -
7. GpLwGh dGwnpnwnihunbGh 879,380.0 879,380.0 -
Glopwlwenigdwdpllinh Gnpngnid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Uj) Swiuubn 4861 879,380.0 879,380.0 -

2470104 | 7 | 0 |Uy pOwqudwrObp 246,500.0 103,500.0 143,000.0
nphg’

2473\ 04 | 7 | 3 |2pnuwppontpintl 246,500.0 103,500.0 143,000.0
wyn pynLd’
1. 2pnuuippgnipjul quipquigntd 246,500.0 103,500.0 143,000.0
- SEnGYwuinywywh swewjnipyntGbbn 4234 17,000.0 17,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 63,000.0 63,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 13,500.0 13,500.0 -
Juaquwybpwnipyntbtphl
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
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- Wy dbpbawobp L uwppwynpniibtbp 5129 120,000.0 - 120,000.0
- Ng Gynipwywl hhoOGwywb shonglbp 5132 23,000.0 - 23,000.0

2490104 | 9 | 0 | SGwnbuwlwl hwpwpbpnpintGabp (wy (5,258,690.4) 1,403,316.2 (6,662,006.6)
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG (5,258,690.4) 1,403,316.2 (6,662,006.6)
swwuinywlnn)
wyn pynLd’
1. 2pnpG6ph wbnwnpnid 32,000.0 32,000.0 -
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 32,000.0 32,000.0 -
2. Upwilygnipini O hwdwylipuyhla 223,332.8 223,332.8 -
Ywqdwlbpuwnipin GGERHG
hninwnpyuwynpnipini GGGpH hGwn uwws
whyswp dweuwyntpintGGbph dwwnnigdwl b
qtipbquwliwwnbbph wwhwwlidwa hwdwn
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 207,873.6 207,873.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4637 15,459.2 15,459.2 -
hwdwyGpltbph ng wrbnpwihG
Juaquwybpwnipyntbtphl
3. Ywrpwdwpdwl L wnGnEyuwnywlwla 387,953.4 387,953.4 -
wbfulnnghwlbph qupquignid
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 387,953.4 387,953.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. Upwygnipini b hwduwylpuyhl L ng 240,000.0 240,000.0 -
hwiwyGpuyhl uqdwlbpwnipim Gabph
opwanbnph
- Uy pbpwghy npwiw0Gnphbtn 4639 100,000.0 100,000.0 -
- W Ywwhuwnwi npwdw0nphltn 4657 40,000.0 40,000.0 -
- LdhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 100,000.0 100,000.0 -
Juaquwybpwnipyntbtphl
5. N5 phbwluwluwl whyunhdlbph onnwpnidhg (6,662,006.6) - (6,662,006.6)
dnuunpbin
uucunNd ant3eh hPUsNtUhS UNtSLEN 8111 (1,460,000.0) - (1,460,000.0)
cunrguuuu ank3eh hPUusSNHUNS UNESLEN 8121 (2,000.0) - (2,000.0)
<N1h hPUSNHUNS UNESLEN 8411 (5,200,006.6) - (5,200,006.6)
6. SnGwlwl dbwynpmd 123,920.0 123,920.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 123,920.0 123,920.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
7. <wunwluwqdh wfuwwuwnpwundwl b 34,510.0 34,510.0 -

Yuquidwl wpfuwnwlplbbn
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- Untpuhnhwbp ng wGwnwywh (ng hwdwbpuwihb) ng 4521 34,510.0 34,510.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
8. Ubpnpniduyhl épwagpbiph hppwlwlwgnid 224,600.0 224,600.0 -
- SbnGYwuinywywh swrewjnieyntGbbn 4234 6,000.0 6,000.0 -
- Ywrwywnswlwb swewjnipntbGbbn 4235 8,000.0 8,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 5,000.0 5,000.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 205,600.0 205,600.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
9. <puwwnwwy (nidnid wwhwlgnn pGpwghly 137,000.0 137,000.0 -
upfuuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 137,000.0 137,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNrh mucsmuunt@3Ntu 10,754,330.8 9,015,319.5 1,739,011.3
wyn pynLd’

2510/05| 1 | 0 |Unpwhwlnd 5,350,374.3 5,304,399.3 45,975.0
nphg’

2511105| 1 | 1 [UnpwhwOntd 5,350,374.3 5,304,399.3 45,975.0
wyn pynLd’
1. Unpwhwlnipyntl b uwGhunwpwlywl 104,000.0 64,000.0 40,000.0
duwpnnid
- UndntGwy SwrwynipntbbBn 4213 7,000.0 7,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 50,000.0 50,000.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp neptn 4269 7,000.0 7,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 40,000.0 - 40,000.0
2. Unpwininbiph uywuwnpldwl b 231,511.0 231,511.0 -
2hbwpwpuwlywl wnph wnbnuhnfudwl
Swpuyntpnt GGG
- UndntGwy SwrwynipntbbBn 4213 231,511.0 231,511.0 -
3. «Gpliwlh wnpwhwbnipinib b 5,000,763.3 4,994,788.3 5,975.0
uwlhnwpwlulb dwppnidy hwdwyGpuyhl
hhdGwnplyp wwhwwGdwo swiuubin
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 3,084,820.0 3,084,820.0 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 97,636.3 97,636.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGep 4212 13,104.0 13,104.0 -
- UndntGwy SwrwynipntbbBn 4213 5,000.0 5,000.0 -
- Ywuwh SwrwjnipnLtGbn 4214 1,608.0 1,608.0 -
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- Uywhnjwgnwywb dwfuubin 4215 15,006.0 15,006.0 -
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,000.0 1,000.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 258.0 258.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 7,000.0 7,000.0 -
- UbpbOwObph L uwppwydnpnidbbph pbpwghy 4252 223,350.1 223,350.1 -
Gnpngntd b wwhwwGnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 4,750.0 4,750.0 -
- Spwluwnpuwihb Gnipkn 4264 1,187,805.9 1,187,805.9 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 500.0 500.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 350,000.0 350,000.0 -
- Mwpunwnhp y&wnobn 4823 2,950.0 2,950.0 -
- Jwpswywb uwppwynpniibbn 5122 500.0 - 500.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 5,475.0 - 5,475.0
4. «GpLwlh Ynywn puihnllGbph Ywewyuwpdwla 14,100.0 14,100.0 -
dnwaqghn» dpwgph powlwlyllpnd
UwuhwlnidGbph qény dwpnidlGeph
wnpwdwnnpnid
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 14,100.0 14,100.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2520105 | 2 | 0 | Ybnuwgnbph hbrwgnid 1,693,036.3 - 1,693,036.3
nphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 1,693,036.3 - 1,693,036.3
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhlywghnt guiligbph 1,693,036.3 - 1,693,036.3
Yupnignid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 1,693,036.3 - 1,693,036.3

2530105 | 3 | 0 |Cpowlw dhowduyph wnuinundwl nbd wwypwn 52,983.0 52,983.0 -
nphg’

2531(05| 3 | 1 |Onh wnununiwl nbd wwypwnp 52,983.0 52,983.0 -
wyn pynLd’
1. QGwnbiph hniGGph dwppmd 38,683.0 38,683.0 -
- UndntGwy SwrwynLpntbbEn 4213 38,683.0 38,683.0 -
2. Cpopwlw dhowduyph b1 onh wnuninundwl 14,300.0 14,300.0 -
nbd dhongwenidGbph hpwlwlwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 14,300.0 14,300.0 -

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 3,6567,937.2 3,6567,937.2 -
nwubphl swuwnluwbnn)
nphg’
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2561| 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 3,657,937.2 3,657,937.2 -
swwinywlnn)
wyn pynLd’
1. Ywlws wnwpwdplbph hhoGnid L 3,300,000.0 3,300,000.0 -
wwhwwbnig
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 3,300,000.0 3,300,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. Bunhwenn Y&aGnwahGbph Jowuwqbndnid 275,937.2 275,937.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywl 4511 275,937.2 275,937.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
5. Gplwlyw( 1Ah b1 <pwgnwlb gbinnh 82,000.0 82,000.0 -
plwwywhwwiwlwl wwpwnwwbntd &1 dwppnitd
- UndntGwy SwrwynipntblGn 4213 82,000.0 82,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuururnHe3NFL G4 3,039,099.1 2,519,099.1 520,000.0

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 897,665.8 397,665.8 500,000.0
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 897,665.8 397,665.8 500,000.0
wyn pynLd’
1. hapGwlwd urnyglabph pwannid 20,000.0 20,000.0 -
- Uj) Swiuubn 4861 20,000.0 20,000.0 -
2. 2nppnpn wuwnhAwlh Jpwpuyht 26Gpbph 7,920.0 7,920.0 -
pwlindwl hGwnbwlpny
plhwlwnwipwiénipim GGGphg gplyuwé
plwlhsGbph Ynnihg Jupdwluwyws
plwlwnwlGEph thnfuhwwnnigni d
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 7,920.0 7,920.0 -
3. 2nppnpn wuwnhAwlh Jpwpuihl 26Gpbph 500,000.0 - 500,000.0
pwlindwl hGwnbwlpny
plhwlwnwipnwiénipim GGGphg gplduws
plwlhsa6ph hnfuhwwnnigdwl hwiwpn
plwlupwlGbnph dGrppbpnid
- Gtlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
4. Ypwpuyhl 26Gplph Ypwplwlbgdwl 369,745.8 369,745.8 -
dpwaph hpwgdwl dhonguen dbn
- W Gwwuwnbbp pinuobihg 4729 369,745.8 369,745.8 -

264006 | 4 | O | @nnngltiph (ntuwydnpmd 2,105,983.1 2,105,983.1 -
nphg’

2641|/06 | 4 | 1 |®Onnnglbph |ntuwynpnid 2,105,983.1 2,105,983.1 -

wyn pynLd’
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2. Upwnwphl ntuwdnpnipiwl gulgh
2whwaqnpodwl L wwhwwGdwl

wpfuunnuwliplbin

2,065,804.8

2,065,804.8

- Untpuhnhwltp ng $hOwbuwywl wtnwyw
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

2,065,804.8

2,065,804.8

3. dGpnwlwenigdwl L qupqugdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nruwynpnipjuly npwdwGnphuyhl Spwghn
(wuinyhpwydwd jhwgnpnipini GG6n)

1,018.7

1,018.7

- W Swfuubin

4861

1,018.7

1,018.7

4. JGpwlwpenigdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjuly dpwghp (wuwwndhpwlydws

[hwqnpnipni GGER)

28,972.1

28,972.1

- W Swfuubin

4861

28,9721

28,9721

5. UnbLGywl G4nnwuyh Labpquifubuynnni pjuil
L plwwwhwwlGwlwl gnpéplybpni ppul
Hbnlnh wowlygni pypudp hpwlwawgynn
«Gplwlh punwpuyhl (niuwynpnipiuily
gpwdwGnphuyhl spwghp (wwandhpwlydwés
[hwqnpnipni GGER)

10,187.5

10,187.5

- W Swfuubin

4861

10,187.5

10,187.5

2650

06

Phwhwnwluyhl ;hlwpwpnipjwa b YndniGuy
SwreuynLpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwnwlplbn

20,000.0

20,000.0

nphg’

2651

06

POwywpwbwihb hGwpwnnipjwb L YyndntGuwy
SwrwjnLpntbbEph gény hunwgnunwyw L
Owfuwgbwihb wpfuwwnwbpbtbn

20,000.0

20,000.0

wyn pynLd’

1. CGaptinh L phGnipnt GGGph hGuwnwgnundwl
wpfuunnuwliplbin

20,000.0

20,000.0

- LwjuwgdwhbGunwgnunwywb dwiuutin

5134

20,000.0

20,000.0

2660

06

Phwhwnwluyhl ;hlwpwpnipjwa b YndniGuy
SweuynipyntGGEn (wy nwubphl swwnluwlnn)

15,450.2

15,450.2

nphg’

2661

06

POwywpwlwihb hbwpwnnipjwb L YyndntGuwy
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

15,450.2

15,450.2

wyn pynLd’

6. Ywpuwyunlbbph L gnypt; whwwlntd

15,450.2

15,450.2

- LOpwghy npwdwbnphbbp wewnwywb L
hwiwjopwht wrluinpwiht YuwqdwytpwneentGbsph

4638

15,450.2

15,450.2

2700

07

unnnUMULNHE3NEL

343,688.0

99,340.0

244,348.0

wyn pynLd’
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2710107 | 1 | 0 | AdoYuwlwl wypwapllp, uwppbp L 204,180.0 - 204,180.0
vwppwynpnidabp
nphg’

271107 | 1 | 1 |Ynwgnpéwywl wwpwbpbbn 204,180.0 - 204,180.0
wyn pynLd’
1. Urnnowwwhwlwl JuquwlybpwnipiniGGbph 204,180.0 - 204,180.0
hwdwn pdryuwlul uwppwynpmdblph b
gniph dGpppbpnid
- Wy dbpbawobp L uwppwynpniibbp 5129 204,180.0 - 204,180.0

2760|107 | 6 | 0 | Urnnowuwwhnipynil (wy nwubiphG 139,508.0 99,340.0 40,168.0
swunljwilinig)
nphg’

2761|07 | 6 | 1 |Urnnowwwhwywb hwpwyhg dwrwjnipntbbtn L 139,508.0 99,340.0 40,168.0
Spwgntip
wyn pynLd’
1. Upnnowwwhwlwl oplblunGlph 40,168.0 - 40,168.0
hhdGwGnpnqnid
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 40,168.0 - 40,168.0
2. MdYwnwidunsbrh hburnwgnunnipiniGG6ph 99,340.0 99,340.0 -
hpwlwlbwgnid
- Uwulwghunwywb swrwjnipjntbbbn 4241 99,340.0 99,340.0 -

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 7,706,117.5 6,293,366.1 1,412,751.4
wyn pynLd’

281008 | 1 | 0 |<whquwnh L uwynpwnh SwewynipinGGGn 3,602,393.4 2,529,642.0 1,072,751.4
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGep 3,602,393.4 2,529,642.0 1,072,751.4
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 256,800.0 256,800.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 185,300.0 185,300.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 15,500.0 15,500.0 -
- Unppwlw(, dowyntpwihb L uynpunwihb GwywuwnGbp 4727 40,000.0 40,000.0 -
pintetihg
- LuhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 16,000.0 16,000.0 -
Juaquwybpwnipyntbtphl
2. L<wliquinh gnunnhlGbph L gpnuuyghlGbph 1,145,593.4 72,842.0 1,072,751.4
Ywenignid n wwhwwlnid
- EGGpgbuinhy swrwynipnLGGep 4212 39,000.0 39,000.0 -
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- UndntGwy SwrwynipintbbBn 4213 8,000.0 8,000.0 -
- Uyl pbpwghy npwiw0Gnphbtn 4639 25,842.0 25,842.0 -
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 36,936.0 - 36,936.0
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 1,035,815.4 - 1,035,815.4
3. Gpluwlh priuwpwlwluwl uygnt 2,200,000.0 2,200,000.0 -
wnwpwdpmn d whwnwewwnipwlh
Ywpn guwuwiindwl wpfuwinwaplbn
- Uj) Swiuubn 4861 2,200,000.0 2,200,000.0 -

2820|108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGabp 4,083,135.1 3,743,135.1 340,000.0
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 313,100.8 273,100.8 40,000.0
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGaEn 273,100.8 273,100.8 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 273,100.8 273,100.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. QnuinuwpwlGbph hwdwp wohpwdbun 40,000.0 - 40,000.0
qniph dGep papnid
- Ng Gynipwlwl hhoOwywb shonglbp 5132 40,000.0 - 40,000.0

2822|108 | 2 | 2 |(Bwlqwpwbbbn L gnigwupwhbbn 360,301.0 360,301.0 -
wyn pynLd’
1. Pwlqupwluyhl Swewyntpim GGEn L 360,301.0 360,301.0 -
gnigwhwinbulbp
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 360,301.0 360,301.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 [Uwyniph inbbn, wynidpdtn, YebwnpnbGenp 40,832.9 40,832.9 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 40,832.9 40,832.9 -
Yuqdwlbpwnid
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 40,832.9 40,832.9 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 2,454,404.8 2,454,404.8 -
wyn pynLd’
1. Vpwlynipuyhl dhongwenidabph 2,024,500.0 2,024,500.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,659,500.0 1,659,500.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 365,000.0 365,000.0 -
Juaquwybpwnipyntbtphl
2. YGhnwlwpwlwlwl wigm 429,904.8 429,904.8 -
gnigwnpnipnLGGGn
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- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 429,904.8 429,904.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2825/08| 2 | 5 |UpyLuwn 914,495.6 614,495.6 300,000.0
wyn pynLd’
1. Gpuwdrwnwnybuwnp L wwpwpdbuwnh 153,234.6 153,234.6 -
hwdbnpqlbp
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 153,234.6 153,234.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Bunbpwlwl Gapyuywgnidabn 461,261.0 461,261.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 461,261.0 461,261.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
3. BunpnlGbph hhdGuwlnpngnid 300,000.0 - 300,000.0
- GLlpbph L 2hOneyntGbbnph Yuwwhuwy yepwbnpngnid 5113 300,000.0 - 300,000.0

2840/08 | 4 | 0 | Ypnbwlwl b hwuwpwluwlwl wyy 20,589.0 20,589.0 -
SweuynLpynLGGEN
nphg’

2841/08| 4 | 1 |Ephvnwuwpnwywb 6pwgnkp 3,000.0 3,000.0 -
wyn pynLd’
1. Eppurnwuwnnulwl shonguwenidGbnh 3,000.0 3,000.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipjntbbbn 4241 1,000.0 1,000.0 -

2843|08 | 4 | 3 |UpnGwywl L hwuwpwywywb wy Swewntpyntblbn 17,589.0 17,589.0 -
wyn pynLd’
1. UGnwdwlygnt piul Awnpbbn 17,689.0 17,689.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 17,589.0 17,589.0 -
Juaquwybpwnipyntbutphl

2900(09|0 | O uPENH33NHL 25,387,208.7 24,993,353.4 393,855.3
wyn pynLd’

2910109 | 1 | 0 | bwfuwnuwpngwlw L wnwppwlwa pGnhwnin 13,073,239.2 12,923,239.2 150,000.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 5,310,767.2 5,160,767.2 150,000.0
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 233,262.6 233,262.6 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 2,200.0 2,200.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 231,062.6 231,062.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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2. Lwfuw ngwlwl ntuntgdwl
Lwquiwlbnwiwl hwdwn wGhpwdbw gniph

dbrp pbpnid

680,000.0

530,000.0

150,000.0

- <wwnnty Gwwuinwywihb wyp neptn

4269

30,000.0

30,000.0

- W Ywwhunwi npwdw0nphltn

4657

500,000.0

500,000.0

- Wy dbpbawobp L uwppwynpniibtbp

5129

150,000.0

150,000.0

3. Lwfuwi ngwlwl nLpjwl
hwuwGb pmpjwa b npwyh wwwhnydnid
(wuinyhpwdwd jhwgnpnipini GG6n)

22,719.2

22,719.2

- Untpuhnhwltp ny $hOwbuwywl wtnwywl
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

22,719.2

22,719.2

4. Unghwywyw npn) fjudpbph 1.5-5
wnwnblwl Gpbluwlbph Gwuwnuwpngulwl
Yppnipiwl wwwhnynid /yuwundhpwlyduws
[hwqnpnipini GGGp/

668,844.2

668,844.2

- W Gwwuinbbp pinuotihg

4729

668,844.2

668,844.2

5. Newnwluwl wowlgnipjuwdp hpwlwlwgynn
Guwfuw ngwlywl ntuntdGuiuwla
hwuwnuinnipint GaGph Yuenignid i

hhdGwGnpnqnid

3,691,770.4

3,691,770.4

- W Swfuubin

4861

3,691,770.4

3,691,770.4

6. Vwulwahunwlwl qupquigiwl b
Ywndwinpni pjuil thnfujuwwwlgywd
hwdwlwpgh GEpnpnd Gwiuwnupnguluwl
hwuwnuwiinnpynt GGGph dwlyuwduwnpdGbphl
wnwnwlwnpgh 2Gnphdwl gnpdplpuwgh
Uhgngny/wunyppwlyywd jhwgnpnipini GaGn/

8,280.0

8,280.0

- W Gwwuinbbp pinuotihg

4729

8,280.0

8,280.0

7. bwfuwnuwnpnguwlwl dpwapbn

hpnwlwGwglnn niun dGwluwl
hwuwnuinnipint GaGph dwbluwywndabnh
YEpwwuwwnpwuwnnd (wuwandppwlyduwéd

[hwqnpnipni GGER)

5,890.8

5,890.8

- W Gwwunbbp pinuobihg

4729

5,890.8

5,890.8

2912

09

Swppwywb pGnhwbnip Ypenipntl

7,762,472.0

7,762,472.0

wyn pynLd’

1. <wlpwlyppwlwl ntunignid

7,762,472.0

7,762,472.0

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

7,762,472.0

7,762,472.0

2920

09

Uholwlunpg pGnhwGnip Yppnipini

10,226,675.2

10,226,675.2

nphg’

2921

09

<hobwywb parhwnip Ypenepjne

9,927,183.0

9,927,183.0

wyn pynLd’

57




1Y
Pwdh

Snnh
hunip

Thuu

Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

1. <wlpwyppwlwl niunignid

9,527,499.4

9,527,499.4

- Untpuhnhwtp ng $hOwbuwywl wtnwywl
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

9,5627,499.4

9,5627,499.4

2. Phwqhunwlul ninpunh wpwpluwlbbn
nuuwywannn nruntghsGbpht hwybjwyswph
wpwdwnpmd (wndhpuwldws

[hwqnpnipni GGER)

399,683.6

399,683.6

- W Gwwuinbbp pinuobihg

4729

399,683.6

399,683.6

2922

09

Uhglwluwng (iphy) panhwbnip Ynpnipjnil

299,492.2

299,492.2

wyn pynLd’

1. <wlpwyppwlwl niunignid

299,492.2

299,492.2

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

299,492.2

299,492.2

2950

09

Luwn dwwpnuyGbph snwuwluwpgdnn
Uppnipyntl

1,226,676.9

1,128,807.9

97,869.0

nphg’

2951

09

Upunwnwnngwywl nwuwnhwpwynteinta

1,226,676.9

1,128,807.9

97,869.0

wyn pynLd’

1. Upwnw ngwlwl nwuwnhwpwlynipini

1,052,412.9

1,052,412.9

- EGGpgbuinhy swrwynipnLGGen

4212

7,929.2

7,929.2

- Untpuhnhwlbp ng $hOwbuwywl wtnwywl
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

1,044,483.7

1,044,483.7

2. Upunwnwpnguluwl
Yuqdwlbpwni pini GaEph hwdwp wihpwdtun

gnyph dtrp ppmid

97,869.0

97,869.0

- Wy dbpbawobn L uwppwynpniibbp

5129

97,869.0

97,869.0

3. «<wlynp Ynomwly Yppwhwdwipp MNUY-
nLd wpunw ngwlwl nwuwnhwnpwlyni pjwl
Ywqdwlbpunmd (wuwndhpwldwoé
[hwqnpnipni GGER)

6,793.0

6,793.0

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

6,793.0

6,793.0

4. Gpwdrwnwywl L wpdbuwnh nupnglbpnid
wqquyhl jwpuyhl L thnnuyhl Gdwquinwbbabnh
qény ntunignid

60,353.9

60,353.9

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

60,353.9

60,353.9

5. Ywdwynp wnbuwnwynpdwl Gnp
hwdwlwpgh Gepnpntd” ninnywé
wnunwnupnguwywl niun dowluwl
hwuwnuinnipynt GGGph dwlyuwdwpdwlwl
wpfuwinnnlbiph npwlyh pwpdpwgdwln
(wuinyhpwydwd jhwgnpnipinGG6n)

9,248.1

9,248.1
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- W Gwwunbbp pinuobihg 4729 9,248.1 9,248.1 -

2960|109 | 6 | 0 | Yppnpywlp wpwdwnpynn odwlnwy 860,617.4 714,631.1 145,986.3
SweuynLpynLGGEN
nphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy SwrwjnipntbGbbn 860,617.4 714,631.1 145,986.3
wyn pynLd’
1. Lwfuuwi nguwlwl hwuwnuwiinnipint GGG 11,986.3 - 11,986.3
Ywpnignid L JGpwlnpngnid
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 11,986.3 - 11,986.3
2. Mypngulwblbph ojhdwhwnwlbph b wyy 74,000.0 74,000.0 -
Uhongwpem dG&ph uquiwlbpwni g
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 74,000.0 74,000.0 -
3. Uwnbuwnwynpdwl dhongny npwlwynpnid 37,662.2 37,662.2 -
unuwiguid niunighslGphl hwbywdAwiplbnh
wpwdwnan 0 (wuwwndppwldwo
[hwqnpnipni GGER)
- W Gwwuinbbp pinuotihg 4729 37,662.2 37,662.2 -
4. <wipwyppwlwl hhdGwlwl épwgpbn 14,104.7 14,104.7 -
hpwlwbwglnn niuntdGwlwl
hwuwnuinnipint GaGph hbppwlwa
wwnbunwynpiwl GGpwlw ntunighsGph
YGpwwuwwnpwuwnn d (wundhpwldwé
[hwqnpnipni GGER)
- Ui Gwwuwnlbp pjnietihg 4729 14,104.7 14,104.7 -
5. Ywdwynp wnbuwnwynpdwl hwdwlwngh 588,864.2 588,864.2 -
GGpnpnid” minnywd nrunighsGbph npwyh
pwndnwagdwln
- W Gwwuinbbp pinuobihg 4729 588,864.2 588,864.2 -
6. <wlpwyppwlwl hwuwnwwnnipini GaEph 134,000.0 - 134,000.0
hhdGwGnpngnid L JGpwGnpngnid
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 134,000.0 - 134,000.0

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 1,905,336.0 1,895,836.0 9,500.0
wyn pynLd’

304010 | 4 | 0 | LOawnwGhph wonwoabn L quywllbn 9,600.0 5,600.0 4,000.0
nphg’

3041110| 4 | 1 |COnwOhph winwabbn L quywybtn 9,600.0 5,600.0 4,000.0
wyn pynLd’
2. Vpwhynipuyhl L Yppwlwl dhonguentdbabn 3,300.0 3,300.0 -
Yuwlph nddwphl hpwypswlynid huyunGyws
GpGfuwbtiph hwdwn
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 3,300.0 3,300.0 -
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Pwdh

Snnh
hunip

Thuu

Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

3. Gpbfuwlbphl wowlygdwl Gwuwnwlyny
hunnntly ublyulyGph unbndmd Gpluwl
pwnuwph Jupswluwl powlabpmd

5,800.0

1,800.0

4,000.0

- Ywrwywnswywb swewjnipntbGbbn

4235

1,800.0

1,800.0

- Jwpswywb uwppwynpniibbn

5122

4,000.0

4,000.0

4. <wlpwyppuwlywl nupnglbnn J Gpbluwlbbph
hpwyniGplliph JGpwpbpuwy
hpwqbydwéni ppul pwpdpwgnid

500.0

500.0

- Ywrwywnswywb swewjnipntbGbbn

4235

200.0

200.0

- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn

4239

300.0

300.0

3070

Unghwjwluwl hunnty wpuinnGnipintGGE (wyy
nwubphl swuwnluwbnn)

133,224.0

127,724.0

5,500.0

nphg’

3071

Unghwjwyw0 hwunnty wpunnGnegntGbbn (wyg
nuwubphb swywunywbnn)

133,224.0

127,724.0

5,500.0

wyn pynLd’

1. GpLwl punwpnd Gpbfuwlbph L
unghwywlwl wwpwnwwbnippuwl npnpunntd

G6pnpywo Gnp hwdwlwpgh wpni Gwluwljwa

quipquigntd " wpryntGwdbun Ywewywpdwl

Owuwinwyny

5,000.0

5,000.0

- Uluwwnwywgih dwubwghunwywb qupgugiwl
SwrwjnLpnLbbEn

4233

5,000.0

5,000.0

3. <wuwnpwluwlwl quqdwlybpuwnipini GGGphG

wouwlgnipint G

42,000.0

42,000.0

- LuhpwwnynipyntbGbp wy whniyp shGunwwGnnn
Juaquwybpwnipyntbtphl

4819

42,000.0

42,000.0

4. Swppbp unghwywlwb fudpbph hwdwnp
Gnlbwl hwdwyGpn d npwlywy unghwjwluwl
Swpuynipynt G0Gph Yuqdwybnwnid

29,224.0

29,224.0

- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn

4239

20,224.0

20,224.0

- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b
wwhwwntd

4251

9,000.0

9,000.0

6. Gplwl pwnwpntd hwdwylGpuyhla
unghuywlwl dwpwynipini G0Gph GEpnGnid L
hpwlwlbwgnid

7,000.0

7,000.0

- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn

4239

7,000.0

7,000.0

7. Upunwluwing ppwdhAwlGbpnid b
Ldwlwwnpy wy nGupbpnid wiph ndduwphla

hpwyhswylEpnid huyunGywd wadwlg b
pawnwbhphlGbphl wowlygnipiniG

20,000.0

20,000.0

- Ushgwnuwihb L hwbpwhG ubbnh 0NN

4267

20,000.0

20,000.0

8. Gpluwl punuwph unghwywlwlb
wowlgnipywl Yapwpbnw; ywdwynp
fuGnhplbph (niddwll ninnywdéd
UhongwenidGbn

19,000.0

13,5600.0

5,500.0

60




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,500.0 1,500.0 -
- W Gwwuinbbp pinuobihg 4729 8,000.0 8,000.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 5,500.0 - 5,500.0
9. Unghwjwlwl wowlygnipjwl Yuphp 11,000.0 11,000.0 -
nLGbgnn plunwGhplbphl Yuynt b Ghwdniwn
wwwhnybynt Gwunwny qpunywénipjwl
Snwgnpbipp yuqdwlybpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 11,000.0 11,000.0 -

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 1,762,512.0 1,762,512.0 -
nwubphl swuwnluwbnn)
nphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 1,762,512.0 1,762,512.0 -
odwlnwy dwrwnipintbbtn (wy; nwuknhl
swwinywlnn)
wyn pynLd’
1. MGwnwlwl hhdGwpllph L 666,792.0 666,792.0 -
Ywquiwlbpuwnipint6G6pH wfuwnnnlbnh
unghwywywl thuwpbpny wwwhnynid
(wuwwnyd hpuwiydwd (hugnpnipini GGGn)
- W Gwwuinbbp pinuotihg 4729 666,792.0 666,792.0 -
2. Uennontpjwl wwwhndwapnipint 1,095,720.0 1,095,720.0 -
- Uywhnjwgnwywb dwfuubin 4215 1,095,720.0 1,095,720.0 -

3100{11|0 | O <hULuUyUL PUGhLLENPL 2UUYNN 8,548,455.9 24,384,627.7 1,100,000.0

nuU{NFUSU3hL dNuIEN

wyn pynLd’

3110111 | 1 | 0 | << qurwdwpnipywl L hwdwylGplbph 8,548,455.9 24,384,627.7 1,100,000.0
wwhniuwnuyhl pnhn
nphg’

3112{ 11| 1 | 2 | << hwidwbpltph wwhniunwhG $nln 8,548,455.9 24,384,627.7 1,100,000.0
wyn pynLd’
- MwhntuwnwihG dhengGbn 4891 8,548,455.9 7,448,455.9 1,100,000.0
-{wunyuwgned wwhrunwhb $nlnhg $nlnuwhb pjniok X - 16,936,171.8 -
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Unyntuwy 2

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

uauou3uy JduNr2uuuu crRULh yuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
LLNUUBLE SUUBP 3,670,318.7 3,016,163.6 654,155.1
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 503,279.1 480,279.1 23,000.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 493,779.1 478,779.1 15,000.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 493,779.1 478,779.1 15,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 493,779.1 478,779.1 15,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 409,778.2 409,778.2 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 12,375.4 12,375.4 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 10,526.8 10,526.8 -
- UndntGwy SwrwynipntbbBn 4213 1,001.3 1,001.3 -
- Ywuwh SwrwjnipnLtGbn 4214 10,154.4 10,154.4 -
- Uywhnjwgnwywb dwfuutin 4215 861.0 861.0 -
- Ywnswywl Swewjnipntbbbn 4231 300.0 300.0 -
- {wiwywngswihb SwrewjnipynLblbn 4232 200.0 200.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 500.0 500.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipntbbn 4241 600.0 600.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 6,000.0 6,000.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 3,000.0 3,000.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Spwluwnpuwihb Gjnipkn 4264 16,640.0 16,640.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Mwpunwnhp y&wnobn 4823 842.0 842.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 15,000.0 - 15,000.0
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 8,000.0 - 8,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 8,000.0 - 8,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 8,000.0 - 8,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 8,000.0 - 8,000.0
2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 1,500.0 1,500.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,500.0 1,500.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnLdGbp, hwyigunhdnidlbp, nunwpwiGh 500.0 500.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 500.0 500.0 -
2. Qnuyph GLundwdp hpwyniGplbph 1,000.0 1,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -
2200(02|0 | 0 nuUCSMULNHB3NFL 1,000.0 1,000.0 -
wyn pynLd’
2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 1,000.0 1,000.0 -
nphg’
2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pynLd’
1. 2hGwwwpunGbiph hwyJwedwl, gnpwlynsh, 1,000.0 1,000.0 -

gnpwhwywph b Jupdwlwlb hwywplbbph
JuqiwlbnwdwOa wowlgnipin
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 1,000.0 1,000.0 -

2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 249,000.0 219,000.0 30,000.0
wyn pynLd’

2420|104 | 2 | O | Ynuquuwnluwnbunipnt G, whwnweuyhl 10,000.0 - 10,000.0
wnbwnbunipinil, d4Gnpunipinl L
npunpnnLpinLG
nphg’

2424|104 | 2 | 4 |Nengnud 10,000.0 - 10,000.0
wyn pynLd’
1. Nenquwl gulgh Yuenignid L 10,000.0 - 10,000.0
YGnwlnpngniJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 10,000.0 - 10,000.0

2450104 | 5 | 0 | Spwluwynpuwn 201,000.0 181,000.0 20,000.0
nphg’

2451|104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 191,000.0 181,000.0 10,000.0
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 118,000.0 118,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 118,000.0 118,000.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 30,000.0 30,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 30,000.0 30,000.0 -
Ybpwlwenignid L hhdGwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
11. BapwhwppwlGbph Yuenignid 1,000.0 1,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 1,000.0 1,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwpwlyGbph L uyghliiph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobn L uwppwynpniibtbp 5129 10,000.0 - 10,000.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 10,000.0 - 10,000.0
wyn pynLd’

64




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

1. dbpGjwlyGbph hhdGwlnpngnid 10,000.0 - 10,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 10,000.0 - 10,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,000.0 38,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 38,000.0 38,000.0 -
swwuinywlnn)
wyn pynLd’
9. <puwwnwwy (nidnid wwhwlgnn pGpwghly 38,000.0 38,000.0 -
upfuuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 38,000.0 38,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNrh mucsmuunt@3Ntu 60,000.0 - 60,000.0
wyn pynLd’

2520105 | 2 | 0 | Ybnuwgnbph hbrwgnid 60,000.0 - 60,000.0
nphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 60,000.0 - 60,000.0
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhlywghnt guiligbph 60,000.0 - 60,000.0
Yupnignid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 60,000.0 - 60,000.0

2600(06| 0 | O pLULUNULUSHL ChuUuNruQrnHe3NFL B4 634,155.1 105,000.0 529,155.1

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2640|06 | 4 | 0 | @nnnghtiph ntuwynpnid 5,000.0 5,000.0 -
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynnpnid 5,000.0 5,000.0 -
wyn pynLd’
2. Unwnwphl ntuwdnpnipiwl gulgh 5,000.0 5,000.0 -
2whwagnpédwl L wwhwwGdwl
wpfuunnuwliplbin
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 5,000.0 5,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 629,155.1 100,000.0 529,1565.1
SweuynipyntGGEn (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 629,155.1 100,000.0 529,155.1

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. Pwquiwpbwluwpwl 26Gpbph hwpp 15,000.0 15,000.0 -
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 15,000.0 15,000.0 -
2. Pwquiuwpbwluwpwl 26Gpbph pbip 15,000.0 15,000.0 -
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 15,000.0 15,000.0 -
3. Pwluyhl tnwipwdépllinh b 560,155.1 31,000.0 529,155.1
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 31,000.0 31,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntG0Enph Yuwwhuwy yepwbnpngnid 5113 500,155.1 - 500,155.1
- Wy dbpbawobp L uwppwynpniibbp 5129 29,000.0 - 29,000.0
4. Puqidwplwluwpwl 26Gpbnh pwpblwnqdwl 39,000.0 39,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 27,000.0 27,000.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 12,000.0 12,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 271,787.8 271,787.8 -
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnp L uynpunh 6wrwynipiniGabn 34,500.0 34,500.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwnipntbGbp 34,500.0 34,500.0 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 8,500.0 8,500.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 8,500.0 8,500.0 -
2. <wlquinh gnunhlGbph L gpnuuyghlGbph 26,000.0 26,000.0 -
Ywenignid n wwhwwlnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 26,000.0 26,000.0 -
wwhwwntd

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGabp 237,287.8 237,287.8 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 85,568.9 85,568.9 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 85,568.9 85,568.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 85,568.9 85,568.9 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2823| 08 3 |Uwynyph inlbtkn, wynidpdtn, YebunpnbGep 126,168.9 126,168.9 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquiun dwdwlgh 126,168.9 126,168.9 -
Yuqdwlbpwni d
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 126,168.9 126,168.9 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 25,550.0 25,550.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 25,650.0 25,5650.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 20,000.0 20,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 5,550.0 5,550.0 -

2900(09|0 | O urPENH33NHL 1,910,596.7 1,910,596.7 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,559,194.7 1,559,194.7 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,5659,194.7 1,5659,194.7 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 1,559,194.7 1,559,194.7 -
- Untpuhnhwlbp ng $hOwbuwywl wtnwywl 4511 1,559,194.7 1,559,194.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 351,402.0 351,402.0 -
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 351,402.0 351,402.0 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 351,402.0 351,402.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 351,402.0 351,402.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsSMULNH33NFL 40,500.0 28,500.0 12,000.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 1,820.0 1,820.0 -
nphg’

3031110 | 3 | 1 |<wpwqwuhb Yynpgnwé whdhGp 1,820.0 1,820.0 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

1. <wpwqun snLGGgnn wGdwag 1,820.0 1,820.0 -
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 1,820.0 1,820.0 -

304010 | 4 | 0 | LOawnwGhph wonwoabn L quywllbn 3,800.0 3,800.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 3,800.0 3,800.0 -
wyjn pyntd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 3,800.0 3,800.0 -
wupwnuwbnipint G
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,800.0 3,800.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipint GGG (wyy 34,880.0 22,880.0 12,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 34,880.0 22,880.0 12,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 22,400.0 22,400.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 6,900.0 6,900.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 7,200.0 7,200.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 7,300.0 7,300.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -
3. <wuwpwluwlywl Yugdwlbpuwnipint GGGphG 480.0 480.0 -
wouwlgnipint G
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 480.0 480.0 -
Juaquwybpwnipyntbutphl
5. Puqiwquiduwly, Gppunnwuwpn b wyy 12,000.0 - 12,000.0
[udpbphl wunnlwGnn plunwlhplbphl
wouwlgnipint G
- Wy ubpbawobp L uwppwynpniibtbp 5129 12,000.0 - 12,000.0
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Unyntuwy 3

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL

oulutNrh

udyuu Jyun2uuuu crauuh vuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 1,777,814.2 1,512,300.3 265,513.9
2100{01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 385,481.4 374,081.4 11,400.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 378,481.4 373,081.4 5,400.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 378,481.4 373,081.4 5,400.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 373,481.4 368,081.4 5,400.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 312,184.6 312,184.6 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 10,226.0 10,226.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 15,500.0 15,500.0 -
- UndntGwy SwrwynipntbbBn 4213 1,000.0 1,000.0 -
- Ywuwh SwrwjnipnLtGbn 4214 5,100.8 5,100.8 -
- Uywhnjwgnwywb dwfuutin 4215 400.0 400.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 100.0 100.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 3,500.0 3,500.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 2,000.0 2,000.0 -
- Spwluwnpuwihb Gnipkn 4264 11,440.0 11,440.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Mwpunwnhp y&wnobn 4823 630.0 630.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,000.0 - 5,000.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 400.0 - 400.0
2. Ywpswluwl opylyuinGlph uenignid L 5,000.0 5,000.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 6,000.0 - 6,000.0
SwreuyntpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 6,000.0 - 6,000.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 6,000.0 - 6,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 6,000.0 - 6,000.0

2160|01| 6 | O | 2anhwanip pGnyph hwapuyhl 1,000.0 1,000.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,000.0 1,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. 2hdnidGbp, huwygunhdnidabp, nuwunwpwlbh 400.0 400.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 400.0 400.0 -
2. Qnyph Gyundwdp hpwyniGplbph 600.0 600.0 -
qpuilguwl, quwhwwndwl b
wnbnbyunyni piul tnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 600.0 600.0 -

220002/ 0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’
1. 2hGwwwpunGbiph hwyJwedwl, gnpwlynsh, 1,500.0 1,500.0 -

gnpwhwywph b Jupdwlwlb hwywplbbph
JuqiwlbnwdwOa wowlgnipin
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 1,500.0 1,500.0 -
2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 100,500.0 88,500.0 12,000.0
wyn pynLd’
2450104 | 5 | 0 | Spwluwynpuwn 83,500.0 71,500.0 12,000.0
nphg’
245104 | 5 | 1 |Swlwwwphwhb npwbuwnpun 81,500.0 71,500.0 10,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 56,500.0 56,500.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 56,500.0 56,500.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
8. UwypninhlGph L thnnnglbph 5,000.0 5,000.0 -
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
13. @nnnglbiph, hpwwwpwlbbph L uyghbbph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobn L uwppwynpniibbp 5129 10,000.0 - 10,000.0
245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnpun 2,000.0 - 2,000.0
wyn pynLd’
1. dbpGjwlyGbph hhdGwlnpngnid 2,000.0 - 2,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 2,000.0 - 2,000.0
2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 17,000.0 17,000.0 -
nwubphl swuwnluwbnn)
nphg’
2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 17,000.0 17,000.0 -
swwuinywlnn)
wyn pynLd’
9. <punwwy (i dnid wwhwlgnn pGpwghly 17,000.0 17,000.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 17,000.0 17,000.0 -
2600/06|0 | O pLULUNULUSHL ChuuNurnHe3NFL B4 352,613.9 113,000.0 239,613.9

unUNFLUL dunuanke@3NtuLEN

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b YndniGuy 352,613.9 113,000.0 239,613.9
SwewynipynGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 352,613.9 113,000.0 239,613.9
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 55,000.0 55,000.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 55,000.0 55,000.0 -
wwhwwlntd
3. Pwluyhl tnwipwdpllinh L 257,613.9 18,000.0 239,613.9
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 18,000.0 18,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 234,613.9 - 234,613.9
- Wy dbpbawobp L uwppwynpniibbp 5129 5,000.0 - 5,000.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 40,000.0 40,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 40,000.0 40,000.0 -
wwhwwntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 63,621.2 63,621.2 -
wyn pynLd’

2810/ 08 | 1 | 0 |<whquuwnh L uynpunh éwrwynipiniGabn 4,000.0 4,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGbp 4,000.0 4,000.0 -
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 4,000.0 4,000.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,000.0 4,000.0 -

2820108 | 2 | 0 |Vpwlnipuyhl swruwynipintGabp 59,621.2 59,621.2 -
nphg’

2821108 | 2 | 1 |Qpwnwpwdbn 12,5625.7 12,5625.7 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 12,625.7 12,625.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 12,5625.7 12,5625.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnaGenp 21,095.5 21,095.5 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. <wduylpuyhl dpwlynyph L wquiun dwdwlgh 21,095.5 21,095.5 -
Yuqdwlbpwni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 21,095.5 21,095.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 26,000.0 26,000.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwenidabph 26,000.0 26,000.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 22,000.0 22,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 4,000.0 4,000.0 -

2900(09|0 | O urPENH33NHL 854,797.7 854,797.7 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 663,028.0 663,028.0 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 663,028.0 663,028.0 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 663,028.0 663,028.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 663,028.0 663,028.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 191,769.7 191,769.7 -
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 191,769.7 191,769.7 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 191,769.7 191,769.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 191,769.7 191,769.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 19,300.0 16,800.0 2,500.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 1,000.0 1,000.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wbdhbp 1,000.0 1,000.0 -
wyn pynLd’
1. <wpwqun snLGGgnn wGdwag 1,000.0 1,000.0 -
hninwpywynpm pjwl uqdwybnwnid
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

3040(10 0 | LOanwbhph wanwdabp L quywlylbn 3,800.0 3,800.0 -
nphg’

3041{10 | 4 | 1 |COnwOhph wOnwdbbp L quywyobn 3,800.0 3,800.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 3,800.0 3,800.0 -
wupwnuwbnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,000.0 2,000.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 1,800.0 1,800.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnnty wpuinnbGnipiniGGEn (wyy 14,500.0 12,000.0 2,500.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 14,500.0 12,000.0 2,500.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 8,000.0 8,000.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwljwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,000.0 4,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwntd
5. Puqiwquiduwly, Gppunnwuwpn b wyy 6,500.0 4,000.0 2,500.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwlntd
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 2,500.0 - 2,500.0
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Unyntuwy 4

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

urupypp JuM2uuuu crRULh vuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 3,284,479.6 2,594,354.3 690,125.3
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 618,524.5 607,679.5 10,845.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 610,024.5 607,179.5 2,845.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 610,024.5 607,179.5 2,845.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 610,024.5 607,179.5 2,845.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 497,205.8 497,205.8 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 17,244.0 17,244.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 35,912.2 35,912.2 -
- UndntGwy SwrwynipntbbBn 4213 1,197.4 1,197.4 -
- Ywuwh SwrwjnipnLtGbn 4214 7,199.4 7,199.4 -
- Uywhnjwgnwywb dwfuutin 4215 520.0 520.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 220.0 220.0 -
- {wiwywngswihb SwrewjnipynLblbn 4232 684.0 684.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 1,000.0 1,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 3,000.0 3,000.0 -
- Uwubwghunwywb swrwjnipntbbtn 4241 1,513.0 1,513.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 8,500.0 8,500.0 -

Gnpngntd b wwhwwOnid
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

- Qpwubwyuwh Gniebp LW hwgniuwn 4261 3,467.7 3,467.7 -
- Spwluwnpuwihb Gnipkn 4264 18,818.8 18,818.8 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,875.2 2,875.2 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,100.0 1,100.0 -
- Mwpunwnhp y&wnokn 4823 722.0 722.0 -
- Uj) Swiuubn 4861 4,000.0 4,000.0 -
- Jwpswywb uwppwynpniibbn 5122 2,845.0 - 2,845.0

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 8,000.0 - 8,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 8,000.0 - 8,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 8,000.0 - 8,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 8,000.0 - 8,000.0

2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 500.0 500.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 500.0 500.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnLdGbp, hwyigunhdnidlbp, nunwpwiGh 200.0 200.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 200.0 200.0 -
2. Qnyph Gyunduwdp hpwyniGplbph 300.0 300.0 -
qpuiligiwl, qhwhwwndwl b
wnbnbtyuwwnynipiul tnnpuwdwnpdwl hbu
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 300.0 300.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
1. 2hGwwwpunGbiph hwyJwedwl, gnpuwlnsh, 1,500.0 1,500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpuwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,500.0 1,500.0 -
2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 227,000.0 201,920.0 25,080.0
wyn pynLd’
2450104 | 5 | 0 | Spwluwynpuwn 180,000.0 154,920.0 25,080.0
nphg’
245104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 177,600.0 154,600.0 23,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 126,500.0 126,500.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 126,500.0 126,500.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 26,000.0 26,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 26,000.0 26,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 23,000.0 - 23,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 23,000.0 - 23,000.0
7. <puqnul Yppsh b Gpbwlw (sh 2,100.0 2,100.0 -
pwnbywpqnid
- UndntGwy SwrwynipntbbBn 4213 2,100.0 2,100.0 -
245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnpun 2,400.0 320.0 2,080.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 2,400.0 320.0 2,080.0
- Uwulwghunwyw swrwjnipjntbbbn 4241 320.0 320.0 -
- Wy dbpbawobn L uwppwynpniibtbp 5129 2,080.0 - 2,080.0
2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 47,000.0 47,000.0 -
nwubphl swuwnluwbnn)
nphg’
2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 47,000.0 47,000.0 -
swwuinywlnn)
wyn pynLd’
9. <punwwy (i dnid wwhwlgnn pGpwghly 47,000.0 47,000.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 47,000.0 47,000.0 -
2500(05|0 | 0 cNRUYU Uhudu3nNh mucsmuuLNnt@3Ntu 17,661.0 17,661.0 -
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2520105 | 2 | 0 | Ybnuwgnbph hbrwgnid 11,000.0 11,000.0 -
nphg’

2521105| 2 | 1 |Ybnuwenbph hbrwgnLd 11,000.0 11,000.0 -
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnlt guiligbph 11,000.0 11,000.0 -
Yupnignid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 11,000.0 11,000.0 -
wwhwwntd

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wyy 6,661.0 6,661.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy| nwubph 6,661.0 6,661.0 -
swwuinywlnn)
wyn pynLd’
2. Ufunnwhwldwa L dhpwwnwqbpddwl 4,761.0 4,761.0 -
Swipuynipyni G6Gp /nbrunnhquighw
- UndntGwy SwrwynLpntbbEn 4213 4,761.0 4,761.0 -
3. <wuwnwuwlwl gniquinwbGbph 1,900.0 1,900.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 1,900.0 1,900.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNruQrnHe3NFL B4 639,567.0 33,386.7 606,180.3

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 10,000.0 10,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihb 2hGwpwpneeintb 10,000.0 10,000.0 -
wyn pynLd’
1. hapGwlwd urnyglabph pwannid 10,000.0 10,000.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b YndniGuy 629,567.0 23,386.7 606,180.3
SweuynipyntGGEn (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 629,567.0 23,386.7 606,180.3
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
2. Pwquiuwpbwluwpwl 26Gpbph pbip 84,000.0 10,500.0 73,500.0
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 10,500.0 10,500.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L 2hOneyntGOEnph Yuwwhunwy yepwbnpngnid 5113 73,500.0 - 73,500.0
3. Pwluyhl tnwipwdpllinh b 532,567.0 12,886.7 519,680.3
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 12,886.7 12,886.7 -
wwhwwntd
- GLlpbph L 2hOneyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 502,680.3 - 502,680.3
- Wy dbpbawobp L uwppwynpniibbp 5129 17,000.0 - 17,000.0
5. dpwpuyhl wunyquidplbph Gnpngnid 13,000.0 - 13,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 13,000.0 - 13,000.0

2800(08| 0 | 0 <Uuahus, ucuunt3me b4 urnu 108,225.8 63,325.8 44,900.0
wyn pynLd’

2810/ 08 | 1 | 0 |<whquuwnh L uynpunh 6wrwynipintGabn 49,171.8 4,271.8 44,900.0
nphg’

281108 | 1 | 1 [<wOquunh L uwynpuinh SwrwjnipnttGep 49,171.8 4,271.8 44,900.0
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 4,271.8 4,271.8 -
Yuqdwlbpwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 4,271.8 4,271.8 -
2. <wlquinh gnunhlGbph L gpnuuyghlGbph 44,900.0 - 44,900.0
Ywenignid n wwhwwlnid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 44,900.0 - 44,900.0

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGabp 59,054.0 59,054.0 -
nphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 21,904.0 21,904.0 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGaEn 21,904.0 21,904.0 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 21,904.0 21,904.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 37,150.0 37,150.0 -
wyn pynLd’
1. Vpwlynipuyhl dhongwenidabph 37,160.0 37,160.0 -
hpwlwlbwgnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 31,400.0 31,400.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 3,750.0 3,750.0 -
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£ 2] 4 | Tl e———" ]
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb ZF et Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

2900/ 09 0 UPBNHB33NHL 1,653,539.4 1,653,539.4 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,027,817.3 1,027,817.3 -
Yppnignil
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,027,817.3 1,027,817.3 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 1,027,817.3 1,027,817.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 1,027,817.3 1,027,817.3 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950/09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 625,722.1 625,722.1 -
Yppnignil
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 625,722.1 625,722.1 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 625,722.1 625,722.1 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 625,722.1 625,722.1 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsMULNH33NEL 18,461.9 15,341.9 3,120.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwqunhl Ynpgpwd whdhlp 910.0 910.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 910.0 910.0 -
wyn pynLd’
1. <wpuwquwn sniGbgnn widwlg 910.0 910.0 -
hninwpyuwynppywl yuqdwlybpunid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 910.0 910.0 -

3040\ 10| 4 | O | Lawnwbhph whnwilGbp b quywlbbn 5,588.9 5,588.9 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 5,588.9 5,588.9 -
wyn pynLd’
1. GpGfuuyh ppwidniGpllinh L pwhbph 5,688.9 5,588.9 -
wwpwnwwlbnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 600.0 600.0 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 4,699.9 4,699.9 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 289.0 289.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7

307010 0 | Unghwjwluwl hunnty wpuinnGnipintGGE (uyy 11,963.0 8,843.0 3,120.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 11,963.0 8,843.0 3,120.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 2,000.0 2,000.0 -
YGhuwdwlwpnwlyp pwplywydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwljwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
5. Pwquwquiduwy, Gphunnwuwnn b wy 9,326.0 6,206.0 3,120.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 690.0 690.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 4,466.0 4,466.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,050.0 1,050.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 3,120.0 - 3,120.0
10. Unghuwywlwl wowlgnipjuwl Yunphp 637.0 637.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwnpyuwynpm pjwl Yuqdwybnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 637.0 637.0 -
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Unyniuwy 5

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

AUYPUTEL 4uN2uUuUL crRULh Uuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 1,649,737.0 1,366,337.3 283,399.7
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 319,764.9 310,960.9 8,804.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 315,664.9 310,260.9 5,404.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 315,664.9 310,260.9 5,404.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 305,164.9 299,760.9 5,404.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 256,315.8 256,315.8 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 9,518.8 9,518.8 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 8,302.0 8,302.0 -
- UndntGwy SwrwynipntbbBn 4213 1,300.0 1,300.0 -
- Ywuwh SwrwjnipnLtGbn 4214 4,102.0 4,102.0 -
- Uywhnjwgnwywb dwfuutin 4215 450.0 450.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 10.0 10.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 500.0 500.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 378.2 378.2 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 3,400.0 3,400.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 1,112.4 1,112.4 -
- Spwluwnpuwihb Gnipkn 4264 9,095.5 9,095.5 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 732.2 732.2 -
- Mwpunwnhp y&wnobn 4823 544.0 544.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,404.0 - 5,404.0
2. Ywpswluwl opylyuinGlph uenignid L 10,500.0 10,500.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,500.0 10,500.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 3,400.0 - 3,400.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 3,400.0 - 3,400.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 3,400.0 - 3,400.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 3,400.0 - 3,400.0

2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 700.0 700.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 700.0 700.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnLdGbp, hwyigunhdnidlbp, nunwpwiGh 200.0 200.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 200.0 200.0 -
2. Qnyph Gyunduwdp hpwyniGplbph 500.0 500.0 -
qpuilguwl, quwhwwndwl b
wnbnbtyuwwnynipiul tnnpuwdwnpdwl hbu
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 500.0 500.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 350.0 350.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 350.0 350.0 -
nphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 350.0 350.0 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. 2htwwwnnlbbph hwpdwedw, gnpwlnsh, 350.0 350.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpuwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 350.0 350.0 -

2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 118,897.0 92,697.0 26,200.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 93,397.0 67,197.0 26,200.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwbuwnpun 93,397.0 67,197.0 26,200.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 56,697.0 56,697.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 56,697.0 56,697.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 10,500.0 10,500.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 10,500.0 10,500.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 17,000.0 - 17,000.0
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 17,000.0 - 17,000.0
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 9,200.0 - 9,200.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 9,200.0 - 9,200.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 25,500.0 25,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywb hwnpwptnnignLbGbp (wy) nwubphG 25,500.0 25,500.0 -
swwinywlnn)
wyn pynLd’
9. <punwwy (i dnid wwhwlgnn pGpwghly 25,500.0 25,500.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 25,500.0 25,500.0 -

2600/06| 0 | O pLULUNULUSHL ChuururnHe3NFL G4 320,265.7 77,500.0 242,765.7

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 320,265.7 77,500.0 242,765.7
SweuynipyntGGEn (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 320,265.7 77,500.0 242,765.7

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. Pwquiwpbwluwpwl 26Gpbph hwpp 37,5600.0 37,500.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 37,500.0 37,500.0 -
wwhwwntd
3. Pwluyhl tnwipwdpllinh b 252,765.7 10,000.0 242,765.7
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- Untpuhnhwbp ng wewnwywb (ng hwdwbpwihb) ng 4521 10,000.0 10,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
- GLlpbph L 2hOnepyntG0Enph Yuwwhuwy yepwbnpngnid 5113 217,765.7 - 217,765.7
- Wy dbpbawobp L uwppwynpniibbp 5129 25,000.0 - 25,000.0
4. Pwquuwplwlupwl p6Gpkph punblwnqdwl 30,000.0 30,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 40,873.5 40,873.5 -
wyn pynLd’

2810/ 08 | 1 | 0 |<whquuwnp L uynpunh éwrwynipiniGabn 5,200.0 5,200.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbn 5,200.0 5,200.0 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 5,200.0 5,200.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 5,200.0 5,200.0 -

2820108 | 2 | 0 |Vpwlynipuyhl swruwynipintGabp 35,673.5 35,673.5 -
nphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 16,273.5 16,273.5 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGaEn 16,273.5 16,273.5 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 16,273.5 16,273.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 19,400.0 19,400.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwrnidabph 19,400.0 19,400.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 16,520.0 16,520.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,880.0 2,880.0 -

2900(09|0 | O urPENH33NHL 831,211.4 831,211.4 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E- = % = ; pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 53 pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 654,257.1 654,257.1 -
Yppnignil
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 654,257 .1 654,257 .1 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 654,257.1 654,257.1 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 654,257.1 654,257.1 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950/09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 176,954.3 176,954.3 -
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 176,954.3 176,954.3 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 176,954.3 176,954.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 176,954.3 176,954.3 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nMucsIULNHB3NEL 18,374.5 12,7445 5,630.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwqunhl Ynpgpwd whdhlp 546.0 546.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwd wGdhbp 546.0 546.0 -
wyn pynLd’
1. <wpuwquwn sniGbgnn widwlg 546.0 546.0 -
hninwpyuwynppywl yuqdwlybpunid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 546.0 546.0 -

3040\ 10| 4 | O | Lawnwbhph whnwilGbp b quywlbbn 2,517.5 2,207.5 310.0
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 2,517.5 2,207.5 310.0
wyn pynLd’
1. GpGfuuyh ppwidniGpllinh L pwhbph 2,5617.5 2,207.5 310.0
wwpwnwwlbnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 707.5 707.5 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 1,500.0 1,500.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 310.0 - 310.0

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnGnipint GGG (wyy 15,311.0 9,991.0 5,320.0
nwubphl swuwnluwbnn)
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 15,311.0 9,991.0 5,320.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 6,470.0 6,470.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwljwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 1,970.0 1,970.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,500.0 4,500.0 -
wwhwwntd
5. Puqiwquiduwly, Gppunnwuwpn b wyy 8,295.0 2,975.0 5,320.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- Ushgwnuwihb L hwbpwhG ubbnh OjneGn 4267 2,975.0 2,975.0 -
- Wy ubpbOwobp L uwppwynpniibbp 5129 5,320.0 - 5,320.0
10. Unghuwywlwl wowlgnipjuwl Yunphp 546.0 546.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 546.0 546.0 -
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Unyntuwy 6

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

trGeAFLh YUM2UUUL cNRULh Uuuny

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 2,739,373.7 2,209,048.3 530,325.4
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 530,385.8 503,673.8 26,712.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 516,435.8 502,673.8 13,762.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 516,435.8 502,673.8 13,762.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 508,439.0 494,677.0 13,762.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 419,458.0 419,458.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 13,069.2 13,069.2 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 15,784.3 15,784.3 -
- UndntGwy SwrwynipntbbBn 4213 1,817.6 1,817.6 -
- Ywuwh SwrwjnipnLtGbn 4214 12,312.9 12,312.9 -
- Uywhnjwgnwywb dwfuutin 4215 400.0 400.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 570.0 570.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 2,268.0 2,268.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 3,740.0 3,740.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 3,729.0 3,729.0 -
- Spwluwnpuwihb Gnipkn 4264 12,628.2 12,628.2 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,896.1 1,896.1 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 490.2 490.2 -
- Mwpunwnhp J&wnObp 4823 513.5 513.5 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 13,762.0 - 13,762.0
2. Ywpswluwl opylyuinGlph uenignid L 7,996.8 7,996.8 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 7,996.8 7,996.8 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 12,950.0 - 12,950.0
SwreuyntpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 12,950.0 - 12,950.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 12,950.0 - 12,950.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 12,950.0 - 12,950.0

2160|01| 6 | O | 2anhwanip pGnyph hwapuyhl 1,000.0 1,000.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,000.0 1,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
2. Qnuyph GLundwdp hpwyniGplbph 1,000.0 1,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -

2200(02|0 | 0 nUCSMULNHB3NFL 500.0 500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 500.0 500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 500.0 500.0 -
wyn pynLd’
1. 2htwwwnnlbbph hwpdwedw, gnpwlnsh, 500.0 500.0 -

gnpwhwywph b Jupdwlwlb hwywplbbph
JuqiwlbnwdwOa wowlgnipin
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 123 |4 5 6 7 8

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 500.0 500.0 -

2400(04|0 | O SULSGUUUUL <UPurGMPNH@3NFLLEN 294,870.0 245,079.5 49,790.5
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 260,870.0 211,079.5 49,790.5
nphg’

245104 | 5 | 1 |Swlwwwphwhb npwbuwnpun 260,870.0 211,079.5 49,790.5
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 194,267.5 194,267.5 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 194,267.5 194,267.5 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 6,000.0 6,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 6,000.0 6,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 10,812.0 10,812.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,812.0 10,812.0 -
wwhwwntd
8. UwypninhlGph L thnnnglbph 38,790.5 - 38,790.5
Ybpwlwenignid L hhdGwlnpngnid
- GLlpbph L 2hOneyntGbBnph Yuwwhuwy yepwbnpngnid 5113 38,790.5 - 38,790.5
13. ®nnnglbiph, hpwwwpwlbbph L uyghbbph 11,000.0 - 11,000.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 11,000.0 - 11,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 34,000.0 34,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwnpwptnnignLbGbp (wy) nwubphG 34,000.0 34,000.0 -
swwinywlnn)
wyn pynLd’
9. <punwwy (i dnid wwhwlgnn pGpwghly 34,000.0 34,000.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 34,000.0 34,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 6,500.0 6,500.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wyy 6,500.0 6,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy nwubph 6,500.0 6,500.0 -
swwuinywlnn)
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2. Ufunnwhwldw L dhpwwnwqbpddwl 4,000.0 4,000.0 -
Swipuynipyni GG /nbrunnhquighw
- UndntGwy SwrwynipntblGn 4213 4,000.0 4,000.0 -
3. <wuwnwuwlwl gniquinwbGbph 2,5600.0 2,500.0 -
wwhwwinid L JGpwbnpngnid
- UndntGwy SwrwynipintbbBn 4213 2,500.0 2,500.0 -

2600/06|0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 514,322.9 72,000.0 442,322.9

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

264006 | 4 | O | @nnngltiph (ntuwydnpmd 12,312.0 - 12,312.0
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynpnid 12,312.0 - 12,312.0
wyn pynLd’
1. CGaptiph qinwpdGuunwlwl jmtuwynpnid 12,312.0 - 12,312.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 12,312.0 - 12,312.0

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 502,010.9 72,000.0 430,010.9
SwewynipynGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 502,010.9 72,000.0 430,010.9
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 32,000.0 32,000.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 32,000.0 32,000.0 -
wwhwwlntd
2. Pwquiuwpbwluwpwl 26Gpbph pbp 145,937.9 10,000.0 135,937.9
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 10,000.0 10,000.0 -
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 135,937.9 - 135,937.9
3. Pwluyhl tnwipwdpllinh L 285,846.5 10,000.0 275,846.5
fuwnwhpwwwpwGbph hhdGwGnpngnid ni
wwhwwbnig
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 260,546.5 - 260,546.5
- Wy dbpbawobn L uwppwynpniibtbp 5129 15,300.0 - 15,300.0
4. Puqilwplwluwpwl 26Gpbnh pwnpblwnqdwl 20,000.0 20,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 20,000.0 20,000.0 -

wwhwwlntd
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

5. dpwpuyhl wunquidplbph Gnpngnid 18,226.5 - 18,226.5
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 18,226.5 - 18,226.5

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 145,601.7 145,601.7 -
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpuwnh éwrwynipiniGabn 4,905.8 4,905.8 -
nphg’

281108 | 1 | 1 [<wOquunh L uwynpuinh SwrwjnipntbGep 4,905.8 4,905.8 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 4,905.8 4,905.8 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,905.8 4,905.8 -

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGGbp 140,695.9 140,695.9 -
nphg’

2821/08| 2 | 1 |QpwnwpwbObn 46,822.7 46,822.7 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGaEn 46,822.7 46,822.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 46,822.7 46,822.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnaGenp 60,273.2 60,273.2 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 60,273.2 60,273.2 -
Yuqdwlbpwnid
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 60,273.2 60,273.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 30,600.0 30,600.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwrnidabph 30,600.0 30,600.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 26,400.0 26,400.0 -
- Ushgwnuwihb L hwbpwhG ubbnh Ojnebn 4267 4,200.0 4,200.0 -

2827|08 | 2 | 7 |<nipwupdwbGEph L dwynipwihb wndtplbph 3,000.0 3,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Japwlnpngnid L 3,000.0 3,000.0 -
wwhwwbnig
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 3,000.0 3,000.0 -

wwhwwlntd
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E- = % = ; pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 53 pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

2900/ 09 0 UPBNHB33NHL 1,215,197.8 1,215,197.8 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 931,625.9 931,625.9 -
Yppnignil
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 931,625.9 931,625.9 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 931,625.9 931,625.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 931,625.9 931,625.9 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950/09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 283,571.9 283,571.9 -
Yppnignil
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 283,571.9 283,571.9 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 283,571.9 283,571.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 283,571.9 283,571.9 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsMULNH33NEL 31,995.5 20,4955 11,500.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwqunhl Ynpgpwd whdhlp 3,003.0 3,003.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 3,003.0 3,003.0 -
wyn pynLd’
1. <wpwqun snLGGgnn wGdwag 3,003.0 3,003.0 -
hninwpyuwynppywl yuqdwlybpunid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 3,003.0 3,003.0 -

3040\ 10| 4 | O | Lawnwbhph whnwilGbp b quywlbbn 7,000.0 7,000.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 7,000.0 7,000.0 -
wyn pynLd’
1. GpGfuuyh ppwidniGpllinh L pwhbph 7,000.0 7,000.0 -
wwpwnwwlbnipint G
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 3,500.0 3,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,500.0 3,500.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnGnipint GGG (wyy 21,992.5 10,492.5 11,500.0
nwubphl swuwnluwbnn)
nphg’
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1 1213 |4 5 6 7 8 9

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 21,992.5 10,492.5 11,500.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 5,500.0 5,500.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwljwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 3,500.0 3,500.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
5. Puqiwquiduwly, Gppunnwuwpn b wyy 15,127.5 3,627.5 11,500.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- Ushgwnuwihb L hwbpwhG ubbnh OjneGn 4267 3,627.5 3,627.5 -
- Wy ubpbOwobp L uwppwynpniibbp 5129 11,500.0 11,500.0
10. Unghuwywiywl wowlygnipw Yuphp 1,365.0 1,365.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 1,365.0 1,365.0 -
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za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 3,882,289.8 2,932,399.4 949,890.4
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 766,521.5 746,221.5 20,300.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 750,521.5 740,221.5 10,300.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 750,521.5 740,221.5 10,300.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 750,521.5 740,221.5 10,300.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 619,197.8 619,197.8 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 20,713.0 20,713.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 22,377.5 22,377.5 -
- UndntGwy SwrwynipntbbBn 4213 1,893.3 1,893.3 -
- Ywuwh SwrwjnipnLtGbn 4214 17,797.6 17,797.6 -
- Uywhnjwgnwywb dwfuutin 4215 1,100.0 1,100.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 400.0 400.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 1,015.0 1,015.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 561.9 561.9 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 9,004.0 9,004.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 8,939.6 8,939.6 -
- Spwluwnpuwihb Gnipkn 4264 19,835.2 19,835.2 -
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1 1213 |4 5 6 7 8 9
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,777.6 3,777.6 -
- Mwpunwnhp y&wnobn 4823 1,609.0 1,609.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
- Jwpswywb uwppwynpniibbn 5122 10,000.0 - 10,000.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 300.0 - 300.0
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 10,000.0 - 10,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0
2160|01| 6 | O | 2anhwanip pGnyph hwapuyhl 6,000.0 6,000.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 6,000.0 6,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnLdGbp, hwyigunhdnidlbp, nunwpwiGh 4,000.0 4,000.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 4,000.0 4,000.0 -
2. Qnuyph GLundwdp hpwyniGplbph 2,000.0 2,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -
2200(02|0 | 0 nuUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynLd’
2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 2,000.0 2,000.0 -
nphg’
2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2hGwwwpunGbiph hwyJwedwl, gnpwlynsh, 2,000.0 2,000.0 -

gnpwhwywph b Jupdwlwlb hwywplbbph
JuqiwlbnwdwOa wowlgnipin
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- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 2,000.0 2,000.0 -

2400(04|0 | O SLSGUUUUL <UrurtMPNHa3NtuLGN 397,600.0 202,500.0 195,100.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 342,100.0 147,000.0 195,100.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwbuwnpun 322,100.0 147,000.0 175,100.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 120,000.0 120,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 120,000.0 120,000.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 17,000.0 17,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 17,000.0 17,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 40,200.0 - 40,200.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 40,200.0 - 40,200.0
8. Uuwypninplbiph L thnnnglbph 112,000.0 10,000.0 102,000.0
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 102,000.0 - 102,000.0
11. BapwhwppwlGbph Yuenignid 10,000.0 - 10,000.0
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 10,000.0 - 10,000.0
13. ®nnnglbiph, hpwwwpwlbbph L uyghbbph 22,900.0 - 22,900.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibtbp 5129 22,900.0 - 22,900.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 20,000.0 - 20,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 20,000.0 - 20,000.0
- Wy dbpbawobn L uwppwynpniibtbp 5129 20,000.0 - 20,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 55,500.0 55,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 55,500.0 55,500.0 -
swwuinywlnn)
wyn pynLd’
9. <punwwy (i dnid wwhwlgnn pGpwghly 55,500.0 55,500.0 -

wpfuwnnuwliplbnh ppwlwGwgnid
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

- Uj) Swiuubn 4861 55,500.0 55,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuuNnt@3Ntu 8,920.0 8,920.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 8,920.0 8,920.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy nwubph 8,920.0 8,920.0 -
swwuinywlnn)
wyn pynLd’
2. Ufunnwhwldw L dhpwwnwqbpddwl 8,000.0 8,000.0 -
Swipuynipyni 666 /nbrunnhquighw
- UndntGwy SwrwynipntblGn 4213 8,000.0 8,000.0 -
3. <wuwnpwluwlwl gniquinwlGlbph 920.0 920.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 920.0 920.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 993,040.4 279,000.0 714,040.4

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 25,000.0 25,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihb 2hGwpwpneeintb 25,000.0 25,000.0 -
wyn pynLd’
1. hapGwlwd Yurnyglabph pwannid 25,000.0 25,000.0 -
- Uj) Swiuubn 4861 25,000.0 25,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b YndniGuy 968,040.4 254,000.0 714,040.4
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipywb L Yndntbug 968,040.4 254,000.0 714,040.4
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwplwluwpwl 26Gpbph hwpp 23,000.0 23,000.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 23,000.0 23,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbp 197,620.0 - 197,620.0
wnwbhplbph YGpwblnpngnid
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 197,620.0 - 197,620.0
3. Pwluyhl tnwipwdpllinh L 502,420.4 6,000.0 496,420.4

fuwnuwhpwwwpwlGbnh hhdGwanpngnid nt
wwhwwbnig

98




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 6,000.0 6,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 484,420.4 - 484,420.4
- Wy dbpbawobp L uwppwynpniibbp 5129 12,000.0 - 12,000.0
4. Puqidwplwluwpwl 26Gpbnh pwnpblwnqdwl 225,000.0 225,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 215,000.0 215,000.0 -
wwhwwntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
5. dpwpuyhl wunquidplbph Gnpngnid 20,000.0 - 20,000.0
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 20,000.0 - 20,000.0

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 119,954.1 109,854.1 10,100.0
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnp L uynpunh 6wrwynipiniGabn 19,750.0 9,650.0 10,100.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGep 19,750.0 9,650.0 10,100.0
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 6,600.0 6,600.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 6,600.0 6,600.0 -
2. L<wliquinh gnunnhlGbph L gpnuuyghlGbph 13,150.0 3,050.0 10,100.0
Ywenignid m wwhwwlnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 3,050.0 3,050.0 -
wwhwwlntd
- Uy vbpbOwlEn L uwppwynpniilbp 5129 10,100.0 - 10,100.0

2820108 | 2 | 0 |Vpwlynipuyhl swruwynipintGabp 100,204.1 100,204.1 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 15,539.6 15,539.6 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGaEn 16,639.6 15,639.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 15,539.6 15,539.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 [Uwyniph inbbn, wynidpdtn, YebwnpnbaGenp 31,654.5 31,654.5 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 31,654.5 31,654.5 -

Yuqdwlbpwnid
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Untpuhnhwltp ng $hOwbuwywl wtnwyw 4511 31,654.5 31,654.5 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieyniGbbn 38,010.0 38,010.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwrnidabph 38,010.0 38,010.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 32,760.0 32,760.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjnueGn 4267 5,250.0 5,250.0 -

2827|08 | 2 | 7 |<nipwupdwbGEph L dwynipwihb wndtplbph 15,000.0 15,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Japwlnpngnid L 15,000.0 15,000.0 -
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwntd

2900(09|0 | O urPENH33NHL 1,565,114.3 1,565,114.3 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,301,174.6 1,301,174.6 -
Yppnipnt G
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,301,174.6 1,301,174.6 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 1,301,174.6 1,301,174.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 1,301,174.6 1,301,174.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950/09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 263,939.7 263,939.7 -
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 263,939.7 263,939.7 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 263,939.7 263,939.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 263,939.7 263,939.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsSMULNH33NFL 29,139.5 18,789.5 10,350.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwé whdhap 2,730.0 2,730.0 -

nphg’
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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1 1213 |4 5 6 7 8 9

3031| 10 1 | <wpwqwunhb Ynpgpwé wbéhbp 2,730.0 2,730.0 -
wyn pynLd’
1. <wpwqun snLGGgnn wGdwag 2,730.0 2,730.0 -
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 2,730.0 2,730.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipint GGG (wyy 26,409.5 16,059.5 10,350.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipyntbbbn (wy 26,409.5 16,059.5 10,350.0
nuwubpht swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 14,694.5 14,694.5 -
YGhuwdwlwpnwlyp pwplywydwll ninnyuwds
OwuwinwljuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,694.5 2,694.5 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 9,000.0 9,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,000.0 3,000.0 -
5. Puqiwquiduwly, Gppunnwuwpn b wyy 10,350.0 - 10,350.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- Wy dbpbawobp L uwppwynpniibbp 5129 10,350.0 - 10,350.0
10. Unghuwywiywl wowlygnipw Yuphp 1,365.0 1,365.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,365.0 1,365.0 -
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za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
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el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
LLNUUBLE SUUBP 4,065,050.6 3,489,788.4 575,262.2
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 572,815.9 552,815.9 20,000.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 561,815.9 551,815.9 10,000.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 561,815.9 551,815.9 10,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 558,215.9 548,215.9 10,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 468,520.0 468,520.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 14,015.6 14,015.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 16,163.6 16,163.6 -
- UndntGwy SwrwynipntbbBn 4213 530.2 530.2 -
- Ywuwh SwrwjnipnLtGbn 4214 12,115.2 12,115.2 -
- Uywhnjwgnwywb dwfuutin 4215 561.0 561.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 500.0 500.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 814.0 814.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 4,135.0 4,135.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 5,284.6 5,284.6 -
- Spwluwnpuwihb Gnipkn 4264 16,306.2 16,306.2 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 3,490.5 3,490.5 -
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- <wwnnty Gwwuinwywihb wyp neptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wnobn 4823 780.0 780.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 10,000.0 - 10,000.0
2. Ywpswluwl opylyuinGlph uenignid L 3,600.0 3,600.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,600.0 3,600.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 10,000.0 - 10,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0

2160|01| 6 | O | 2anhwanip pGnyph hwapuyhl 1,000.0 1,000.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,000.0 1,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
2. Qnuyph GLundwdp hpwyniGplbph 1,000.0 1,000.0 -
qpuilguwl, quwhwwndwl b
wnbnbtyuwwnynipiul tnnpuwdwnpdwl hbu
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -

2400(04|0 | O SLSEUULUL <UrurtMPN@3NFLLEN 376,042.6 239,661.3 136,381.3
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 350,542.6 214,161.3 136,381.3
nphg’

245104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 345,542.6 214,161.3 131,381.3
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 135,000.0 135,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 135,000.0 135,000.0 -

wwhwwlntd
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3. Gqnwpwnbinh YGpwanpngnid 43,000.0 43,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 43,000.0 43,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 14,127.3 14,127.3 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 14,127.3 14,127.3 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 143,415.3 22,034.0 121,381.3
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 22,034.0 22,034.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGOEnph Yuwwhuwy yepwbnpngnid 5113 121,381.3 - 121,381.3
13. ®nnnglbph, hpwwwpwlyGbph L uyghliiph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 10,000.0 - 10,000.0
245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 5,000.0 - 5,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 5,000.0 - 5,000.0
- Wy dbpbawobn L uwppwynpniibtbp 5129 5,000.0 - 5,000.0
2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 25,500.0 25,500.0 -
nwubphl swuwnluwbnn)
nphg’
2491/04 | 9 | 1 |SGnBuwywl hwnpwpbnnignLbGbp (wy) nwubphG 25,500.0 25,500.0 -
swwuinywlnn)
wyn pynLd’
9. <punwwy (i dnid wwhwlgnn pGpwghly 25,500.0 25,500.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 25,500.0 25,500.0 -
2500(05|0 | 0 cNRUYU Uhudu3nNh mucsmuuNnt@3Ntu 3,145.6 3,145.6 -
wyn pynLd’
2510/05| 1 | 0 |Unpwhwlnd 645.6 645.6 -
nphg’
251105 1 | 1 |UnpwhwGntd 645.6 645.6 -
wyn pynLd’
1. Unpwhwlnipyntl b uwGhunwpwlywl 645.6 645.6 -
duwpnnid
- W Gwwuinbbp pinuobihg 4729 645.6 645.6 -
2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 2,500.0 2,500.0 -
nwubphl swuwnluwbnn)
nphg’
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2561| 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 2,500.0 2,500.0 -
swwinywlnn)
wyn pynLd’
3. <wuwnwuwlwl gniquinwbGbph 2,5600.0 2,500.0 -
wwhwwinid L JGpwbnpngnid
- UndntGwy SwrwynipintbbBn 4213 2,500.0 2,500.0 -

2600/06|0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 519,980.9 108,000.0 411,980.9

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b YndniGuy 519,980.9 108,000.0 411,980.9
SweuynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 519,980.9 108,000.0 411,980.9
SwrwjntpntbO6n (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 34,000.0 34,000.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 34,000.0 34,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbp 8,000.0 8,000.0 -
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 8,000.0 8,000.0 -
3. Pwluyhl tnwipwdpllinh b 431,480.9 30,000.0 401,480.9
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwlntd
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 381,480.9 - 381,480.9
- Wy dbpbawobp L uwppwynpniibbp 5129 20,000.0 - 20,000.0
4. Puqidwplwluwpwl 26Gpbnh pwnpblwnqdwl 36,000.0 36,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 26,000.0 26,000.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
5. dpwpuyhl wuinquidplbph Gnpngnid 10,500.0 - 10,500.0
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 10,500.0 - 10,500.0

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 107,587.0 107,587.0 -
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh éwrwynipintGabn 9,550.0 9,550.0 -
nphg’
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281108 | 1 | 1 |<wOquunh L uynpuinh SwrwjnipnLtGep 9,550.0 9,550.0
wjn pyntd’
1. Uynpunuyhl dhongwenidGbph 9,5650.0 9,5650.0
Yuqdwlbpwni d
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 9,550.0 9,550.0

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGGbp 98,037.0 98,037.0
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 33,457.8 33,457.8
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGaEn 33,457.8 33,457.8
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 33,457.8 33,457.8
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnbGep 18,5622.2 18,5622.2
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquiun dwdwlgh 18,622.2 18,622.2
Yuqdwlbpwnid
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 18,5622.2 18,5622.2
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 44,057.0 44,057.0
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 44,057.0 44,057.0
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 36,800.0 36,800.0
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 7,257.0 7,257.0

2827|08 | 2 | 7 |<nipwupdwbGEph L dwynipwihb wndtplbph 2,000.0 2,000.0
ybpwywaglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Japwlnpngnid L 2,000.0 2,000.0
wwhwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 2,000.0 2,000.0
wwhwwntd

2900(09|0 | O uPENH33NHL 2,454,968.6 2,454,968.6
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 2,107,048.6 2,107,048.6
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 2,107,048.6 2,107,048.6

wyn pynLd’
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1. Lwfuuwi ngwlwl niunignid 2,107,048.6 2,107,048.6 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 2,107,048.6 2,107,048.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 347,920.0 347,920.0 -
Yppnipnt G
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 347,920.0 347,920.0 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 347,920.0 347,920.0 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 347,920.0 347,920.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 30,510.0 23,610.0 6,900.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgpwdé whdhap 1,000.0 1,000.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 1,000.0 1,000.0 -
wyn pynLd’
1. <wpwqun snLGGgnn wGdwag 1,000.0 1,000.0 -
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -

304010 | 4 | 0 | LOawnwGhph wonwoabn L quywllbn 6,110.0 6,110.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 6,110.0 6,110.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplGbph L pwhbph 6,110.0 6,110.0 -
wupwnuwbnipint G
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 1,310.0 1,310.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 4,800.0 4,800.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipint GGG (wyy 23,400.0 16,500.0 6,900.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 23,400.0 16,500.0 6,900.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 13,500.0 13,500.0 -

Ybtuwdwluwpnwyh pwpbywddwll ninnywd
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
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- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 5,200.0 5,200.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 6,300.0 6,300.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
5. Pwquwquiduwy, Gphunnwuwnn b wy 8,900.0 2,000.0 6,900.0
[udpbphl wunnlwGnn plunwlhplbphl
wouwlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 6,900.0 - 6,900.0
10. Unghuwywiywl wowlygnipw Yuphp 1,000.0 1,000.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,000.0 1,000.0 -
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
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11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 4,143,375.8 3,540,165.8 603,210.0
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 571,316.7 555,836.7 15,480.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 558,316.7 552,836.7 5,480.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 558,316.7 552,836.7 5,480.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 555,316.7 549,836.7 5,480.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 441,602.2 441,602.2 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 14,692.6 14,692.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 33,222.8 33,222.8 -
- UndntGwy SwrwynipntbbBn 4213 1,949.3 1,949.3 -
- Ywuwh SwrwjnipnLtGbn 4214 13,098.4 13,098.4 -
- Uywhnjwgnwywb dwfuutin 4215 800.0 800.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- {wiwywngswihb SwrewjnipynLblbn 4232 1,020.0 1,020.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 300.0 300.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 5,080.0 5,080.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 4,109.6 4,109.6 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 6,100.0 6,100.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 2,739.0 2,739.0 -
- Spwluwnpuwihb Gnipkn 4264 15,244.0 15,244.0 -
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- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,634.8 3,634.8 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -
- Mwpunwnhp y&wnobn 4823 1,244.0 1,244.0 -
- Uj) Swiuubn 4861 3,000.0 3,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,480.0 - 5,480.0
2. Ywpswluwl opylyuinGlph uenignid L 3,000.0 3,000.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 10,000.0 - 10,000.0
SwreuyntpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0

2160|01| 6 | O | 2anhwanip pGnyph hwapuyhl 3,000.0 3,000.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 3,000.0 3,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnidGbp, hwyigunhdnidlbp, nunwpwiGh 1,000.0 1,000.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -
2. Qnuyph GLundwdp hpwyniGplbph 2,000.0 2,000.0 -
qpuilguwl, quwhwwndwl b
wnbnbtyuwwnynipiul tnnpuwdwnpdwl hbu
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 1,500.0 1,500.0 -
nphg’

225102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’

110




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. 2hGwwwpunGbiph hwyJwedwl, gnpuwlnsh, 1,500.0 1,500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpuwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 275,900.0 185,500.0 90,400.0
wyn pynLd’

2420|104 | 2 | O | Ynuquuwnbwnbunipnt G, whwnweuyhl 54,400.0 - 54,400.0
wnbwnbunipinil, d4Gnpunipinl L
npunpnnLpinLG
nphg’

2424|104 | 2 | 4 |NrngnLd 54,400.0 - 54,400.0
wyn pynLd’
1. Nenquwl gulgh Yuenignid L 54,400.0 - 54,400.0
YGnwlnpngniJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 54,400.0 - 54,400.0

2450104 | 5 | 0 | Spwluwynpuwn 183,000.0 147,000.0 36,000.0
nphg’

245104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 168,000.0 147,000.0 21,000.0
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 120,000.0 120,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 120,000.0 120,000.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 28,000.0 7,000.0 21,000.0
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 7,000.0 7,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 21,000.0 - 21,000.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 15,000.0 - 15,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 15,000.0 - 15,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0
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2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,500.0 38,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 38,500.0 38,500.0 -
swwuinywlnn)
wyn pynLd’
9. <puwnwwy (i dnid wwhwlgnn pGpuwghly 38,500.0 38,500.0 -
upfuuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 38,500.0 38,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNrh mucsmuuNnt@3Ntu 1,500.0 1,500.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 1,500.0 1,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy nwubph 1,500.0 1,500.0 -
swwinywlnn)
wyn pynLd’
3. <wuwnwuwlwl gniquinwbGbph 1,600.0 1,500.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 1,500.0 1,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNruQrnHe3NFL B4 626,765.0 192,505.0 434,260.0

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 10,000.0 10,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihb 2hGwpwpneeintb 10,000.0 10,000.0 -
wyn pynLd’
1. hapGwlwd urnyglabph pwannid 10,000.0 10,000.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b YndniGuy 616,765.0 182,505.0 434,260.0
SweuynipyntGGEn (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 616,765.0 182,505.0 434,260.0
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 60,000.0 60,000.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 60,000.0 60,000.0 -

wwhwwlntd
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2. Pwquiuwpbwluwpwl 26Gpbph pbp 20,000.0 20,000.0 -
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 20,000.0 20,000.0 -
3. Pwluyhl tnwipwdpllinh b 475,965.0 50,505.0 425,460.0
fuwnwhpwwwpwGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 50,505.0 50,505.0 -
wwhwwlntd
- Gtlpbnh L 2hOneyntGbEnph Yurenigned 5112 172,905.0 - 172,905.0
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 242,555.0 - 242,555.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 10,000.0 - 10,000.0
4. Pwqiwplwluwpwl ;6Gpbph puwpbywnpgdwl 52,000.0 52,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 52,000.0 52,000.0 -
wwhwwntd
5. dpwpuyhl wuinyquidplbph Gnpngnid 8,800.0 - 8,800.0
- GLlpbnh L 2hOneyntG0Bnph Yuwwhunwy yepwbnpngnid 5113 8,800.0 - 8,800.0

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 233,652.4 177,582.4 56,070.0
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnp L uynpunh 6wrwynipiniGabn 69,820.0 13,750.0 56,070.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwnipntbGbp 69,820.0 13,750.0 56,070.0
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 8,750.0 8,750.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 8,750.0 8,750.0 -
2. <wlquinh gnunhlGbph L gpnuuyghlGbph 61,070.0 5,000.0 56,070.0
Ywenignid n wwhwwlnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 56,070.0 - 56,070.0

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGabp 163,832.4 163,832.4 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 56,865.3 56,865.3 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 56,865.3 56,865.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 56,865.3 56,865.3 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

2823| 08 3 |Uwynyph inlbtkn, wynidpdtn, YebunpnbGep 62,367.1 62,367.1 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquiun dwdwlgh 62,367.1 62,367.1 -
Juquwlbpynid
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 62,367.1 62,367.1 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 44,600.0 44,600.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwenidabph 44,600.0 44,600.0 -
hpwluwlwgnid
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 34,000.0 34,000.0 -
- Ushgwnuwihb L hwbpwhG ubbnh OjneGn 4267 9,600.0 9,600.0 -

2900(09|0 | O UPBNHB33NHL 2,402,498.5 2,402,498.5 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,870,467.0 1,870,467.0 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,870,467.0 1,870,467.0 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 1,870,467.0 1,870,467.0 -
- Untpuhnhwlbp ng $hOwbuwywl wtnwywl 4511 1,870,467.0 1,870,467.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 532,031.5 532,031.5 -
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 532,031.5 532,031.5 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 532,031.56 532,031.56 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 532,031.5 532,031.5 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuLu nMucsMULNHB3NEL 30,243.2 23,2432 7,000.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwquinhl Ynpgpwd whdhlp 1,200.0 1,200.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd whdhbp 1,200.0 1,200.0 -

wyn pynLd’
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

1. <wpwqun snLGGgnn wGdwag 1,200.0 1,200.0 -
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 1,200.0 1,200.0 -

304010 | 4 | 0 | LOawnwGhph wonwoabn L quywllbn 7,143.2 7,143.2 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 7,143.2 7,143.2 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 7,143.2 7,143.2 -
wupwnuwbnipint G
- Qpwubwyuwh Gniebp LW hwgniuwn 4261 1,500.0 1,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 5,643.2 5,643.2 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipini GGG (uyy 21,900.0 14,900.0 7,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 21,900.0 14,900.0 7,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 10,200.0 10,200.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 4,200.0 4,200.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 4,380.0 4,380.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,620.0 1,620.0 -
5. Pwquwquiduy, Gphunnwuwnn b wy 11,200.0 4,200.0 7,000.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,500.0 2,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,700.0 1,700.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 7,000.0 - 7,000.0
10. Unghuywiquil wowlygni pjwl Yuiphp 500.0 500.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwpywynpm pjwl uqdwybnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 500.0 500.0 -
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Uryntuwy 10

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

LNPL-UUNLUT 4uMuUyUL chrRUuh vuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 782,141.3 648,211.5 133,929.8
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 243,050.5 239,550.5 3,500.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 240,200.5 239,200.5 1,000.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 240,200.5 239,200.5 1,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 240,200.5 239,200.5 1,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 209,154.4 209,154.4 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 6,773.6 6,773.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 4,935.8 4,935.8 -
- UndntGwy SwrwynipntbbBn 4213 138.1 138.1 -
- Ywuwh SwrwjnipnLtGbn 4214 2,531.8 2,531.8 -
- Uywhnjwgnwywb dwfuutin 4215 300.0 300.0 -
- Lkipphb gnpéninnLabbn 4221 100.0 100.0 -
- Ywnswywl SwewjnipyntGbbn 4231 150.0 150.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,200.0 2,200.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 127.0 127.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 2,750.0 2,750.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 925.0 925.0 -
- Spwluwnpuwihb Gnipkn 4264 5,090.0 5,090.0 -

116




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 668.8 668.8 -
- Mwpunwnhp y&wnobn 4823 356.0 356.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 1,000.0 - 1,000.0
2150|101 | 5 | 0 | 2Gnhwlnip plGnyph hwipughl 2,500.0 - 2,500.0
SwreuyntpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nphg’
215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 2,500.0 - 2,500.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwunwlGplbn 2,5600.0 - 2,500.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 2,500.0 - 2,500.0
2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 350.0 350.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CGnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 350.0 350.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnLdGbp, hwyigunhdnidlbp, nunwpwiGh 300.0 300.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 300.0 300.0 -
2. Qnyph Gyundwdp hpwyniGplbph 50.0 50.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 50.0 50.0 -
2400(04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 110,950.0 66,000.0 44,950.0
wyn pynLd’
2450104 | 5 | 0 | Spwluwynpuwn 97,950.0 53,000.0 44,950.0
nphg’
2451104 | 5 | 1 |Bwlwwwnhwh0 uvnpwbuwnpun 97,950.0 53,000.0 44,950.0
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 35,000.0 35,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 35,000.0 35,000.0 -

wwhwwlntd
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

3. Gqnwpwnbinh YGpwanpngnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 40,200.0 - 40,200.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 40,200.0 - 40,200.0
8. Uuwypninplbiph L thnnnglbph 8,000.0 8,000.0 -
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 8,000.0 8,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 4,750.0 - 4,750.0
Yuwhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 4,750.0 - 4,750.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 13,000.0 13,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwnpwpbnnigntbGbp (wy) nwubphG 13,000.0 13,000.0 -
swwinywlnn)
wyn pynLd’
9. <puwwnwwy (nidnid wwhwlgnn pGpwghly 13,000.0 13,000.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 13,000.0 13,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 1,171.0 1,171.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wyy 1,171.0 1,171.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy| nwubph 1,171.0 1,171.0 -
swwinywlnn)
wyn pynLd’
2. Ufunnwhwldwa L dhpwwnwqbpddwl 1,171.0 1,171.0 -
Swipuynipyni GG /nbrunnhquighw
- UndntGwy SwrwynLpntbbEn 4213 1,171.0 1,171.0 -

2600/06| 0 | O pLULUNULUSHL ChuururnHe3NFL G4 85,229.8 5,000.0 80,229.8

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 85,229.8 5,000.0 80,229.8
SweuynipyntGGEn (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 85,229.8 5,000.0 80,229.8

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

3. Pwluyhl wrnwpwéplbinh L 85,229.8 5,000.0 80,229.8
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 77,729.8 - 77,729.8
- Wy dbpbawobp L uwppwynpniibbp 5129 2,500.0 - 2,500.0

2800(08| 0 | 0 <Uuahus, ucuunt3me by urnu 17,775.0 17,775.0 -
wyn pynLd’

2810/ 08 | 1 | 0 |<whquuwnp L uynpunh éwrwynipiniGabn 5,000.0 5,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGen 5,000.0 5,000.0 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 5,000.0 5,000.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 5,000.0 5,000.0 -

2820108 | 2 | 0 |Vpwlynipuyhl swruwynipintGabp 12,775.0 12,775.0 -
nphg’

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 12,775.0 12,775.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 12,775.0 12,775.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 11,800.0 11,800.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 975.0 975.0 -

2900(09|0 | O uPENH33NHL 310,205.0 310,205.0 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 204,388.7 204,388.7 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 204,388.7 204,388.7 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 204,388.7 204,388.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 204,388.7 204,388.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 105,816.3 105,816.3 -
Uppnipyntl
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2951| 09 1 [Upunwnwpngwywb nwuunhwpwynipgntl 105,816.3 105,816.3 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipini 105,816.3 105,816.3 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 105,816.3 105,816.3 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 13,760.0 8,510.0 5,250.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhlb Ynpgnwdé whdhap 600.0 600.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Yynpgnwd whdhbp 600.0 600.0 -
wyn pynLd’
1. <wpuwquwn sniGbgnn widwlg 600.0 600.0 -
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 600.0 600.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipint GGG (wyy 13,160.0 7,910.0 5,250.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 13,160.0 7,910.0 5,250.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 7,000.0 7,000.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,000.0 1,000.0 -
5. Puqiwquiduwly, Gppunnwuwpn b wyy 5,250.0 - 5,250.0
[udpbphl wunnlwGnn plunwlhplbphl
wouwlgnipint G
- Wy ubpbawobp L uwppwynpniibtbp 5129 5,250.0 - 5,250.0
10. Unghuwywlwl wowlgnipjuwl Yunphp 910.0 910.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwpywynpm pjwl uqdwybnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 910.0 910.0 -
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Uryntuwy 11

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

LNFAUPUTEL YuMUvUL crauuh yuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
1 12 |3 |4 5 6 7 8 9
LLNUUBLE SUUBP 676,749.0 550,033.0 126,716.0
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 191,195.1 186,695.1 4,500.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 187,045.1 186,545.1 500.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 187,045.1 186,545.1 500.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 187,045.1 186,545.1 500.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 162,656.0 162,656.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 4,678.8 4,678.8 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 3,244.6 3,244.6 -
- UndntGwy SwrwynipntbbBn 4213 703.0 703.0 -
- Ywuwh SwrwjnipnLtGbn 4214 2,598.6 2,598.6 -
- Uywhnjwgnwywb dwfuutin 4215 450.0 450.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 60.0 60.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 300.0 300.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 2,200.0 2,200.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 1,000.0 1,000.0 -
- Spwluwnpuwihb Gnipkn 4264 4,630.1 4,630.1 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 500.0 500.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Mwpunwnhp y&wnobn 4823 524.0 524.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 500.0 - 500.0
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 4,000.0 - 4,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 4,000.0 - 4,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 4,000.0 - 4,000.0
- LwjuwgéwhbGunwgnunwywb dwiuutin 5134 4,000.0 - 4,000.0
2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 160.0 160.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CGnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 150.0 150.0 -
nwubphb swwunywbnn)
wyn pynLd’
1. DhdnLdGbp, hwyigunhdnidlbp, nunwpwiGh 100.0 100.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 100.0 100.0 -
2. Qnyph Gyundwdp hpwyniGplbph 50.0 50.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 50.0 50.0 -
220002/ 0 | 0 nuUCSMULNHB3NFL 500.0 500.0 -
wyn pynLd’
2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 500.0 500.0 -
nphg’
2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 500.0 500.0 -
wyn pynLd’
1. 2htwwwnnlbbph hwpdwedw, gnpwlnsh, 500.0 500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpuwdwOa wowlgnipim
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 500.0 500.0 -
2400/04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 41,600.0 40,000.0 1,600.0

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2450104 | 5 | 0 | Spwluwynpuwn 28,600.0 27,000.0 1,600.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 uvnpwbuwnpun 28,600.0 27,000.0 1,600.0
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 25,000.0 25,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 25,000.0 25,000.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 1,600.0 - 1,600.0
Yuwhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 1,600.0 - 1,600.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 13,000.0 13,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 13,000.0 13,000.0 -
swwinywlnn)
wyn pynLd’
9. <puwwnwwy (nidnid wwhwlgnn pGpwghly 13,000.0 13,000.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 13,000.0 13,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 59,034.4 - 59,034.4
wyn pynLd’

2520105 | 2 | 0 | Ybnuwgnbph hbrwgnid 59,034.4 - 59,034.4
nphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 59,034.4 - 59,034.4
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnl guiligbph 59,034.4 - 59,034.4
Yupnignid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 59,034.4 - 59,034.4

2600/06| 0 | O pLULUNULUSHL ChuururnHe3NFL G4 63,255.0 55,255.0 8,000.0

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

264006 | 4 | O | @nnngltiph (ntuwydnpnid 10,000.0 10,000.0 -
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2641| 06 1 |®nnnglbph (ntuwynpnid 10,000.0 10,000.0 -
wyn pynLd’
2. Upwnwphl (ntuwdnpnipiul guiagh 10,000.0 10,000.0 -
2whwagnpédwl L wwhwwGdwl
wpfuunnuwliplbin
- Untpuhnhwltp ng $hOwbuwywl wtnwyw 4511 10,000.0 10,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b YndniGuy 53,255.0 45,255.0 8,000.0
SweuynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 53,255.0 45,255.0 8,000.0
SwrwjntpntbObn (wy| nwubnhl sywwnywbnn)
wyn pynLd’
2. Pwquiuwpbwluwpwl 26Gpbph pbip 20,000.0 20,000.0 -
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 20,000.0 20,000.0 -
3. Pwluyhl tnwipwdpllinh b 9,355.0 1,355.0 8,000.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 1,355.0 1,355.0 -
wwhwwntd
- Wy dbpbawobn L uwppwynpniibtbp 5129 8,000.0 - 8,000.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 23,900.0 23,900.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 8,900.0 8,900.0 -
wwhwwlntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 15,000.0 15,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 76,004.1 27,422.5 48,581.6
wyn pynLd’

2810/ 08 | 1 | 0 |<whquuwnp L uynpunh éwrwynipiniGabn 51,331.6 2,750.0 48,581.6
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbn 51,331.6 2,750.0 48,581.6
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 2,760.0 2,750.0 -
Yuqdwlbpwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,750.0 2,750.0 -
2. L<wlbquuinh gnunhGEph L qpnuwyghlbph 48,581.6 - 48,581.6
Ywenignid n wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 40,581.6 - 40,581.6
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E- = % = ; pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 53 pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

- GLlpbnh L 2hOneyntGOEnph Yuwwhunwy yepwbnpngnid 5113 8,000.0 - 8,000.0

282008 | 2 | 0 |Vpwlynipuyhl sweuynipniGlln 24,672.5 24,672.5 -
nphg’

2821/ 08| 2 | 1 |Qpwnwpwbbbn 8,059.2 8,059.2 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGaEn 8,059.2 8,059.2 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 8,059.2 8,059.2 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vwynipwihb YuqiwytpwnieniGbbn 16,613.3 16,613.3 -
wyn pynLd’
1. Vpwiynipuyhl dhongwrnidabph 16,613.3 16,613.3 -
hpwluwlwgnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 15,065.8 15,065.8 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 547.5 547.5 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -

2900|09|0 | O UPBNHB33NHL 232,810.4 232,810.4 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 128,893.7 128,893.7 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 128,893.7 128,893.7 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 128,893.7 128,893.7 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 128,893.7 128,893.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 103,916.7 103,916.7 -
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 103,916.7 103,916.7 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 103,916.7 103,916.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 103,916.7 103,916.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuLu nMucsMULNHB3NEL 12,350.0 7,350.0 5,000.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwquinhl Ynpgpwd whdhlp 350.0 350.0 -

nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

3031| 10 1 | <wpwqwunhb Ynpgpwé wbéhbp 350.0 350.0 -
wyn pynLd’
1. <wpuwquin snLGbgnn widwbg 350.0 350.0 -
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 350.0 350.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipint GGG (wyy 12,000.0 7,000.0 5,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipyntbbbn (wy 12,000.0 7,000.0 5,000.0
nuwubpht swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 6,000.0 6,000.0 -
YGhuwdwlwpnwlyp pwplywydwll ninnyuwds
OwuwinwljuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,300.0 1,300.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 4,700.0 4,700.0 -
5. Puqiwquiduwly, Gppunnwuwpn b wyy 5,000.0 - 5,000.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- Wy dbpbawobn L uwppwynpniibtbp 5129 5,000.0 - 5,000.0
10. Unghuwywiywl wowlygnipw Yuphp 1,000.0 1,000.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwpywynpm pjwl uqdwybnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,000.0 1,000.0 -
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Unyntuwy 12

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

t6uLQUJb@ JUNUUUL cNrRULN UUUNY

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 3,961,268.4 3,217,117.2 744,151.2
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 595,797.6 575,797.6 20,000.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 583,797.6 573,797.6 10,000.0
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 583,797.6 573,797.6 10,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 576,297.6 566,297.6 10,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 472,056.0 472,056.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 14,368.8 14,368.8 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 16,793.9 16,793.9 -
- UndntGwy SwrwynipntbbBn 4213 1,480.5 1,480.5 -
- Ywuwh SwrwjnipnLtGbn 4214 10,515.8 10,515.8 -
- Uywhnjwgnwywb dwfuutin 4215 768.0 768.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 200.0 200.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 550.0 550.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipntbbn 4241 1,532.4 1,532.4 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 8,250.0 8,250.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 4,256.5 4,256.5 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gjnipkn 4264 24,520.0 24,520.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,636.2 2,636.2 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,379.5 1,379.5 -
- Mwpunwnhp y&wnobn 4823 990.0 990.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 10,000.0 - 10,000.0
2. Ywpswluwl opylyuinGlph uenignid L 7,500.0 7,500.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 7,500.0 7,500.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 10,000.0 - 10,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0

2160|01| 6 | O | 2anhwanip pGnyph hwapuyhl 2,000.0 2,000.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 2,000.0 2,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnidGbp, hwyigunhdnidlbp, nunwpwiGh 1,000.0 1,000.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -
2. Qnuyph Ghundwdp hpwyniGplEph 1,000.0 1,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuwubphl swwuwnlwGnn) 2,000.0 2,000.0 -

nphg’
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2251| 02 1 [Mwunwwinipntb (wy| nwukphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2hGwwwpunGbiph hwyJwedwl, gnpuwlnsh, 2,000.0 2,000.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpuwdwOa wowlgnipim
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 1,500.0 1,500.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 500.0 500.0 -

2400/04|0 | O SLSGUULUL <UrurtMPN@3NFLLEN 231,100.0 206,000.0 25,100.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 192,600.0 167,500.0 25,100.0
nphg’

245104 | 5 | 1 |Swlwwwphwhb npwbuwnpun 187,500.0 167,500.0 20,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 110,000.0 110,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 110,000.0 110,000.0 -
wwhwwntd
3. Gqnwpwnbinh YGpwanpngnid 17,000.0 17,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 17,000.0 17,000.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 9,500.0 9,500.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 9,500.0 9,500.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 31,000.0 31,000.0 -
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 31,000.0 31,000.0 -
wwhwwntd
11. BapwhwppwlGbph Yuenignid 10,000.0 - 10,000.0
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 10,000.0 - 10,000.0
13. ®nnnglbiph, hpwwwpwlbbph L uyghbbph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobn L uwppwynpniibtbp 5129 10,000.0 - 10,000.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 5,100.0 - 5,100.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 5,100.0 - 5,100.0
- Wy dbpbawobn L uwppwynpniibbp 5129 5,100.0 - 5,100.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,500.0 38,500.0 -
nwubphl swuwnluwbnn)
nphg’

129




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnnignLbGbp (wy nwubphG 38,500.0 38,500.0 -
swwinywlnn)
wyn pynLd’
9. <puwwnwwy (nidnid wwhwlgnn pGpuwghly 38,500.0 38,500.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 38,500.0 38,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 11,000.0 11,000.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wyy 11,000.0 11,000.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy| nwubph 11,000.0 11,000.0 -
swwuinywlnn)
wyn pynLd’
2. Ufunnwhwldwa L dhpwwnwqbpddwl 3,500.0 3,500.0 -
Swipuynipyni G6Gp /nbrunnhquighw
- UndntGwy SwrwynLpntbbEn 4213 3,500.0 3,500.0 -
3. <wuwnwuwlwl gniquinwbGbph 7,600.0 7,600.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 7,500.0 7,500.0 -

2600/06|0 | O pLULUNULUSHL ChuuNruQrnHe3NFL B4 781,129.2 101,500.0 679,629.2

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2640|06 | 4 | 0 | @nnnghtiph ntuwynpnid 3,400.0 3,400.0 -
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynnpnid 3,400.0 3,400.0 -
wyn pynLd’
1. CGhaptiph qinwpdGuunwlwl jmuwynpnid 3,400.0 3,400.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 3,400.0 3,400.0 -
wwhwwntd

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 777,729.2 98,100.0 679,629.2
SweuynipyntGGEn (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 777,729.2 98,100.0 679,629.2
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 5,100.0 5,100.0 -
wnwbhplbph YGpwblnpngnid
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- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 5,100.0 5,100.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbp 31,000.0 31,000.0 -
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 31,000.0 31,000.0 -
3. Pwluyhl tnwipwdpllinh L 689,629.2 30,000.0 659,629.2
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 570,679.2 - 570,679.2
- Wy dbpbawobp L uwppwynpniibbp 5129 88,950.0 - 88,950.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 32,000.0 32,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 32,000.0 32,000.0 -
wwhwwntd
5. dpwpuyhl wunquidplbph Gnpngnid 20,000.0 - 20,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 20,000.0 - 20,000.0

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 266,322.9 256,900.9 9,422.0
wyn pynLd’

2810/ 08 | 1 | 0 |<whquuwnh L uynpunh 6wrwynipintGabn 16,797.6 6,375.6 9,422.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbn 15,797.6 6,375.6 9,422.0
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 6,375.6 6,375.6 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 6,375.6 6,375.6 -
2. L<wlbquuinh gnunhGEph L qpnuwyghlbph 9,422.0 - 9,422.0
Ywenignid nt wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 9,422.0 - 9,422.0

2820108 | 2 | 0 |Vpwlynipuyhl swruwynipintGabp 250,525.3 250,525.3 -
nphg’

2821108 | 2 | 1 |Qpwnwpwdbn 57,181.3 57,181.3 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 57,181.3 57,181.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 57,181.3 57,181.3 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnaGenp 149,854.0 149,854.0 -

wyn pynLd’
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1. <wduylpuyhl dpwlynyph L wquiun dwdwlgh 149,854.0 149,854.0 -
Yuqdwlbpwni d
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 149,854.0 149,854.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 43,490.0 43,490.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwenidabph 43,490.0 43,490.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 35,990.0 35,990.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 7,500.0 7,500.0 -

2900(09|0 | O urPENH33NHL 2,033,768.7 2,033,768.7 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,581,328.1 1,581,328.1 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,581,328.1 1,581,328.1 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 1,581,328.1 1,581,328.1 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 1,581,328.1 1,581,328.1 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 452,440.6 452,440.6 -
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 452,440.6 452,440.6 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipintG 452,440.6 452,440.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 452,440.6 452,440.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 40,150.0 30,150.0 10,000.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 2,150.0 2,150.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wbdhbp 2,150.0 2,150.0 -
wyn pynLd’
1. <wpwqun snLGGgnn wGdwag 2,160.0 2,150.0 -
hninwpywynpm pjwl uqdwybnwnid
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 2,150.0 2,150.0 -
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3040(10 0 | LOanwbhph wanwdabp L quywlylbn 3,000.0 3,000.0 -
nphg’

3041{10 | 4 | 1 |COnwOhph wOnwdbbp L quywyobn 3,000.0 3,000.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 3,000.0 3,000.0 -
wupwnuwbnipint G
- Qnyph L uwppwdnpnidtbph yupdwywinipinta 4216 1,200.0 1,200.0 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 1,800.0 1,800.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnnty wpuinnbGnipiniGGEn (wyy 35,000.0 25,000.0 10,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 35,000.0 25,000.0 10,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 18,600.0 18,600.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwljwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 3,000.0 3,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,200.0 10,200.0 -
wwhwwntd
- Qpwubwyuwh Gniebp LW hwgniuwn 4261 1,500.0 1,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,900.0 3,900.0 -
5. Pwquwquiduy, Gphunnwuwnn b wy 16,400.0 6,400.0 10,000.0
[udpbphl wunlwGnn plunwlhplbphl
wouwlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 6,400.0 6,400.0 -
- Wy dbpbawobp L uwppwynpniibtbp 5129 10,000.0 - 10,000.0
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11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 2,530,115.4 2,291,070.7 239,044.7
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 478,794.3 461,039.6 17,754.7
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 468,694.3 459,939.6 8,754.7
wbwnwlwlo yuewdwpnid, phGwlbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 468,694.3 459,939.6 8,754.7
Ywrwdwpnid
wyn pynLd’
1. Ywpwdwpdwl dupdih wwhwwbnid 468,194.3 459,439.6 8,754.7
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 381,313.4 381,313.4 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 13,443.6 13,443.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 21,945.5 21,945.5 -
- UndntGwy SwrwynipntbbBn 4213 1,760.6 1,760.6 -
- Ywuwh SwrwjnipnLtGbn 4214 10,365.7 10,365.7 -
- Uywhnjwgnwywb dwfuutin 4215 460.0 460.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 250.0 250.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 400.0 400.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,000.0 4,000.0 -
- Uwubwghunwywb swrwjnipntbbn 4241 741.0 741.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 4,320.0 4,320.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 2,464.8 2,464.8 -
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- Spwluwnpuwihb Gjnipkn 4264 11,732.8 11,732.8 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,584.2 2,584.2 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 250.0 250.0 -
- Mwpunwnhp y&wnobn 4823 408.0 408.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 8,514.7 - 8,514.7
- Wy dbpbawobp L uwppwynpniibtbp 5129 240.0 - 240.0
2. Ywpswluwl opybiyuinlibnh Ywrnignid L 500.0 500.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 500.0 500.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 9,000.0 - 9,000.0
SwreuyntpynLGGEpH gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwnwGplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 9,000.0 - 9,000.0
qony hGuinwgnuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 9,000.0 - 9,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 9,000.0 - 9,000.0

2160|01| 6 | O | 2anhwanip pGnyph hwapuyhl 1,100.0 1,100.0 -
SwreuyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,100.0 1,100.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnidGbp, hwyigunhdnidlbp, nunwpwiGh 500.0 500.0 -
npnnidGGph L YAhrGEph nbd YGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 500.0 500.0 -
2. Qnyph Gyundwdp hpwyniGplbph 600.0 600.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 600.0 600.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwwuwlnipnt G (wyy nuwubphl swwuwnlwlnn) 1,500.0 1,500.0 -

nphg’
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2251| 02 1 [Mwunwwinipntb (wy| nwukphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’
1. 2hGwwwpunGbiph hwyJwedwl, gnpuwlnsh, 1,500.0 1,500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpuwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSGUULUL <UrurtMPN@3NFLLEN 281,070.0 266,000.0 15,070.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 242,570.0 227,500.0 15,070.0
nphg’

2451|104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 242,570.0 227,500.0 15,070.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 130,500.0 130,500.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 130,500.0 130,500.0 -
wwhwwntd
4. <GOwwunnbph JGpwlnpngnid 17,000.0 17,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 17,000.0 17,000.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 80,000.0 80,000.0 -
YGpwlhwenignid L hhdGuwGnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 80,000.0 80,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 15,070.0 - 15,070.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 15,070.0 - 15,070.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,500.0 38,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwpwptnnignLbGbp (wy) nwubphG 38,500.0 38,500.0 -
swwuinywlnn)
wyn pynLd’
9. <punwwy (i dnid wwhwlgnn pGpwghly 38,500.0 38,500.0 -
upfuuwnnulplbiph ppwlubwgn: J
- Uj) Swiuubn 4861 38,500.0 38,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 5,500.0 5,500.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 5,500.0 5,500.0 -
nwubphl swuwnluwbnn)
nphg’
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2561| 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 5,500.0 5,500.0 -
swwinywlnn)
wyn pynLd’
2. Ufunnwhwldwa L dhpwwnwqbpddwl 5,500.0 5,500.0 -
Swipuynipyni GG /nbrunnhquighw
- UndntGwy SwrwynipintbbBn 4213 5,500.0 5,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 276,220.0 95,000.0 181,220.0

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b YndniGuy 276,220.0 95,000.0 181,220.0
SweuynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 276,220.0 95,000.0 181,220.0
SwrwjntpntbO6n (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 29,000.0 29,000.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 29,000.0 29,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbp 12,000.0 12,000.0 -
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 12,000.0 12,000.0 -
3. Pwluyhl tnwipwdpllinh b 196,220.0 15,000.0 181,220.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpwihb) ng 4521 15,000.0 15,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 175,345.0 - 175,345.0
- Wy dbpbawobp L uwppwynpniibbp 5129 5,875.0 - 5,875.0
4. Pwquuwplwlupwl p6Gpkph punblwnqdwl 39,000.0 39,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 39,000.0 39,000.0 -
wwhwwntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 111,867.8 91,867.8 20,000.0
wyn pynLd’

2810/ 08 | 1 | 0 |<whquuwnh L uynpunh éwrwynipiniGabn 24,100.0 4,100.0 20,000.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGbp 24,100.0 4,100.0 20,000.0
wyn pynLd’
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1. UynpunuyhlG dhongurnidGbph 4,100.0 4,100.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 4,100.0 4,100.0 -
2. <wlquinh gnunhlGbph L gpnuuyghlGbph 20,000.0 - 20,000.0
Ywenignid nt wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 20,000.0 - 20,000.0

2820|108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGabp 87,767.8 87,767.8 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 38,764.5 38,764.5 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGaEn 38,764.5 38,764.5 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 38,764.5 38,764.5 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 [Uwyniph inbbn, wynidpdtn, YebwnpnbGenp 25,033.3 25,033.3 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 25,033.3 25,033.3 -
Yuqdwlbpwnid
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 25,033.3 25,033.3 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 23,970.0 23,970.0 -
wyn pynLd’
1. Vpwlynipuyhl dhongwenidabph 23,970.0 23,970.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 20,010.0 20,010.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,960.0 3,960.0 -

2900(09|0 | O uPENH33NHL 1,354,043.3 1,354,043.3 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 961,932.4 961,932.4 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 961,932.4 961,932.4 -
wyn pynLd’
1. Lwfuuwi ngwlwl niunignid 961,932.4 961,932.4 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 961,932.4 961,932.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 392,110.9 392,110.9 -
Uppnipyntl
nphg’
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2951| 09 1 [Upunwnwpngwywb nwuunhwpwynipgntl 392,110.9 392,110.9 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipini 392,110.9 392,110.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 392,110.9 392,110.9 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 21,120.0 16,120.0 5,000.0
wyjn pyntd’

303010 | 3 | 0 |<wpwqunhlb Ynpgnwdé whdhap 460.0 460.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Yynpgnwd whdhbp 460.0 460.0 -
wyn pynLd’
1. <wpuwquwn sniGbgnn widwlg 460.0 460.0 -
hninwnpyuwynpm pjwl Yuqdwybnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 460.0 460.0 -

304010 | 4 | 0 | LOawnwGhph wonwoabn L quywlyabn 1,650.0 1,650.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 1,650.0 1,650.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 1,650.0 1,650.0 -
wupwnuwbnipint G
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 450.0 450.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,200.0 1,200.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnGnipint GGG (wyy 19,010.0 14,010.0 5,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 19,010.0 14,010.0 5,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 12,260.0 12,260.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwljwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,400.0 1,400.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 4,740.0 4,740.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwhG ubbnh Ojnebn 4267 6,120.0 6,120.0 -
5. Puqiwquiduwly, Gppunnwuwpn b wyy 6,200.0 1,200.0 5,000.0

[udpbiphl wunnbuwGnn pGuwGhplbphl
wouwlgnipint G

139




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,200.0 1,200.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 5,000.0 - 5,000.0
10. Unghuwywlwl wowlgnipjuwl Yunphp 550.0 550.0 -
nLG&gnn plwnwbhplbph hwdwp
hninwnpyuwynpm pjwl Yuqdwybnwnid
4239 550.0 550.0 -

- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn
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